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TAX AUTHORITY

1. U.S. Constitution

A. Article I

Article I, § 2  [3]: Direct taxes shall be apportioned among the states.

Article I, § 9 [4]: No direct tax shall be laid unless in proportion to census.

Article I, § 8 [1]: All duties, imposts & excises  shall be uniform 

B. 16th Amdt(1913) – Congress shall have power to lay & collect taxes on incomes, from whatever source derived, w/o apportionment among the several States & w/i regard to any census or enumeration. 

Since 1916 there has been an unbroken string of taxpayer defeats re. income tax.

Hellerman, made a const. attack, argued that you couldn’t tax inflationary gains on property.  The Court said Congress can set the value of money and determine the plain meaning of income ( can tax inflationary gains.  For the sake of what is practical and simplest can’t break out inflationary gains.;

2. Internal Revenue Code (IRC)

§7805 confers gen statutory authority to treasury.

2 B. Treasury Regs = the law. Valid unless contrary to Cong. intent.

3. The Courts

TP decides which forum.

Dist. Ct. (jury) v. Tax Court (1 judge).

If need a jury go to U.S. Dist Ct. but have to pay full amt. of taxes due up front, then sue govt for refund.

U.S. Tax Ct.  – only choice if can’t pay taxes ahead of time.  TP files a petition for redetermination so a deficiency notice can’t be filed.  Since most TPs are too poor to pay fines in advance, this is the largest forum.  

4. Acquiescences & Non-acqu. 

The IRS may or may not acquiesce in a verdict that goes against them.  If they have, in a case you are using for support, that’s good for your side, b/c they have agreed to change their ways.  If they haven’t, then you can still get prosecuted by them if you follow the case. 

5. Revenue Rules & Procedures – published in IRB. This is only a govt. bureaucrat’s opinion.  Good if on point but there is no precedential value. Can use as a silver bullet against IRS to stop an audit.

6. Private Letter Rulings – Can write to IRS, describe fact pattern & ask for a ruling.  Costs about $500.  These hold up for the individual TP who requested it.  Regs bar citation of private letter rulings as authority but if you can find one with similar tax pattern, most attys will cite them anyway. 

7. Law Review Articles & Treatises

TAX THEORY

Relations between marginal tax bracket & income.

Progressive – as income inc., tax inc. (§ 1(a)(2))

Proportional/Flat – rate stays the same no matter what base.  e.g. sales tax

Regressive (None known) – as base inc., rate decreases. e.g. sales tax, if compare with ability to pay rather than % of cost, its regressive.

Higgins – reflection of tax base

Pine – ability to pay. 

Measures to judge fairness of tax system:

1. Equity – Is it fair?

horizontal – are 2 TPs with similar ability to pay treated the same?

vertical – does tax differentiate among TPs with unequal incomes? This discounts flat tax concept. 

2. Efficiency – Is tax low enough to not affect economic efficiencies in increasing personal productivity? e.g.  a high bracket income tax has neg. incentive effect. 

3. Simplicity of tax system

4. Stimulation of various activities – e.g. tax breaks for solar energy.

GROSS INCOME

A. Defining Gross Income

61(a) – all income from whatever source derived. There is no specific definition in the code or 16th Amdt. 

Eisner v. Maccomber (1920) – “the gain derived from labor, capital, or both.” Products of personal service or capital investments.  inadequate & incomplete definition.

Glenshaw Glass (1955) “undeniable accessions to wealth, clearly realized and over which the TP has complete dominion.”  Still not precise enough.

Haig Simons – broad, relied on by economists: personal income = market value of consumption + change in net worth.  Not suitable for tax liability, e.g. can’t tax the increase in value of a home.

Accountant’s definition – narrower.  Realized amounts.  Assets that have been converted into money or other property by transactions.  

Tax law goes beyond the accoutant’s def. & incorporates policy considerations re whether to tax an accession to wealth. 

ERTA of 1981 – Economic Recovery Tax Act of 1981 – passed to stimulate more robust economy. 

Formula p. 37: Start with Gross Income

§ 62 describes “above the line” deductions” which are preferred. 

=> Adjusted gross Income (AGI)  -- the “below the line deductions”—these are not as good. 

B.Forms of Gross Income -- § 61(a), 1001(a)—(c)

1. Compensation for Services & Sale of Property

§ 61 Gross Income Defined
(1) Compensation for services

(2) gross income from business

(3) property gains (4) interest

(5) rents (6) royalties (7) Dividends

(8) alimony & separate maintenance payments

(9) annuities (10) life insurance income

§ 103 Excluded interest on state & local bonds from income.

Basis – guards the return of capital which is not income.

2. Income without Receipt of Cash (“in-kind” benefit)

Two issues on in-kind benefits:

· does it constitute gross income e.g. if relationship between parties is more familial, less likely to be compensatory.

· valuation

Which in—kind transactions to include in gross income:

· the more familial the relationship the less likely the receipt is to be compensatory.

· what effect does inclusion of noncash receipts have on the ability of TP to pay taxes? 

Valuation issues – fair market value.  Value of a non-cash receipt = price that would be reached in a transaction between a willing buyer and a willing seller. 

Subjective valuation might be applied to “forced purchases”. Based on the notion that in-kind receipts don’t provide the same freedom of choice as cash. 

Turner Case – “Name that Song” contest.  Lower valuation b/c “luxury beyond his means.” Forced consumption of prize winnings.  Court allowed lower valuation < FMV. [Ascher does not agree with this outcome]

McCann – Business travel that was a reward for good performance = gross income. 

Gotcher – business trip for business, not for personal reasons was not gross income. More structured trip. 

Problems p. 49

2-3a. Car given as a bonus = gross income. Valuation 12K 1.61-21(b)(2) FMV of fringe benefits = the amount that an individual would have to pay for the particular fringe benefit in an arm’s length transaction.  An employee’s subjective perception of the value is not relevant nor is the cost incurred by the employer.  ( gross income  = 12K

1.61-2(d)(2)(i) property transferred to employee 

b. If she sells the car for 14K has a gain of 2K (A/R – A/B)

2-4 a. Gross income = 20K per year.

b. Gross income = 11K

c. If she make the house available for employer once a week for parties no change. 

2-5a. No cash received ( no gross income.

b. vacation at his own expense. Worked 5 v. plays 7 can lose ticket cost => gross income

c. If spouse goes along and is paid for that = gross income % of room, her meals, her airfare.

2-6a. Primary purpose of receipt of books. If for benefit of publisher, no GI

b. If only 1 book, de minimis.

c. If he sells books to students = gross income unless he declares GI upfront .

3. Barter Transactions = Income

1.61-1(a) income realized = services, meals, accommodations, stock or other property.

1.61-2(d)-1: if services are paid for other than with money, FMV must be included in income.

Problem p. 52

2-7 a. FMV of accommodations = gross income

b. editing is a service, if can’t put a value on it, use the FMV of the accom. 

c. peppercorn, no effect on result.

d. gross income to Gibson would be the FMV of the improvements not what it cost Presser to do them. 

e. Gross income to Gibson = FMV of improvements to house

Gross income to Presser = FMV accom -- $200(his only basis b/c labor can’t be a basis).

4. Discharge of Indebtedness 

61(a)(12) – gross income may include income from discharge of debt. 

1.61-12(a) – TP may realize income by payment or purchase of the TP’s obligation at less than its face amount. 

U.S. v. Kirby Lumber – the company repurchased its own bonds at less than par value . This was a taxable gain b/c it was an accession to wealth. 

Zarin v. Commissioner – gambler had income from discharge of debt. 

contested liability doctrine – if TP in good faith disputed the amount of a debt subsequent settlement of dispute would be treated as the amount of debt cognizable for tax purposes. 

Prob. 2-8 p. 59

a. Discount on repaid mortgage = gross income

b. Discount for prepaying also = gross income

c. Disguised discount still = gross income

d. Then he has gain from transferring asset + gross income from debt discount. 

5. Unanticipated Gains – gains do not have to be from labor or capital – do not have to be compensatory. 

Turner Case, 1954 – TP won cruise tickets.  They were not worth full retail cost to winners b/c the tickets “merely gave them an opportunity to enjoy luxury beyond their means.” 

Cesarini, 1970 – TPs found currency in old piano. Still constituted gross income which means “income from whatever source derived.” 

IRS ruling re treasure trove = taxable income for year it is reduced to unreduced possession (1.6-14).  

6. Prizes & Awards -- § 74, 85

Generally included in gross income.  Monetary awards for good works which benefit society were once excludable but no more.

Unemployment -- § 85 – all is now taxable. 

C. Limitations on Gross Income

1. Recovery of Capital – loan repayment is a return of capital, not income.  1001(a) – can offset costs incurred in acquiring property against the proceeds of sale. 

Note on Indexing to Reflect Inflation – bracket creep – tax increase caused by inflation. Code provides for automatic adjustment to min. & max. standard & personal deductions. 

U.S. v. Garber – TP claimed that proceeds from sold plasma was a return of capital. Dist. Ct. said = gross income. 5th Cir. said matter for jury. 

Problems p. 72

2. Receipts Subject to Claims – If TP borrows money & acknowledges obligation to repay, no accession to wealth.  If later TP denies obligation then = gross income. 

North American Oil – an accession to wealth held under a claim of right is sufficient for income inclusion.

claim of right doctrine—when a TP receives funds with 1) a contingent obligation to pay and 2) no limitation on use of funds those funds are included in income the year received. 

If you claim the money in the year it is contingently yours as income it preserves the integrity of the annual accounting system. 

Kreimer, 1983 – corporate Ponzi scheme where loans are going to be repaid but are obtained fraudulently. 

If there is an intention to repay the money then there is a loan.  If fraudulent conduct shows that there is no intent to repay then no loan exists. 

James Test – embezzled funds = gross income.  If obtained w/o consensual recognition of the obligation to repay = gross income. 

Problems p. 81

3. Realization  -- § 1001 

Gains are not taxed until realized, until TP captures the gain on sale or disposition of property. Gains do not include the annual appreciation in value until realized. 

Problems with taxing appreciation:

· valuation & liquidity

· paper gain can be lost at any time

· effect on equity markets – driving down stock prices

4. Imputed Income

Generated in two ways:

· when TPs derive an economic benefit from the ownership & use of their property e.g. rental value of one’s own home

· when TP derives an economic benefit from performing services for themselves.

Imputed income is not taxed b/c of valuation difficulties.  

Daehler – real estate agent buys property through his co. and gets a commission for it. He claims imputed income but IRS says = gross income.

D.Disposition of Property


Code §§ 1001 (a) – (c), 1012, 1016(a)(2)


Regs §§ 1.1001-2 (a) – (c), 1.1012 (1); 1.1016-2 (a), (b)

1. Gains on the Disposition of Property

Gain = amount realized – adjusted basis

§ 1001(b) amount realized = the total economic benefit received in exchange for the property transferred(including any cancelled or assumed debt). 

§ 1012 basis = TP’s cost of acquiring the property – includes cash, property or services transferred in exchange for the property + acquisition expenses (broker’s or attorney’s fees). 

· if the purchaser acquires 2 or more properties in one transaction, the total cost basis must be allocated between the two. 

· TP’s basis depends on the manner in which the property was acquired (purchase, gift, inheritance or exchange)

· Depreciation deductions decrease basis (§ 1016 (a)(2)). Allowed on business or investment property. The asset is fully depreciated when all of its cost has been allocated to successive tax years, then adjusted basis = 0.  

· Capital improvements increase basis (1016(a)(1)).

2. Taxable exchanges of property

minority view – FMV of the property the TP transferred in the exchange was the amount paid [Budd Internt’l Corp, 1944].

majority view – property acquired in a taxable exchange of properties receives a cost basis equal to its FMV.  Rationale is based on an analysis of tax cost, not economic cost. [Phil. Park Amusement v. U.S., 1954]

There are 2 ways to measure new property basis: 1) by Phil rule and 2) tax cost method. Have to get it right at the time of the transaction or you will introduce errors into the system.

According to Ascher: property is not always = to the FMV of what you gave up.  The newly acquired property basis = basis of the old + gain in property value.  Under the so-called majority rule, basis of the new property = FMV of new property.  [In Phil Amusement, didn’t do this b/c court cheated and looked at the other side for an easier valuation.]

Tax Cost – think of what you gave up in tax cost (basis + gain) and you will always get the more accurate answer. Ascher likes this better than the Phil rule FMV. 

E.g. Prob. 2-27 Wyatt (W) & Jones (J)

W’s basis = 10K

J’s basis = 20K

W’s FMV = 15K

J’s FMV = 16

W’s A/R = 16 + his basis of 10 ( his gain = 6K

J’s A/R = 15K – 20K (his basis) ( his gain = -5K

Wyatt’s tax cost = 10K + 6K or 16 according to FMV

Jones’ tax cost = 20K basis + -5 = 15K or FMV under Phil rule of 15K

3. Debt Incurred in the Acquisition of Property

Crane is the biggest name case in the course. Facts: TP survives husband. § 1014 provides a big tax loophole: the basis of a property acquired from decedent = FMV at time of death = “step-up” in basis.  This provides an incentive to hang on to a low-basis asset until death. 

usual rule: the amount of paid principle + outstanding indebtedness = basis 

Her argument: she is only selling  her equity in property. Her basis was 0 because she had taken depreciation deductions(28K). In the old days only taxed capital gains at 1/2 the rate.

IRS argument: Her basis = FMV – depreciation deductions. The Sup. Ct. agrees with the IRS saying that she is selling the entire property even though she only owes a part of it.  When she took out the loan, she was intending to pay it back. Under § 1012, basis = cost of property.  This is where the confusion is, that property = the entire bldg. not just your equity.

· Depreciation (§167(c)) – based on A/B of entire property.  If her A/B = 0, she would not be allowed to take depreciation deductions.  Depreciation is an ambiguous word. Have to compute it but if basis =0, deprectiation = 0.  “Property” in § 1001 v. 167 basis. 

· IRS 2nd argument – whether indebtedness is resource(personally liable) or non-recourse, is irrelevant.  Still realize a benefit in the amount of the mortgage.

· FN 37 – this says that recourse v. non-recourse might matter if the lender loans more than the FMV of the property at the time you sell it. 

· Can’t rely on equity valuation b/c it would shift as the mortgage was paid off. Would put TP in charge of how much depreciation, etc.

The Crane Rule: The entire amount of any debt incurred in the acquisition of property is included in the purchaser’s cost basis at the time the property is acquired, not at a later date when the debt is paid. ( the TP’s subsequent mortgage pmts will have no impact on basis. [The Crane rule, Sup. Ct. 1947]

· If the debt obligation is not satisfied at the time the purchaser disposes of the property, the unsatisfied amount = debt relief & is included in the A/R on the disposition. 

· Without the Crane rule, basis would fluctuate, increasing with each principle payment of debt. 

recourse debt – the lender can reach the borrower’s personal assets if there is a default. e.g. purchaser provides seller with the purchaser’s promissory note or the purchaser assumes an existing debt of the seller. 

nonrecourse debt – only the property itself can be reached for payment. e.g. acquiring a property subject to an existing debt to a 3rd party w/o becoming personally liable.

Courts have held that both a recourse and a  nonrecourse debt are included in the basis. 

4. Debt Incurred after Property Acquisition

If you mortgage a property after you buy it, 3 propositions:

1. Take out a mortgage after the property appreciates.  This is not a realization. Now have 2 mortgages & they have to be paid or you lose the property.  The new debt is not a cost of acquiring so it doesn’t increase the basis. 

2. Using a 2nd mortgage to increase basis – if use it for a home improvement.

3. Debt relief on both mortgages – if you walk away from both mortgages & get debt relief on both then you have increased amount realized.

** YOU ONLY GET BASIS FOR COSTS OF ACQUISITION & IMPROVMENTS.

A/R = WHAT YOU GOT FOR YOUR ASSET WHEN YOU DISPOSED OF IT.

Comm. v. Tufts, 1983 – Dallas partnership getting a lot of loans.

Non-recourse loan 
1, 851,500

Depreciation 439,972

Own money

           740

Agreed Basis1,455,740

TPs, following FN 37 say if property is worth less than amount of indebtedness, have a decreased A/R.

IRS says no FN 37.  Its invalid.  Entire amount of indebtedness that they walk away from is the amount realized = 1.8 billion

Sup. Ct. justifies deleting FN 37 b/c to allow it would lead to open transactions.  If there is no intent to repay a debt have to claim the income at that time.  If not going to pay it back, have to close it out and count it as GI.

Rev. Rul. 90-16  1001-2a2 – recourse v. non-recourse indebtedness. 

Issue: TP transfers to a creditor a residential subdivision. Discharged from debt that exceeds FMV of property. Is this a gain. Yes.

If the disposition of the property is <recourse  indebtedness, there is a gain.

P. 123 PROB. 2-29

Basis = 30K

(a) AR = 22K + 20K debt relief = 42K

42K – 30K = 12K AR

(b) She has a 30K basis, walking away from debt relief of 20K + 22K debt relief to buyer.  42(AR) – 30(basis) =12K, gain.

© sells car, walks away from 20K in debt + 22K truck = AR of 42K – 30K basis = 12 K gain.

Conclusion regarding recourse v. non-recourse. Its irrelevant. 

2-30 (a) Basis or cost = $1000 + 9K of non-recourse indebtedness = 10K basis

(b) deducted 1K of depreciation ( basis = 9K

© Dec. 15 of year 2 someone offers to buy computer + 2K check, returns check. No consequences. No accession to wealth.  Checks are generally gross income when you receive them but there is no realization event here. He did not sell or dispose of property b/c he didn’t agree to sell.  Check is only his if he sells the computer. Under the claim of right doctrine, he has a restricted right to the check contingent upon selling the computer.

(d) What’s the tax effect of the agreement executed between Wyatt & Bank.  Gets a 2nd mortgage on a computer (non-recourse). Does he have gross income. No, b/c the receipt of the money is subject to repayment.  No change in basis.  The money from the 2nd mortgage is not going into the property for improvement. There is no additional cost to him ( no effect on his basis.

(e) Repays 4K of the 9K loan.  No basis increase when you repay the mortgage. No tax effect on basis.

(f) abandns computer = realization event. He disposed of the property. §1.167(a)-10(a)(4) Depreciation. Abandonment can be a disposition. 

Walks away now from 5K of original debt + non-recourse 2nd = 9Kdebt relief – adjusted basis of 10K – (1K x3) = 7K; 9K – 7K = 2K of gain.

He only has gross income if he abandons debt and computer at the same time.

(g) Finds someone to buy the computer. Pays him 1K +5K (purchase money indebtedness) + 4K(2nd mortgage). 10-7 = 3K gain.

Prob 2-31. Basis = 900K + 100K = 1M

(a) foreclosure. Borrowed 900K, paid back 25K, owe 875K

Foreclosed and received 850K Still has a 25K deficiency judgment.

Loss of 150K

(b) AR = 850 – 1M basis = 150K loss.

© AR = 875K(AR) – 1M (basis) = 125K loss.

Note we do have recourse indebtedness.

FN 37 where amount of indebtedness > FMV of property. This is recourse financing.  Rev. ruling90-16 says indebt. can’t be > FMV.   Defaulter gets a 150K loss + 25K gain from discharge of indebtedness = -125 

90-16 is a purer approach than Tufts.  

CHAP. 3: ITEMS EXCLUDED FROM GROSS INCOME

Exclusions are not the same as a deduction

Family context usu. = gift.  Business context = income

Three categories of exclusions of GI:

1. donative transfers – gifts, life insurance proceeds, scholarships

2. employee fringe benefits – employer-provided meals, lodging, health & life insurance, other fringes. Rationale: involuntary nature of certain benefits, valuation difficulties.

3. misc. exclusions that reflect public policy concerns – personal injury compensation, discharge of an insolvent TP’s indebtedness, social security benefits, interest derived from state & municipal obligations.

Gifts & Bequests

code §§ 102, 1014(a)(1), 1015(a)

Regs §§ 1.102-1(a)-(c); Prop Reg. § 1.102-1(f)(2)

§ 102 (a) excludes from gross income the receipt of gifts, bequests, devises, & inheritances.

Court’s formulation of definition of a “gift.”[Duberstein, 1960]

1. made out of a “detached & disinterested generosity.”

2. made out of affection, respect, admiration, charity or like impulses.

3. not made primarily from the constraining force of any moral or legal duty

4. not made from the incentive of anticipated benefit of an economic nature

5. not made in return for services rendered.

Focus in on the donor’s intent or motive in transferring the property.

Limited role of appellate review of jury gift determinations.

Gift-giving in the commercial setting is the usual concern; disguising compensation as a gift.

Gifts, like treasure trove, are windfalls to TP but treasure is taxable.

Practical justification – can’t include every trivial gift in income

§ 102(b) – even if the gift itself is excludable, the gift exclusion does not apply to income subsequently earned from the gift or devised property. 

Arguments for revoking gift exclusion: 1) gifts are accessions to wealth 2) if GI encompassed gifts could avoid some difficult litigation.

Gifts v. Compensation

Olk v. U.S. (1976) – whether “tokes” paid to dealers are income.

Duberstein had used the language “detached & disinterested generosity” in describing a gift. B/c tokes were given as a “tribute to the gods of fortune” which was an “involved & intensely interested” act,  they were income.

Altman v. Comm. (1973) – 2nd Cir. holds that a mother who gave her son checks & securities > $122K lacked the requisite detached & disinterested generosity b/c her son was threatening the business. 

Wolder v. Comm (1974) – there was no gift where, pursuant to a lifetime contract to perform legal svcs, TP/atty received stock & cash in a will. 

Section 1015 – Basis for Property Received as a Gift

Code: §§ 1015 (a), (d)(1), (2), (4), (6)

Regs: §§ 1.1015 – 1(a), (c), (d); 1.1015-4

TP who receives a gift acquires a transferred or “carryover” basis in the gift property generally = to donor’s basis at time of transfer.

Increase in value while property held by donor is not realized until donee disposes of it. [Taft v. Bowers, 1929].

Carryover basis rules preserve any inherent gain in the property until a subsequent realization event.

If value < basis at time of transfer there are two bases: 1) for loss and 2) for gain. If there is a gain at time of disposition basis = donor’s original basis. If there is a loss, basis = FMV at time of transfer. 

If donee sells property for amt > FMV at time of gift (loss basis) but less than gain basis (donor’s basis), donee realizes neither gain nor loss.

gift tax adjustment to basis – limited to that portion of gift tax attributable to the net appreciation in value of the gift property. 

TAX – Sept. 19, 2000

§ 61 Gross income includes all income from whatever source derived unless otherwise specified. 

100 sections tend to be exclusions

late 100’s , early 200’s – deductions, late 200s disallowances

ITEMS EXCLUDED FROM GROSS INCOME

§ 102 gratuitous gifts bequests

transfer between family almost always a gift.

any business connection, almost always income

§ 102( c) – any transfer from an employer = income

Duberstein , 1960 – the green cadillac case. Dealer turned over a cadillac for free b/c his friend had referred him customers. Sup. Ct. decided it was gross income. 

Gift is:

made out of a “detached & disinterested” generosity

Respect, charity, admiration – if made out of gratitude, greed, etc = a gift

no moral or legal duty to give

not made in anticipation of economic benefit.

not made in return for services rendered.

Key = Donor’s Intent

 Tips to waiters are gross income, no question.

Olk v. U.S. (1976) – same applies to this case, Tips are income

 Problems

3.1. a.. probably gross income although there may be a valuation problem. 

b. gross income

What if employer gives her a book to thank her. Proposed reg: § 1.102-2(f)(2) – hard to know how to value these. For purposes of §102 ( c) – “natural objects of a person’s bounty” – might include “lovers.” Does not apply to transfers between related parties. 

3.2 What employer sends 2 racing bikes – very special gift suggesting more than an employer—employee relationship. In both of these cases the gifts are probably gross income. 

3.3 Employee has a seriously—injured daughter – sends check. Looks like income if it is given to mother but if given to daughter can side-step § 102( c). 

“by or for an employer” -- ( can’t have his wife make the transfer. 

3.4 Check for high grades – not income b/c family member.

3.5  a. no change

b. interest = gross income.  “subsequent accessions to wealth” attributable to gifted property. 

Section 1015 – Basis for Property Received as a Gift 

basis normally = cost but in a gift there is no cost. 

Gen. Rule – “carryover” -- donee takes the donor’s basis. Gifts are not considered realization events.  Realization happens at the time the gift is disposed of. 

If you have low-basis assets, in a high bracket, should give those rather than cash to relatives in lower brackets.  

§ 1015(d) if you have a rare donor who is paying gift tax on the transfer then the donee may get a slight increase in basis.

 § 1015 (d) (6) increase in basis = amount by which FMV > donor’s basis = “an amount (not in excess of the amount of tax so paid) which bears the same ratio to the amount of tax so paid as the net appreciation of the gift bears to the amount of the gift.”  Net appreciation = amount by which FMV of the gift exceeds the donor’s adjusted basis immediately before the gift. 

X/ Gift tax =  appreciation / FMV 

1015 (d)(6) formula:  
X = gift tax   x  appreciation/ FMV

If basis > FMV at time of gift have 2 bases:

gain basis --  if donee sells property at a gain, basis = original donor’s basis. 

loss basis—basis cannot > FMV at time of transfer. Donee not going to take a hit on basis. Won’t pass loss on to kids. ( allow deferral of gain but not transfer of embedded loss.

Basis 

1012 – cost

1015 – gifts. gen rule: donee’s basis = donor’s basis, with inc if donor paid gift tax if appreciation embedded in the gift (1015d6).  Increase in the basis will not be quite as high as the gift tax.  Can only get 100% if donor had no basis in the property.

If donor’s basis > FMV at time of gift and donee sells property, can’t take the loss. Donee’s basis = FMV

Problems 3-6

a. A/B = 10K

FMV = 15 K  

GT = 1K

Donee sells for 17K (A/R) ; basis = 10K  +  portion of GT attributable to appreciaton of property (1015 – d-6) basis 10.3 = 6.7 K gain

x/1K = 5/15K      x/gift tax (1K)  =   appreciation (5K)/ FMV (15K)= the increase in basis. Total basis = 10 + .3 = 10.3 ( 17-10.3 = 6.7

Daughter 2

A/B 14K
FMV 9k
GT 750

A/R 8K

her basis = 9K for loss purposes

8K – 9K = -1K loss  no increase in basis from GT

usually can’t get a loss on a gift but in this case the property went down in value after the gift, it was not the donor’s loss.

c. A/R = 12K  -- 14K =  -2K, can’t generate loss through a gift so basis = 9K

12K – 9K looks like a gain

So its in between, she has no gain & no loss

Basis is almost always the donor’s basis but where FMV is less than basis there is an exception. Can generate 2 bases, 1 for loss and 1 for gain. IN between have neither gain nor loss 1015 – 1A2 example illustrates this

Gifts p. 132

Altman case – transfer from mom to son is not a gift b/c transfer was made for business purposes. 

Wolder case – just b/c its left in will did not mean it was a gift. free lifetime legal services in exchange for bequest but it was the equivalent of gross income b/c it was compensation for legal services. 

Part Sale/Part Gift

Diedrich Case – Sup. Ct. 1982 – parents gave kids stock in exchange for gift tax which is donor’s liability.  Involves a net gift. 

Net gift – a gift net of the gift tax.  Donee has agreed to pay the gift tax.  An established estate planning maneuver. 

Consequences of net gift transfer -- Parent’s basis is decreased by the amount of discharge of indebtedness by having kids pay gift tax.  Should use high basis assets for net gifts not low basis assets.  

Estate planning advice -- Want to give away low basis assets to someone in a low tax bracket. 

If want to play the net gift gimmick use a high basis asset with a lower FMV. 

Diedrich

GT liability = 62, 992

A/B = 51,073

Gain = 11, 919 (less capital gain deduction 1202 now repealed) = 5959. 

Hypo gift of 1 M ; GT liability 500K, 400K basis = 100K gain on net gift. 

Book sees this as a part sale/part gift case b/c the stock was sold to kids for less than it was worth.  (Ascher sees it as a net gift case). 

Reg. § 1.1015-4 (a): Basis rules for part sale (cost)/part gift (carryover) – the transferee takes the greater of cost basis v. carryover basis, + the gift tax increase in basis if there is one.  This is a pro-TP rule b/c get to pick.  

Problem 3-7

a. A/B = 30K
FMV = 90
Cost 60K

A/R= 100K
basis = 60K
Gain = 40K;  Ignore GT in this problem

b. A/R = 25K 
  basis = 60K 
   Loss = -35K 

This loss was incurred after the transfer.

c. A/B = 60K

FMV = 90K

Cost = 30K
A/R = 100K

basis = 60K  Gain = 40K 

d. if kid sold it for 25K   basis still 60K (which can’t exceed FMV)  Loss = -35K

e. A/B = 90
FMV = 90K

cost = 30K
A/R = 100K

gain = 10K

f. kid sells for 25K   basis = 90  gives a loss, so have to change basis to FMV

25 – 60 = -35.

gift tax is calculated based on donor’s basis, not donee’s.

Bequests – generally excluded from gross income under

Under 1014 basis = FMV at time of decedent’s death.

Appreciated property gets a step-up in basis. 

Depreciated property gets a step-down basis. 

1014-b-6 – both halves of community property get the basis step-up. Surviving spouse’s half of the property gets a step-up also. This is a gravy train for community property states b/c then can sell it after spouse dies for a huge profit. 

1014(e) – step-up basis rule should not apply with respect to appreciated property acquired by the decedent through gift within one year of death.

Sept. 21, 2000

§ 102 Inheritance – gen rule: usually not income.

§ 102(b)(2) – flush language, last sentence: can’t exclude income from property as gross income.

subchapter J – that’s a whole course.  A gift or bequest is income whenever subchapter J says it is.  This is a huge override. Can fix this by saying in the will,” I leave my car to my wife, I leave everything I have to my wife.”

102 is part of a much larger puzzle. 

Basis Gen Rule – if you get something from a decedent basis = FMV at death (step-up rule).

Problem 3-8

a. If no gain or no loss on sale, even if she gained from the bequest, no gross income to her.  This illustrates the loop hole. 

What if she sold it for 15K? She gets a loss, her basis was  40K based on FMV, why did she sell it for 15K? What if she sold it to her kid?  

§ 1.1001.1 – in part sell/part gift, the parent cannot generate a loss. 

Perhaps there was over-valuation to 40 in attempt to increase basis.  The true value may have been 15K.  Can’t create a false basis, if sell it that soon, the true FMV will be what you sold it for. 

b. death-bed planning:

if he gives it away, heir will carryover basis 25K for gain, for loss basis = 10K  if you give the asset away, the loss disappears.

Let it be inherited, basis = step-down to 10

Sell it and harvest the loss.  Only way to save the loss. 

c. no step-up b/c of 1014(e)  (1 yr.)  So basis in dad’s hands immediately before death.  10K GT   45K/50K  x  10,000GT = 9K

dad’s basis was 14K which is now dad’s basis. Have to pay GT + not a good deal.  If not in the small part of the population that has to pay gift tax, only have transaction costs. 

desirable to have a lead time of 12 months b/f death.

gift tax:

annual exclusion of 10K to as many people as you want.

spouse can also give so 20K/ couple per year.

may give an unlimited amount every year if for medical or educational expenses.

675K lifetime total gifts.  Above this have to be really rich people.

d. What if dad was leaving to grandson.  Can sidestep 1014(e) by letting the grandson have it. 

Life Insurance Proceeds

§ 101(a) – what beneficiary receives is not gross income. Analogous to bequests.

Three types of policies:

term – only provide coverage for a stated period.

Endowment – the insured or a beneficiary receives a benefit if they live for a certain number of years.

Whole life – acquire a cash value. 

§ 101 exclusion applies to all 3 types. 

Viatical settlements – a settlement of life insurance proceeds for a chronically ill person before they die so provide them cash.  “Terminally ill” is a person certified by a physician with condition expected to die w/i 24 months. 

Problem 3-9

Insurance proceeds: not gross income.

 Tax favored investment. 

b. $300 is taxable if it is interest.   If you make post-death gains (101 c & d) such as interest, that will be gross income also. 

c. what if purchased the policy from uncle for 14,100.  101(a)(2)  $5900 gross income (term insurance benefits). 

Scholarships & Fellowships -- § 117

In general, gross income does not include scholarships by an individual who is a candidate for a degree. 

Excludable amounts depend on two factors –

Whether any portion represents payment for services.

Category of benefits: includes tuition & fees, books, supplies & equipment required for course instruction.  Incidental expenses (room & board, etc) are not included. Focuses on educational rather than personal benefits.

Does not apply to that portion of any amount received which represents payment for teaching, research, or other services. 

qualified tuition reduction – the amount of any reduction in tuition provided to an employee for education below the graduate level. This reduction must not discriminate in favor of highly compensated employees.

An employer-employee relationship is immediately suggestive of compensation rather than scholarship [Bingler v. Johnson]. 

Reg 1.117-6 – definitions of scholarships,etc. 

Bingler v. Johnson – program where employees can get PhDs. Dissertation has to be approved by company. Have to come back to work there.  

Holding: not excludable b/c its really compensation dressed up as a scholarship. 

Problems:

3-10: mom paying tuition is not scholarship, it’s a gift & can be excludable under 102. 

3-11a. scholarship is excludable.  IRS has regs regarding scholarships but they are allowed. Can’t be discriminatory in favor of a corporate bigwig § 117 d (3).

b. tuition remission benefits (§ 117d – qualified tuition reduction). Go to § 132 (h) – dependant kids and spouses are treated as employees(certain individuals treated as employees) 

c. if for medical school: (d) (2) – only for undergrad education.

3-12.  athletic scholarships are excludable.  What about getting room & board with academic scholarship. The room & board counts as gross income.  § 117© required to sit at desk for 10 hours.  IF represents payment for services its not excluded. (117 c).  What about the fact that it is a H.S. and not a college?  § 117 traditionally “a candidate for a degree.” ( usually a college.

3-13.  § 117© -- if he is required to teach to receive the money

The money is not being handed out for teaching, its being handed out as a scholarship.  Probably this is a scholarship excludable from gross income not withstanding the teaching.

EMPLOYEE BENEFITS

Meals & Lodging

Code: §§ 107; 119(a), (b), (d)

Regs: §§ 1.119-1(a), (b), (c), (f)

Meals: 

1) for the convenience of the employer 

2) provided on the premises

Lodging:

 1) employee required to accept the lodging 

 2) lodging is on the business premises

3)lodging  furnished for the convenience of the employer.

Why does Congress ever exclude these things? 

forced consumption

involuntary servitude

Kowalski, Sup. Ct. (1977) – provided meals so they will be available for emergencies.  Big chunk of salary is meal money in cash.   The senior staff gets a bigger meal allowance.  Court holds that cash meal allowance = gross income.  Glenshaw Glass –  § 61, payments are accessions to wealth, clearly realized. 

What about meals out when working late at a law firm?  Two discussions in Kowalski :  FN 15 -- supper money paid by an employer to an employee who performs extra labor after business hours is not additional compensation. 

Court decides (FN 28) to not decide about supper money

Distinguishing supper money from cash allowance – cash allowance was given whether used for meals or not in Kowalski ( not supper money. 

Adams v. U.S. (1978)  -- pro-taxpayer case

Issue: whether fair rental value of Japanese residence was gross income. 

Business intruding on personal life/ used for business purposes.

He didn’t choose the residence.

§ 119 requirements: 

employee must be required to accept as a condition of employment.

must be furnished for the convenience of the employer.

lodging must be on the business premises of the employer – not exactly in this case but the lodging was furnished in the employer’s home.

Problems

3-14. a. not gross income b/c couldn’t pick the food or who you were eating with.  But lunches are not on business property.  Can rely on Turner  for the notion that you did not pick the food and ( shouldn’t have to pay for it.  Ascher says its clear that there is some gross income from the lunches.  Does what the employer is paying = fair market value.  Menu price would be too high, there may be a discount factor.  Most people do not report this kind of income. 

3-15. Has to eat there.  Can he exclude his meals. Yes, its for the convenience of the employer.  1.119-1a2iid – before,  during, and immediately after work. What does “immediately thereafter” mean? 

Sec. 101(a)(2) – exclusion of life insurance proceeds. Gen. rule is you get to exclude the entire amount of proceeds.  But if you buy the policy from somebody else and then collect the proceeds, you only get to exclude your costs. 

3-16.  Police have to eat at “approved restaurants.”  § 119 – two part test for excludability: 1) for the convenience of the employer 2) business premise. 

Passes part one easily.  Part two – if its an assigned are of duty, could be interpreted as a business premise.  No cash in this scenario as in Kowalski.  No discrimination based on rank as in Kowalski. 

1.119-1© -- if you’re  on leased land, i.e. range land (“rawhide”) you’re on business premises.

Kowalski didn’t reach business premise, decided on convenience of employer. 

3-17. Dorm counselor gets: free room (excludable under 119 b/c for convenience, required to accept, business premise), free food (excludable), spending money (not excludable).  What if house across the street?  Still prob. excludable.  What if the house is 5 blocks from campus.  Prob. too far away, not business premise. 

§ 119(d) – if she is an employee and it is qualified campus lodging . (d)(2) she can not exclude more than the lesser of two things – 5% of the value of the house, ave. rent on similar slums. 

3-18.  Accepted fancy house with maids, etc.  Doesn’t appear to be benefiting employer.  Appears to be a bribe to keep this employee.  Not a cluster of employer motivations as in Adams.  Doesn’t meet the condition of employment requirement (§ 119). Not on business premises, went out and bought house just for her v. Adams where property had been in co. for years. 

Employee Insurance

§ 79 (a) – can exclude the annual cost of premiums that employer has to pay to provide up to 50K of group term life insurance.  So does not conflict with 101 which is exclusion of death benefits. 

§ 106 allows a covered employee to exclude the cost of health/accident insurance provided by employer.

Policy – encourages employers to purchase insurance for employees.

3-19. a. no gross income.(§ 79a1)

b. 75K, over the line, exclude up to 50K. She includes $100. 

1.79-(3)(d)(2) – its not the employer’s cost we go by, we go by a smaller amount, tables, go by amount and age. .10 X 25 X 12(mos. in a year) = $30 gross income.

c. what if she gets whole life (betting that you’re going to die w/I a certain period and you pay a bigger premium but it is saved)?  Not covered under § 79 so entire cost to employer is included in gross income.

d. insurance for other than employees not covered in 79, that’s gross income.  

1.61(2)(d)(2) ii (b) – non-employee family member can use same tables as in 1.79.  In this case, w/o his age can’t use table (estimate his age). .1 X 7.5 X 12

3-20. Health insurance exlcudable (106). Dependants – 1.106-1 non-statutory exclusion for spouses & dependants. 

Other Employee Fringe Benefits

Code § 132

Regs: § 1.132, 1.61-21

Before 1984 almost all of these items escaped taxation.  Hard to keep track of, value, forced consumption, sloppy/ignorant analysis of the IR code. 

Seven Exclusions under § 132: review pp. 922-937 

Definition of employee for no additional cost and qualified discounts(§ 1.132-1): any former employee who retired or was disabled, any widow or widower of an employee who died while employed, any partner who performs services for the partnership, any spouse or dependent child. 

1. no additional cost service fringe – employer provides service to employee at no extra cost,

ordinary course of the line of business of employer 

no foregone revenue

if same line of work as employee is employed in. e.g. flight attendant who takes space A flight.

§ 1.132-2 No additional-cost services  

(a) must be a line of business in which the employee performs “substantial services.” 

excess capacity services are eligible for treatment as no additional cost (includes hotel, transportation, telephone).  Employees who receive non-excess capacity services are still eligible for qualified employee discount up to 20%. 

non-discrimination rules (based on employee income) apply.

labor-intensive services – employer must include the cost of labor incurred in providing services to employees when determining whether there are substantial additional costs. 

(b) reciprocal agreements – 

the service provided is the same type of service by line of business in which employee wroks and the line of business in which the service is provided to such employee

both employers are parties to a written reciprocal agreement which allows all qualified employees to participate.

neither employer incurs any substantive additional cost. 

2. qualified employee discounts – applies to any property or services of line of business in which employee is performing services.

cannot exceed the gross profit percentage (has to be less than the profit margin on that item).

services – 20% of retail price

“qualified property” = does not include real property or personal property held for investment

§ 1.132-3 qualified employee discounts

discount cannot exceed gross profit percentage.  20% cap for services.

does not include property that is offered for sale primarily to employees.

THERE IS NO RECIPROCAL AGREEMENT EXCEPTION

Discount may be provided either directly by the employer or indirectly through a 3rd party i.e. employee of manufacturer may purchase product from retailer but not additional rights (i.e. warranty provided by retailer).

Non-discrimination rules apply.

Price to customers is determined at time of sale. 

quantity discount not reflected unless the employee purchases the requisite quantity. 

discounts to discrete customer or consumer groups --  to use this as the price to customers, these sales must comprise at lease 35%.

damaged, distressed or returned goods – if employee pays FMV, not income.

gross profit percentage – must be calculated separately for each line of business.  In first year of business can estimate based on mark-up from cost or by reference to an industry standard. 

§ 1.32-4 Line of Business Limitation

an employee who performs substantial services that directly benefit more than one line of business is treated as performing substantial services in those. 

working condition fringes – would have been deductable by the employee under 162 0r 16 7 if the employee had paid for them. 

§ 1.132-5 

(b) vehicle allocation rules – only business usage is excludable, not personal use.

de minimis fringes – the value & frequency of which is too small to be administratively  impractical to keep track of. Can stretch this definition. E.g. eating facility fringe benefits (occasional is the operative word) on a nondiscriminatory basis. 132 (e)(2) – ex. of de minimus fringe, facility on the premise.  If law firm has own cafeteria & can eat there at a discount, if firm charges you enough to cover its cost, not taxable. ( if would seem that it law firm was taking out associates every day to a nice place it would seem that those meals should be reportable income.

§ 1.132-6

(b) employee-measured frequency – frequency determined by frequency to each individual employee, e.g. can’t provide to one employee every day and not at all to another, must be infrequently to all.

employer-measured frequency – where it would be administratively difficult to determine the frequency of individual employees, can use frequency to workforce as a whole. i.e. personal use of a copying machine. 

(d) special rules

Occasional meal money or local transportation fare must satisfy 3 conditions:

occasional – if provided to an employee on a regular basis, not occasional.

overtime – b/c overtime work necessitates overtime.

meal money – provided to enable employee to work overtime.

if a benefit is not de minimis b/c of value or frequency, no part of it is excludable. 

examples – occasional typing of personal letters, copying machine, group meals, parties, special events, coffee, snacks, phone calls, etc. 

not excludable – season tickets, country club membership, gym, 

NONDISCRIMINATION RULES DO NOT APPLY TO DE MINIMIS FRINGE

§ 1.132-7 Employer-operated eating facilities

Value of meals is excludable only if on an annual basis, the revenue from the facility equals or exceeds the direct operating costs of the facility. 

non-discrimination rules apply

§ 1.132-8 Fringe benefit nondiscrimination rules:

no-additional cost, employee discount, meals at employer-operated facility are all subject to non-discrimination rules.  If the fringes to the highly-compensated employees are discriminatory, that employee loses the entire fringe exclusion.

“first come, first served” basis is allowed. 

benefits can be allocated on the basis of seniority.

qualified transportation fringe – vans, transit passes , total $65/mo. or qualified parking up to $75/mo.

qualified moving expense – paid by employer but would have been deductable by employee.

on-premises athletic facility – only if the co. has its own gym and doesn’t admit the public.

Problems – very important problem  section:

3-21. attorney working for airline

a. free tickets for herself & husband – no cost to the employer-- § 132(b). What about her line of business, she’s an attorney and this is an airline. § 1.132-4 (a) (iv)(A) – performance of services that benefit more than one line of business.  If performs services that benefit more than

Husband -- § 132(h) – spouses & dependent children are treated as employees.

b. reserved seats instead of stand-by --§ 1.132-2(a)(5)= revenue that is foregone.   IF presume that the reserve seating causes foregone revenue for airline income not excludable.  ( gross income after a 20% discount of FMV = employee discount.   Husband’s use included as employee’s use. 

c. What if tickets, were standby on Air France.  She doesn’t work for Air France ( 132(I) if  reciprocal agreements, no gross income. 

d. what if daughter & brother used the tickets. § 132 (h) spouses & dependant children.  If the kids are dependent, theirs is excludable. Brother, no.  What is the cost of a standby ticket?  1.61-21(h) – not in our book, says its 25% of the highest reserve coach fare.  This is income to the employee, not the person taking the flight.

e. orders out of flight catalog at 30% discount whereas employees get 20% discount.  132(j)(1) – discrimination  towards low-apid employees.  Lose the entire discount.  Regs 1.132-8(a)(2)(I) – punitive, no discount in discriminatory plans. 

f. all employees get same 30% discount, profit margin = 25%. In this case lose the 5% impermissible discount. 132 ©. 1.132 e3.

g.10 nights lodging at the Hilton in Paris at a 50% discount of $70/night.  132© (2) – there is a 20% discount on services being offered.  If she gets the discount through non-employee means, she has no gross income.  Reciprocal agreement , 132 (I), won’t work under no additional cost.  This doesn’t really sound like standby b/c hotel will lose revenue. 

1.132-2b (p. 923) – not the same line of work hotel v. airline. 

1.132-2(a)(2)  excess capacity services – in this problem it’s the 10 days in a row that’s disturbing.  There might be some places that would have excess capacity for 10 days but probably not the Hilton in Paris. 

h. 10  nights at a hotel operated by United at a 50% discount.  Her line of business is attorney.  Depends on whether she has responsibility for the hotel.  If she  does, 50% is too high.  If FMV = $140 x 20% =    but she only gets a $42 discount in reality so she has gross income.

i. What is she were a stewardess?  She doesn’t work for the hotel so no exclusion. What if its one night, working condition fringe, if she had paid for it she could deduct it.  What if self-employed travel agent?  If United has made an arrangement with her, for 10 days at the hotel.  Not United’s employee.  Is she providing services to United as an independent contractor? 1.132-1(b)(2)(iv). 

What if she’s not an independent contractor, 132 doesn’t apply.   Gotcher v. McCann. 

(b)(2) for purposes of the working condition fringe, the term employee means. . . any independent contractor who performs services for the employer.  This problem does not concern working condition fringe. 

j. unlimited long distance, personal calls of $500 – can’t deduct this as a working condition fringe.  United not in the business of providing phone service.  Could it be de minimis? frequency and amount so small. But have just accounted for them.  

1.132-6 describes de minimis – (e) – local calls are excludable; long distance probably aren’t. 

1.132-6(b)(2) – employee-measured frequency – hard to make this case.

k. Cash for supper meals. 1.132-6(d)(2) – occasional meal – is 25 times a year occasional (twice a month). Depends on how you use the word occasional.  What about the amount.  Is the amount reasonable ($30/meal).  Since she’s in NY prob. not lavish. 

l. 100 hours spent by secretary spent working on personal activities.  

p. 175 leg. hx. of de minimis – looks like she is crossing the line, how would we value this? Would be difficult to value these services.  ( no gross income.

m. 1000 copies of campaign brochure: 1.132-6 – 2 – copies usually not counted.  

1.132 – b- 1

n. parking space provided but she rents it out. 

no gross income on receipt of parking sticker – transportation fringe, 132 –f –5 –c, but when she rents it => gross income.

o. United Health Club open to the public § 132(j) v. 1.132-1(e)(1)iii – “substantially all of the use is by employees.”  There is some discrepancy between the statute and the reg. Under the reg.,  its gross income. 

3-22. a. prob. no gross income. qualified employee discount that does not exceed the employer’s profit margin

Two tests:

Service – limited to 20%

Goods – any amount as long as less than profit margin.

Qualified goods or services means any property “other than property for investment.” 

b. what if he sells it for 29K, gain = 5K

Since § 132 is an exclusion provision,  Should he get an increase in basis, otherwise exclusion provision is converted into deferral provision. 

Compensation for Personal Injuries & Sickness

Code §§ 104, 105, 106

Regs:  1.104-1, 1.105-2, 1.61-14

In general 104 excludes from gross income amounts received on account of personal injury, illness whether from worker’s comp, insurance or civil suit. 

NOT APPLICABLE TO ITEMIZED DEDUCTIONS FOR MEDICAL EXPENSES.

104 & 105(a) – deny an exclusion for amounts received if paid by taxpayer’s employer however 105(b) excludes many of these payments.

105(b) -- If proceeds are paid to reimburse employee, spouse or dependent, they are excludable. unless the benefits discriminate in favor of highly-compensated employees.

§ 105(c) – not gross income if they are for permanent loss. 

ex. p. 182.  employer provides insurance, employee loses leg.  All proceeds  that employer paid for are excludable 105(c) – leg money. 105(b) – gives you the medical money. 

§ 104(a)(2) – gross income does not include damages other than damages on the account of personal injury or sickness, except for punitives and except for medical expenses that you’ve deducted under § 213.  If you exclude damages for personal physical injuries or sickness its like a return of capital.  does not include damages to business or emotional injuries.

§ 104(a)(3) – health insurance and accident insurance proceeds – gross income does not include these for accident or sickness unless such proceeds were paid by your employer, and you can’t have paid for it with nontaxable funds.

medical coverage from 2 plans, employer & personal.  May receive reimbursements in excess of actual expenses: (p. 183)

Total medical expenses = x

Total reimbursement = y

if the employer’s policy pays a & personal policy pays b

% paid by employer = a/y, exclude that percentage of x & report remainder as income from employer’s policy

% paid by other policy = b/y, entire amount from private policy is excludable b/c this is not income from an employer.

If the TP pays a portion of the premium, e.g. 75% then only 75% of excess will be reported as income.

law suit damages – can exclude all damages received on account of a personal physical injury or illness. THIS DOES NOT INCLUDE EMOTIONAL DISTRESS!

punitives for physical injury/illness – courts differ on whether this is excluded.

Damages intended to compensate, e.g. whistle blower cases past earnings – some courts have allowed exclusion.

3-23 gross income = 8K b/c already deducted

future medical can exclude but not deduct later

P & S, loss of earnings, fees – all excludable. Can’t have double deductions. (2-5 are deductable) 1.04-2(c)

3-24 – all gross income b/c no physical injury. 104(a)(5) flush language – no recovery for emotional distress. Could exclude some of these damages as medical care for emotional distress (non-deducted medical expenses).

a. gross income = .75 x 5K = $3750   exclude .25 x 5K

look at p. 186 legislative hx. – exclusion from gross income applies to any damages received based on a claim of emotional distress attributable to a physical injury.

p. 185 – “Damages for emotional distress & other nonphysical injuries are excludable if attributable to a physical injury.” ( if want to be aggressive, try to exclude them.

b. punitives are gross income.  May be able to exclude part that is attorney’s fees.

3-25 no.

Tax-Exempt Interest – Cong. allows exclusion for interest on state & local bonds. Private entities pay higher interest rates on bonds than public entities b/c int. is taxed. Which you choose depends on tax bracket.

Social Security Benefits § 86

At one time they weren’t taxed b/c perception that elderly got these & they were poor. But not all are poor.  Hot political football. 

§ 86(a)(1) gross income includes SS benefits in an amount equal to the lesser of

one-half of the SS benefits received, or

one-half of the excess described in (b)(1)

(b)(1) applies to TPs if the sum of 

the modified adjusted gross income of the TP for the taxable year plus

one-half of the SS benefits received

exceeds the base amount

modified adjusted gross income = adjusted gross income increased by the amount of interest received by the TP which is exempt from tax.

base amount = 25K for singles & 32K for joint returns or 0 married but does not file joint return & does not live apart. 

adjusted base amount = 34K for singles or 44K for joint, or 0 as above.

3-28: salary = 28K, interest = $600, SS = $500, muni int. = 15K

Gross income = 28,600  $1500 excluded by §103 from gross income

What is the lesser of 1/2 of $500 = 250 v. 1/2 (b)(1) excess

(b)(1) = modified adjusted gross income(MAGI, creation of § 86) = 28,600 + 1500 = 30,100

86(b)(2) MAGI + 1/2 SS benefits = 30,100 + 250 = 30,350, this exceeds the base amount (25K) by 5350.  Now go back to (a)(1) which is smaller A :1/2 of SS benefits (= 250) or B: 1/2 of (b)(1) excess = 5350/2 = 2675

(a)(1) tells us that 250 is included in gross income ( minimal amount pay taxes on is 1/2 of SS benefits.

Additional amount § 86(a)(2): If amount under (b)(1)(A) exceeds the adjusted base amount, the amount included in gross income shall be equal to the lesser of

(A) the sum of 85% of such excess plus the lesser of the amount determine under (1) or an amount equal to one half of the difference between the adjusted base amount and the base amount of the TP or

(B) 85% of the SS benefits.

adjusted base amount = 34K  (b)(1)(A) amount = 30,350  Does 30,350 exceed 34K? No. So just include 1/2 of SS payments.

What if you have an (a)(2) amount?  Then get taxed on 85% of SS payments Don’t get taxed on all of it no matter how much you make b/c political favortism. 

 P. 203  Tax Policy (Stanley Surry) – criticizes exclusion preferences. Wants to take all exclusions out of the code to form a comprehensive tax base (CTB).  The larger the base, the lower the tax rates.

Tax Reform Act of 1986 – peak of CTB movement.  Lowered overall rates from 50% to 28%.

Biltker, a huge tax scholar, says that many sources of income are excluded e.g. imputed income & can never really eliminate all exclusions.  Critical of CTB.  Hard to know which is the better system.

Chapter 4: Choosing the Proper Taxpayer

Income Splitting

assignment of income doctrine – designed to ensure that the taxpayers do not circumvent the congressional policy underlying progressive taxation.

Lucas v. Earl,  1930 (J. Holmes) 

Facts – K between husband & wife to give 1/2 of his earnings to wife (b/f joint return). 

Holmes assumes it is a valid contract under contract law but for tax purposes K not valid. Tax system would not work if allowed taxes to be escaped by these contracts and maneuvers.  “Income tax cannot be escaped by anticipatory arrangements & contracts. . .”

Teschner v. Comm. (1962)

Adults can play but only kids can win.  Have to designate a child-recipient to receive the award.  Dad could never have gotten the award. 

Helvering v. Horst – the power to dispose of income = equivalent of ownership of income. 

The court in Teschner  said he never had possession, so he could not dispose of it ( not income to the father.   Have to have had the ability to dispose of something b/f disposal of it matters. 

In addition, his eligibility to receive the policy was not his decision. 

The annuity was still taxable to the daughter as a prize or award.  Argument against this is that it is a gift to her, should not be taxable. 

Fritschle v. Comm (1982)

Mother has children making ribbons at home.  Mom has contracted with the company, the kids haven’t. She claims the income earned by the kids.  Says there should be 0 tax to them.  

Court says income is taxable.  Even though work done by kids, mom was solely responsible for the performance of all services.  Checks payable to her.  No direct payments to children. 

Whoever contracts with the payor, has the income. e.g. lawfim associate working for firm, income to firm.  

Johnson v. Comm. (1982)

One-person service corporation – arrangement with PMSA, later Interlit.  He promises to play for them and get salary from them. 

Problem:  he signs with NBA, not the shell corporations.  The NBA teams pay PMSA because he has assigned his contract rights to them. 

Who is doing the work?  

Court says two part test:

1. Must be a contract between the consumer of the services and the person being paid (in this case, the shell corporation). 

2. Service performer (employee) must be a real employee.  Employer has a right to direct or control the employee. 

How to interpret this with a one-person show.   Have to do the book-keeping properly to run the show to get it past the IRS.  Employer has to contract with your corporation. Then you have to look like you’re working for the corp.  Other reason for corp. is to limit liability. 

Problems p. 230

4-1

a. may be valid contract like Lucas but still gross income to dad. 

b. no change.  Just an artful device to be ignored.

c. what if it is required that part of income go to kid? If he has no control over income, not his decision, like Teschner ( not gross income to dad.  IN this case dad has not choice in who gets the benefit.  

Policy argument against this case – don’t want to encourage these types of arrangements.  Employer hasn’t consulted with this TP but has consulted with other employee groups.  This wouldn’t fly, however.  b/c circumvents progressive rate structure.   IN this case dad really earns money.  In Teschner, Dad wins money, doesn’t earn it. 

Ultimately, pro-govt. result over TP.

d. No contract with child to do these services, like Fritschle. 

e. Kid contracts with company to provide services.  Then is more game-playing, won’t fly. 

4-2 Diff. from Teschner b/c father had to designate b/f the fact.  Tracey has a higher power to dispose than the father in Teschner.  He can even designate it, or lose it.  She can designate after the fact and choose 5 more people so she has more control.

a. Who is taxed on 5 trips? Tracey, b/c she has the right to control income. What about the parents?   They didn’t run the race, she did.  

b. Can walk away from prizes that you don’t want if you make up your mind quickly.   She has the power to dispose of all the trips, shouldn’t all be taxable? People can disclaim gifts that they don’t want. 

c. What if she gets paid for designating? 1.61 –d-2 authorizes basis. She has basis in these tickets = FMV.  If her basis > what she sold them for, no gross income.  If her basis < what she sold them for = gain.

4-3 a. one client wants to deal with Mast directly, not shell corp. ( income to Mast [see Johnson case]. 

 b. Shell corp. gets gross income.

ASSIGNMENT OF INCOME 

Hard to assign income from services b/c you’re the tree, income is the fruit.  Hard to separate the two.  

Easier to do it with property – immense income-splitting opportunities

§ 102 – gift of property is not gross income to recipient

§ 1015 – take the donor’s basis in property. 

This pair of provisions permits income splitting by giving away property.  High abuse potential. Incentive for wealthy to shift their income to lower income folks.

Helvering v. Horst (1940) – Dad gives away interest coupons on coupon bond to son.  Who’s gross income? 

Sup. Ct. says its Dad’s gross income b/c the fruit is taxed to the tree.  The tree is the bond.  As long as Dad keeps the tree, he’ll get taxed on the income from it. 

“The power to dispose of income is the equivalent of ownership.” 

If Dad had given away the tree with the immature fruit, no problems. 

Hypo:  sell manuscript and rights to publisher.  Assign royalties to children.  Still income to Dad. If, however, Dad keeps some rights and gives rights & royalties to kids, this is giving the tree + the fruit so income is to kids. 

closing, you’ve only assigned the income.  Already gave away your rights to property.   If the fruit has ripened, giving the tree away won’t change things.  Have to give it away while fruit is still immature.

.Salvatore (p. 238)—if you sign a contract to sell something, give it to kids b/f closing still assign. of income to you. 

Applestein – company merger raising stock prices. Tries to give stock to kids after price is already increased.  This is ripened fruit. Still his income. 

Court Holding Co.  – if only using form to disguise substance, will still get taxed.  Can’t use a sale by one person to hide income for another person by using one as a conduit through which to pass title. 

Dividends on Stock

Record date – date that ownership of stock is determined for dividend purposes.  

If the gift occurs after record date but before payment of dividend = assignment of income, still taxed.  1.16-9(c)  

If there was a flat tax, wouldn’t have assignment problems.

Kiddie Tax --  no separate tax payer status for kids <14 on their unearned income.  Get taxed at parent’s marginal rate (not the donor’s).  § 1(g)

4-4 stock has low basis, high value

declaration date = Nov. 1

record date = Nov. 15

Dec. 20 = pmt date.

a. kept the tree, assignment of income

 still keeps the tree so he’s taxable.

b. no tax consequences to daughter.

c. gift to her, no income to him.

d. she gets taxed on it. 

e. what if transfer to daughter on Nov. 20.  Dad is taxed. Fruit already ripened. 

f. She is taxed on .1, he is taxed on .9.

g. didn’t give the tree away, kept the reversion ( assign. of income. 

h. Oct. 1 he gives stock to her.  Then its her.  Then she sells.  Consider her basis from gift and calculate her gain. 

i. If he signs contract b/f giving to her its his income [Salvatore].

What if he just negotiated the deal.  If he did full negotiations, he still gets income. 

j. What if he sells her rights to two year’s dividends, Dad is taxable on 8Kin the year of the sale, daughter has a basis of 8,000, has gain of 2K.

k. not arm’s length b/c lower amount.

4-5 a. assign. of income. 

b. XFR of property + income ( income to kid.

c. late transfer of copyright, 11 months into the accrual period.  Dads income = 11/12, kid 1/12.

d. assign of income.  If copyright transferred to wife, rights to kids then.  tax mom on what she gets.

e. Dad & kid enter a deal.  Prior to negotiations, he had transferred property to kid.  ( b/c gave tree away before negotiations, income goes to kid. Might make an argument that transferred ripened fruit to the kid. 

f. Book is sold.  He gets royalties & rights.  

Heim v. Fitzpatrick p. 237 copyrights – patents could be considered a second tree.  Even though surrender the invention (tree), may still have part of the tree in the copyrights.  If transfer the copyright to the kid, the kid has property.  

The 2nd Circuit has not called the copyright the tree see Heim. 

BELOW MARKET & INTEREST – FREE LOANS

Giving interest free loans is a way of getting around the assignment of income doctrine.  Before 1950 there were no tax consequences to interest-free loans.

§ 7872 enacted in 1984 p. 260

Lender – could be an employer disguising compensation, could be a relative wanting to make a gift.  This motivation factors into 7872. 

Covers no and low—interest loans (defined diff. for short & long-term loans) determined by Sec. of Treasury issues in IRB.  

Explanation of § 7872

Loan = any transfer of money that provides the transferor with a right to repayment. 

Loans at low(below the applicable Federal rate) or no interest  are recharacterized as an arm’s – length transaction in which the lender made a loan to a borrower in exchange for a note requiring the payment of interest at the applicable Federal rate. This results in parties being treated as:

the borrower paid interest to the lender that may be deductible to the borrower & is included in income by the lender, and

the lender made a gift(relative) or paid compensation(employee).

Demand loan = any loan which is payable in full at any time upon the demand of the lender.

Term loan = any loan which is not a demand loan.

Gift loan = any below-market loan where the forgone interest is in the nature of a gift.  Can be between unrelated persons. 

A sale or transaction which is bona fide, at arm’s length and free from any donative intent is made for full consideration.

Timing & amount of transfers:

term loans other than term gift loans – transfer of all interest is treated as occurring on the date the loan is made. The present value of all principal & interest payments is determined.

demand loans & term gift loans – transfer = an amount equal to the forgone interest on an annual basis. 

compenstation – related deemed demand loans are treated as demand loan if 1) non-transferable and 2) conditioned on the future performance of employee.

Rates which apply: short term (applies to demand loans), mid-term & long-term.

De Minimis exceptions – if loan is < 10K no amount is treated as transferred. Does not apply if the loan is for purchase of income-producing assets (i.e. stock) & does not apply if principle purpose is to avoid tax.

Special rules of gift loans – if aggregate amount is <100K, amount treated as transferred + borrower’s net investment income for the year.  If income < 1K, net investment income = 0. 

Mechanics of § 7872:

1. Is it a loan?

2. Is it below market loan?  Gift loans are treated as demand loans. Demand loan is below market if interest rate < Fed rate. 

Term loan definition (7872(e)(1)(B)) – below market if the amount loaned  exceeds the present value of all payments (principle and interest) to be made by the borrower under the terms of the loan. 

3. § 7872 determines whether it is the type of below-market loan to which 7872 applies. Six categories.

4. Covered by de minimis (< 10K & not used for investment)?

If loan qualifies, analysis under § 7872 (a) & (b)

Gift or demand:

1. forgone interest computed: interest determined under 7872(e) less interest payable, allocable to that period.

2. forgone interest treated, on the last day of calendar year to which it is attributable, as

transferred from lender to borrower & characterized by underlying transaction as gift, compensation, etc.

retransferred by the borrower to the lender as the payment of interest.

3. the amount of forgone interest treated as retransferred from the borrower to the lender in a gift transaction is limited to the borrower’s net investment income (generally defined as investment income less investment expenses) for the year if:

amount of loans not > 10K

there is no principal purpose of tax avoidance

There are two fictitious transfers in a no interest situation:

Transfer #1 there is a transfer from lender to borrower in the amount of the foregone interest (that the lender would have gotten in the mkt.). 

Borrower may have gross income upon receipt of loan.  

Gift: If its parent and child and its a gift, child has no income. 

Gross income: If employer, employee = compensation = gross income.  ( transfer #1 may or may not be gross income to the borrower depending on circumstances.

Transfer #2 – what about when borrower transfers money back to lender.  

Some interest payments are deductible to borrower (not for personal interest, maybe other kinds).  Gross income to lender when he gets interest pmts from borrower if there are any.

What about income that the borrower generates on the loan?  That is gross income to him. 

In a low interest situation there are real arrows going back & forth. 

Assume 10 1/4 % interest. 

4-6 p. 265

Dad loans kid 5K, demand loan

7872(e)(1)(a) is this a below interest loan? Has to be to be a 7872 problem.

7872f3 – gift loan – any below market loan where interest = gift

If son is blowing the money it looks like a gift. 

7872(c)(2) – for gift loans if < 10K, freebie unless loan is to purchase income-producing assets (e.g. investments). 

This takes care of a large percentage of intra-family no or low-interest loans.

b. Kid earns $450 of interest on loan.  Below interest loan, gift loan.

De minimis rule: invested for income purposes.  7872(a)(1)(a) applies ( foregoing interest is treated like hypothetical transfers are made on last day of each taxable year.  7872(e) forgone interest.  Son has received $512 of interest but this is a gift ( not income.  Son has transferred same amount back to father. Does father have gross income?  Yes.  Does son have interest deduction?  possibly.  Son’s investment income off of loan is taxable income. 

7872(d)(1) in the case of a gift loan, amount retransferred from the borrower to the lender shall not exceed the borrower’s net investment interest.  If we can qualify under (d), Dad’s tax amount drops from $512 to $450.  This is closer to reality.  7872(d)(1)(B) – if loan was to avoid tax, (d) does not apply. This clause really sets you up for an audit. 

(c)  Dad loans 20K demand note. Kid spends on tuition & board.

Low—interest, gift loan.  Not de minimis

$2050 is fake transfer amount.     if qualify under (d), the transfer amount is replaced by $0 b/c no investment income.  If transfer was not to avoid tax (d) applies. 

d. gift demand loan. >10K ( de minimis does not apply. < 100K (d)(1)(b) is one of the principle purposes tax avoidance?  Probably not to avoid tax. Qualify for (d) exception.  Father has less income under (d) = $4000 rather than 5125 which he would have had.  

Can’t bifurcate loans have to treat it all the same.

e. demand gift loan. $12,3000 interest income.

f. what if a 2-year term loan rather than a demand loan?  Not going to treat it as a term loan b/c it is a gift -- 7872(f)(3).  Don’t apply term loan rules. Answer is the same. 

g. 5% interest payments required, now a low interest loan.  5% = 6K ( fake transfer = $6300. 

He skipped 4-7 & 4-8

Divorce and Alimony

§ 71, 215

Requires inclusion of alimony payments in gross income.  

71(b) – definitions of alimony –

cash

must be received by or on behalf of spouse pursuant to a divorce or separation instrument,

 this instrument must not designate the payment as non-income.  Can’t change the rules. 

if you’re legally separated, can’t be living together 71(b)(1)(C). Prevents sham divorces.

Must be no liability on behalf of the payor to continue payments after death.

Can’t be child support, that’s not deductible. 

Recapture rules – rules against frontloading in the first few years.  Defeats deductions of actual property settlments. 

§ 1041 Property Settlements.  Transfer between spouses incident to divorce: no gain or loss is recognized. Transferee takes basis of transferor. 

Problems p. 273

4-9a.  May not be alimony if payments continue for 5 years regardless of whether Harold is alive or not. If its not alimony it won’t be deductible to husband or income to wife. 

Regs 1.71 Q 13.

b. Payments from Harold terminate at Maude’s death.  Then becomes alimony.  He can deduct, she must include as income. 

c. Payments to Maude continue to her sister after Maude’s death.  Appears to be compliance with alimony requirement. Violates § 71 (b)(1)(D).  Not alimony b/c continues after her death.

d. Not alimony b/c can continue after her death.

e. Harold pays bank on mortgage.  71(b)(1)(A) can make payments on behalf of a former spouse. 

f. Not alimony unless it is cash only.  Stock is probably a property settlement even though structured to look like alimony. 

g. 5K of 15K = child support.  child support is not alimony 71(c)(1).  Can only deduct 10K. 

h. § 71(c)(2)(A) if reduction on contingency concerning child its masking child support.

i.  Looks like front-loading payments. 

71(f) recapture provision – 

comply w/ death rule, cash rule, not child support but now its excessively front-loaded.  Can still deduct in year 1 & year 2 but in year 3 have to pay  consequences.  But by then TP is in lower tax bracket and has deferred tax consequences – possibility of abuse. 

Calculate impermissible excesses to see if payor has to take some of that as income. 

Start with year 2: 71(f)(4) excess payments for 2nd post-separation year.  Amount in year 2 (40K) – amount in year 3 + 15K = 15K year 2 step down amount.  Have a 15 K allowable step-down. ( have to pay on 15K

(f)(3) year 1 recapture:  70K –  (40 – 15[previous calculation])  == I language

II language: 

Alimony

71(b)(1)(D) – no liability after recipient’s death and no substitute payments to anyone else.

1.71-1T Q 12 What if there is a requirement to make a payment as a substitute?  None of the payments are alimony.  If you address the death issue, don’t have to explicitly state that there will not be substitute payments. 

Recapture Problems – can drop payments  by 15,000 per year. 

Year 2 Recapture – calculate first  Year 2 amount – (year 3 amt +15K) = 15K

Year 1 Recapture :

Year 1 amount – [(average of year 2 + year 3) + 15K]

70 – [17,500 +15K] = 52,500

[Year 2 (less year 2 recapture) + Year 3] /2

[40K –15K + 10K]/2 = 35K/2 = 17,500 which goes into average of . . . 

52,500 = total of year 1 recapture + year 2 recapture = income to payor and deduction to payee. 

j.  not alimony.  he has not gain.  her basis = his basis 1.1041-TDA –11

k. doesn’t change alimony, gain, or basis

l. not alimony b/c not cash.  What if he is paying the mortgage?  

1.71-1T(b) Q- 6 if he is paying down his own mortgage, not alimony.  

m. If the maintenance is to his own house, not alimony. Maintenance to her house might be alimony if he is required to do so.   

n. if she owns half of the house, half of the payment would be alimony. 

TIMING OF GROSS INCOME – P. 275

When is it gross income? Amount of tax liability per year may change b/c of:

Change in tax rates

Income may fluctuate

Marriage status may change

Substantive rules of tax law may change

Time value of money – most would prefer to pay tax later. 

Tax Year  -- First Pillar – annual basis: calendar v. fiscal year(most businesses, any 12-month period, ends on last day of month other than Dec.  Have to file return on the 15th day of the 4th month after fiscal year ends). 

Problems 277

5-1. Default rule = calendar year.  If can’t pick a correct fiscal year, get the calendar.

5-2. Short taxable year Jan.1 to Oct. 1. 

What if one of a couple dies.  The survivor is entitled to file a joint return with the dead spouse even though their taxable years differ. 6012(a)(2)  Combination of low income in the stub year + high medical expenses mean have deductions greater than income.  IF there is a joint return the surviving spouse can use deductions. 

Dead spouse, on Oct. 1, gets dividend in Dec.  Income to your estate.  This is a separate form (1041). Begins its taxable year on Oct. 2 and can pick its own taxable year and it is a separate TP. 

Accounting Method – Second Pillar

1. Cash Method – gross income included in the year of receipt.  Actually or constructively receive it.  Hornung Case – no constructive receipt. 

1.451-2(a) – “credited, set apart, otherwise made available.”  If you could have gotten it, treat you as though you could have gotten it.

2. Accrural Method, p. 318 – used by most businesses, must be used if using inventory.   Income is income when entitled to it, not when received. 

1.446-1(c)(1)(ii) -- All Events Test – requires amounts to be included in gross income when all events have occurred which fix the right to receive.  

Don’t acrue until know the amount – entitlement and amount certainty. 

Deductions – can deduct in the year of liability whether paid or not.  

Actual & Constructive Receipt – don’t forget constructive when doing problems, whether you pick it up or not, if its available to you.  

Delete 302-311, 311 – 318

343-365 next time

JUDICIAL EXCEPTIONS POSTPONING INCLUSION

Security Deposits – LL may or may not be in free control of these.  Courts have been clear that these are not gross income b/c may not be able to keep it.  Resemble loans.  But they can also hold these to protect themselves from non-payment of the rent.  B/c  of this they have some characteristics of income.  Have to draw a line between deposits v. advance payment of rent.

Indianapolis Power & Light Co. – Sup Ct. case, 1990 – addresses security deposits. Primary function of these deposits was to secure payment of bill.  Court decided these were security deposits b/c the deposits were not within the utility company’s control.  It was up to the customer to determine the outcome of the deposit.  Control over ultimate disposition of the money. 

IPL was required to pay interest

Could use funds any way they wanted to

Customer controlled disposition

5-13a.Should this deposit be considered income for year 1?  No b/c it was within the rentor’s control to destroy it.  Don’t know what she is going to do with it. He held the deposit in a separate account.  

Is it gross income if they use the deposit for repairs v. using it for delinquent rent.  Using it for repairs is deductible but we haven’t covered that yet.  

b. It is clearly gross income in year 2 when the renter breaches a material term of the lease and the money was applied as rent.

c. no though it does complicate the case. 

Ascher says ultimate control is not necessarily the issue in these cases just b/c the Sup. Ct. said so.

Options

Straight Options – a fee that someone pays to someone for the right to buy something at a pre-set price.  ( the situation is in limbo.  If the option is exercised the fee is a payment that is part of total realization. If however the option expires the person who granted the option gets to keep the fee and the property. 

Virginia Iron, 1948 – wait to see which it is.

Kitchen Case – lease options – purchasing right to buy in future + right to use it now ( part of this has to be gross income.  Holding:  It looks like rent to us. 

5-14a. no tax consequences, straight option.

b. If option exercised: amt. realized = $5K - $500 of basis = $4500

c. in year that option lapses, gross income = $1K

d. Not a straight option.  He keeps dog for 2 years and uses it ( a lease option.  

gross income of rent = $3K.  If he keeps at the end of 2 years amt realized = $2K – gain of 500 = $1500 gain  Tax consequences of (a) are more favorable than (d)

DEFERRED PAYMENT SALES OF PROPERTY

Deferred payment  arises whenever property is sold & all or a portion of the sales proceeds are to be received at a future date.

Closed Transaction Reporting

Code: 1001(a)-(d) – must include fmv of property received in amt. realized

Regs: 1.1001-1(a) – computation of loss or gain

Closed transaction – if all gains realized in a deferred payment sale are recognized in the year of sale. 

Cash method – if a purchaser’s promissory note is considered “property received” must determine fmv of the note and include in the amount realized (1001 b).  (seller may have a tax liability in excess of cash received in the year of sale.

Accrual method – generally must include the face amount of the note as an amount realized at the time of sale b/c the obligation is fixed.  Usually results in a higher tax liability. 

Closed Transaction – tax consequences are established at the time of sale.  This is the stripped down model. What you get

§ 1001 (b) amt realized = sum of money + FMV of what you get (promissory note)

Warren Jones Case, 1975 -- TP must include the fmv of real estate  contract in amt. realized for the year.

Facts: sale of apt. bldg.  No note. Seller gets down pmt. + monthly payments. Court puts a value on the contract right that the seller has. 

Tax Court found seller only had to pay tax on 20K relying on the doctrine of cash equivalency.  The Cir. Ct.  rejects the cash equivalency doctrine FN p. 6, forget about his doctrine.

Court says: amount realized = 20K + value of real estate contract(76K) = 117K, less basis = gain

5-15

a. 1K + 7500=8500 – basis of 2k = 6500

b. 1K + $4800 = 5500 amt. realized – 2K gain =3500

c. $500 +1K = 1.5K – 2K basis = - 500.

d. 1K + 4K = 5K – 2K basis = 3K gain

e. what if accrural TP amt realized = 10K – 2K gain = 8K

Next time Open transaction + installment to p. 375. 

Open Transaction 

Code: 1001(a) – (c)

Regs: 1001-1(a)

Only in “rare & extraordinary circumstances” where it is impossible to determine the amount to be realized is open transaction reporting permitted.

Happens when the purchaser’s obligation may not have a specific face amount & is ( incapable of valuation.

The seller is permitted to hold the transaction open, treating payments received as a tax-free recovery of basis to the extent of the basis of the property sold.

Allows total deferral until basis has been completely recovered.

Burnet v. Logan 1931 – TP could not be taxed on income from future redemption of shares of stock b/c their value in the future was not known. 

Problem 5-16  Basis = 60K  5K cash payment

a. 5K + 25K = 30K – 60K basis = -30 ( no income

1. 20K – 30K remaining basis ( no income for that year

2. 45K – 10K remaining basis = 35K income for that year

3. years 4-6 all income

b. fmv of promise = 85K then 85K – 60K basis = 35K income in year 1

1. year 2, no income

2. year 3, no income

3. year 4, 20 + 45 + 30 = 95K exceeds income fmv by 10K ( 10K additional income from the deal. 

Installement Reporting (§ 453 reporting)

Allows TPs relief from having to pay income tax in the year of sale based on anticipated profits when they have only received a portion.

avoids the difficult task of appraising the value of the purchaser’s promissory obligations in uncertain markets. 

As payments are collected, the seller treats a portion of each payment as a return of basis and a portion as income.

453 automatically applies to installment sales unless the TP elects out. 

453 items
1. payments received in a taxable year

2. gross profit

3. total contract price

For each taxable year, taxable gain equals the total payments received in that year multiplied by the gross profit percentage (gross profit divided by contract price). Gross profit = selling price – adjusted basis of property sold

income per year = payment  x   gross profit/ total contract price

gross profit percentage = gross profit/total contract price where gross profit = 

selling price (= contract price) – adjusted basis

gross profit percentage stays the same for each installment year even though payments may vary.  

payment received – recognized gain = return of basis

limitations on 453:

if face amount of all installment obligations exceeds 5M an interest charge is imposed on the deferred tax liability.

where the buyer and seller are related and the buyer subsequently disposes of the property.

Sales Between Closely-Related Parties (Other than Depreciable Property) – 453(e):  the amount realized upon certain resales by the related party installment purchaser will trigger recognition of gain by the initial seller, based on his gross profit ratio, only to the extent the amount realized from the 2nd exceeds actual payments made under the installment sale.

453(c): Before the  person making the first disposition receives all payments the related person disposes of the property (second disposition).

Then the amount realized with respect to the second disposition shall be treated as received at the time of the second disposition by the person making the first disposition.

Resale rule applies only with respect to second dispositions occurring within 2 years of the initial installment sale (unless marketable securities).

No acceleration of recognition of gain from a 2nd disposition which occurs after the death of the installment seller or purchaser.

Resale rules do not apply in any case where IRS is satisfied that there is no attempt to avoid taxes. 

Typical nontax avoidance exceptions: tax-free transfers i.e. charitable transfers, involuntary transfers such as foreclosure.  

Sales of Depreciable Property Between Related Parties –453(g)

all payments received shall be treated as received in the year of the disposition unless any payments are contingent and a fmv cannot be ascertained or unless tax avoidance is not a principal purpose.

Sales Subject to a Contingency – TP is allowed to report gain from a deferred payment sale under the installment method even if the selling price is subject to some contingency.

For sales under which there is a stated max. selling price, can recover basis on the basis of a gross profit ration determined by reference to the max. selling price.

If max. selling price is reduced, income from sale is recomputed.  

Under 453, unless opt out, if get deferred payment obligation will be in installment sales method.  Some or no payment in year 1. Some payments rest of years.

 income recog. = pmt rec’d  x Gross P/Total KPrice

Prob 5-17 – related persons transaction, deferred payment plan ( 453 applies

fmv = 16K   1K payment, 15 year note for 15K basis = 4K

a. income = payment x profit/contract price(total consideration) = 1K x (16-4)/16 (= 75% profit ratio)= $750 income + $250 return of basis.In year 2 she pays 1K, $750 = income, and so on for each year thereafter.  750 x 16 = 12,000 total gain over 16 years. 

Since note is bearing 10% interest= 15K x .10 $ 1500 interest first year, $1400 interest 2nd year, $1300 3rd year, and so on.

Authors are stating a fixed obligation to pay interest rather than have us worry about imputing interest to avoid the income breakout for interest payments.

b.If the daughter turns around and resells car she is trying to abuse 450. It allows the family unit to abuse the tax system.  453 (3):2nd dispositions by family members Year 2 consequences after 2nd sale: her gain = 17K – 16K = 1K gains

Dad’s tax consequences:

He steps into daughter’s shoes.

Under (e)(3)(a) limits his liability to either what she got or what dad agreed to get whichever is lower. (e)(3)(B) lowers it even further.

lesser of 17K or 16K (1st disposition), lesser = 16K

under e3B(i) = 1K   (ii) 0

year 2: 16-1 = 15;     15K x 75% = 11250  She has cost him the entire 450 advantage.

c. If sold in year 4, not a related sale ( no result to Walter. 453 (e) (2)

d. no diff. if sold to brother.  318(e)(1) does not qualify but does under other. 

See 450(f) definition of related persons

e. Instead of all cash deal, getting balloon payment.  If she doesn’t elect out she is in the installment method.

What has dad received?  If she gets 7K under (b)(3)(A)  he gets 7K v. 17K, lesser =7K

under B (i) = 1   under (ii) = 0

7-1 = 6K( 6K x 75% = 4500.

What about year 3 when he gets 1K.  At that point he’s already been taxed in year 2 for 6 years of payments (453e5)

By year 7, amt of balloon = 9K  Now what?

back to (e)(3)(a)   7+9+ 16 v. 16

B.  (i) total amount with respect to first + what ever else 1 + 6

16K –(1+6) = 9  x 75% = 6750     6750 + 4500(yr. 2) + 750(yr. 1) =12000

Whole idea is to treat dad as badly as daughter is being treated.

If she elects out, this is a closed transaction,  her amt realized = 7K + 6K = 13K – her basis of 16K = -3k loss ( no tax consequences to her under this sale

Dad’s consequences under (e)(3)(A): (i) = 

Under 15a.453 (p. 1137 under no circumstances . . . 

( under (i); Year 2: 16K  -- 1K (cash amt in 15a.453-1d 2 ii)– 1K(453e3Bi) = 14K   14K . 75% = 10, 500

In year 3, Dad gets 1K but doesn’t have to pay tax all the way up to year 5 when daughter receives full payout.

Under (e)(3) he gets hit with the lesser amount of 16 v 16.  

Reduce by e3 by aggregate amount of payments received = 16 – 1K – 14 = 1K x 75% = 750

750 +10500 = 12000

Under p. 1137 reg fmv = 16K –1K of pmt already received so 15K

Then under (i) = 15K – 1K  that 1000 is from 453(e)(3)(B)(i)

f. if he paid no cash and a 20 year note there would be no income to her. Since she is wringing it out over 20 years, longer than 15 years. Under 453(e)(7) there is no tax avoidance ( no income to her and no change to him.

g. if Dad had sold to wholly –owned corp still related sale.  453(g) – depreciable property sold to business under the installment method.

Related persons under g3 refers to 1239(b), corp is a related person and installment plan does not apply.  Then back to closed transaction reporting.

FMV of obligation

h. sold to wife, still a related sale under 1041 transactions between spouses, no gain or loss. Her basis = his basis. 

453B – Disposition of Installment Notes; Gains & Losses – someone buys an installment note from you.  If you sell your note or dispose of it prematurely, you’ll be taxed on the gain, can’t defer tax payments anymore.

Basis in Installment Note = face value – income returnable had notes been paid in full (p. 376).

So gain or loss = amt realized – basis in installment note

United Surgical Case says that pledging is not really a disposition, just a loan.  People are getting bank financing by pledging their installment contracts.  Looks like a sale of note but its not really a sale or a disposition b/c the TP, not the bank was still collecting on the note.  Court says not a note disposition, it’s a loan. 

453A – if do a lot of pledging of notes >150,000, may be penalized.

This provision is designed to prevent tax evasion in connection with:

1. transfer of installment obligations on death

2. distribution of installment obligations in corporate dividends

3. the making of a gift of such obligations

4. transfer of obligations in similar situations

Not b/c of a gain but b/c transferee receives a stepped-up basis.

Upon disposition of an installment obligation, gain or loss is recognized = to the difference between the basis in the obligation and either:

1. amount realized in the case of satisfaction at other than face value or a sale or exchange, or 

2. the FMV of the obligation at the time of any other distribution, transmission or disposition.

Basis in installment note = face value of note – amt that would be taxable if note was satisfied in full(= face value X gross profit percentage)

FMV or Face Value – basis in note = taxable income on disposition

Pledges of Installment Obligations – 453A provides that certain pledges of installment notes will result in gain recognition even though the pledge is not a 453B disposition.

If the sales price exceeds $150,000, then the proceeds from the pledge will be treated as a deemed payment on the installment obligation. 

Difference is disposition of an installment obligation as above v. payment x gross profit percentage

Installment Sales of Encumbered Property  -- 381-383 review

If encumbered property (property with debt) is sold on the installment method, application of 453 does not result in taxation of all the seller’s inherent gain. ( adjustments to the contract price and to year of sale payments must be made. Two possibilities:

1. the debt assumed does not exceed the adjusted basis => only need to reduce the contract price by amount of debt assumed.  This raises the gross profit percentage and then raises the income taxed.

2. debt assumed does exceed the adjusted basis, then have to make 2 adjustments:

reduce contract price by amount of debt not > than basis

debt amt > basis is treated as a payment in year of sale.

Example p. 381 can refer to regs but not code.

Inc. Recognized = payment x GP/TCP

year 1: 10,000 x  100000-50K/50K = 5000

year 2: 20K x 50% = 10K

year 3: 20K x 50% = 10K

year 4: 20K x 50% = 10K

Total


35K, not 50K as expected ( need to fix it

If debt is < seller’s basis do one kind of adjustment: lower the total contract price by the amount of the debt.  

So in this example:  100K – 50K/100K – 30K = 50/70 = 71.4%  this will make total gain to 50K.

If debt > seller’s basis, reduce total K price by amount of debt up to amt of basis, not to exceed seller’s basis + include as payment received by seller the extra debt  in the first year.

Problem 5-19

 Year 1 gross income as result of sale:

Gross profit = 1M – 500K = 500K 

200K in year, basis = 500K, debt = 300K so first adjustment only applies

200K x (1M – 550,000)bump up in basis for selling purposes – Reg 15A.453-1(b)(3) 2 v

300K must be qualified indebtedness

 (1M – 550K)/ 1M – 300K  = 450K/700K = 65% GPP

200K x 65% = 130K

b. 100K x 65% = 65K  + interest which we’re not doing.

c. What result if she sells note in year 3 – disposition of note problem—453B

basis in obligation = face value – income that would be returnable if satisfied in full: =  

400K x 65% = 260K  income returnable

400K = face value     400K – 260K = 140K   this is the basis in the obligation.

amount realized on dispostion = 350K – 140[basis] = 210K of income

d. Instead of selling, gives it away.  Usually don’t think of gifts of having tax consequences but under 453B there are tax consequences to the donee b/c have to wring the tax out of the installment.  Since FMV of obligation = face value, get the same answer.  453B(a)(2)

15a.453-1(iv)  Qualifying indebtedness – mortgage or other debt encumbering the property incurred by the purchaser incident to the purchase. Does not include a debt acquired incident to the disposition of property.  Does not include any obligation created subsequent to the TP’s acquisition of the property.

(v) – commissions & other selling expenses shall be added to basis for purposes of determining the proportion of payments which is gross profit attributable to the disposition.

5-20

350K first mortgage/  200K 2nd mortgage/  Total 550K total debt

400K basis = can add in 50K of selling expense to increase basis (v, p. 1131), overall basis 0f 450K   ;  550K debt, so debt assumed = basis ( will have 450 subtracted from K price + 100K added to first year sale.

a. income in year 1;  no money down in exchange for balloon note but have to add in 100K from debt relief ( 100K x GP/TCP

GP = 1M – 450K = 550K   TCP = 1M – 450K = 550 ( 550/550 = 100% profit ratio

100K x 100% = 100K  

b. Note disposition:  face value = 450 

basis in her note = 0     300 – 0 basis = 300 gain

c. what if 2nd mortgage was incurred on Dec. 10.  What you take out prepatory to sale to use for a vacation. This does not meet qualify indebtedness (p. 1131).  

Have to treat nonqualified debt as payment in year of sale.  So can’t subtract 200K from K price.

200K x 1M – 450K /1M – 350 =   550/650 = 85% x 200 = 175K in year 1

( loss of debt income causes the GPP to drop from 100% to 85% and she now has less profit per year.

5-21

a.

b. At the last minute she gets creative and asks for payment of dentist & legal fees.  If she had kept it the same her payment would have been 200K which would have resulted in 135K income (200K x .675).  She still incurs the 25K legal fee expense, even though buyer is not discharging that indebtedness. 

She could have reduced the gain by 20K if she had not asked for this increased payment at the last minute.

NONRECOGNITION OF GROSS INCOME – difference between realized and recognized 1001(a), 1001(c) – presumption is that what is realized is recognized but under (a) “except as otherwise provided.”  Which may provide for non-recognition. 

1031-1041 – non-recognition provisions

If do a deal that produces large amt. of income, but in the process get substitute property, then the basis in the acquired property can help lower overall income.

Basis in property #2 may be hiding the gain in transaction #1.  These provisions only defer recognition, they don’t prevent it. 

§ 1031 permits the exchange of qualifying, like-kind property w/o the immediate recognition of realized gain or loss.  Temporarily defers gain/loss from gross income. 

Policy:

1. TP has not changed the economic substance of ownership.

2. B/c TP has not cashed in his investment, it is equitable to defer recognition

§1031 – Need to memorize 

Three Strict §1031 Requirements: 

1. Both the property received and the property given must be held for “productive use in trade or business or for investment.” [autos do not qualify]. Both parties do not have to qualify can be a 1031 nonrecogn for only 1 party

2. Must be an exchange (property transferred in return for other property). Does not apply to sale of property.

3. Properties exchanged must be of a like kind:

1.1031(a) –1(b) – “like kind” refers to the nature or character of property not to its grade or quality.  e.g. real property may not be exchanged for personal property.

1.1031(a)-2(b)(1) – personal property rules for like-kind std. 

1031 need not apply to all parties to a transaction

If 1031 requirements are met, even unintentionally, non-recognition is mandatory; it may not be elected or waived.
Click  -- holding: real estate is real estate = like-kind property ( real-estate gets a pass. No strict like-kind criteria. 

1.1031(a)-1(b) – p. 1404 definition of like-kind.

But in Click get other than just property (“solely”) – 1031(b) – can get “boot” as well, non like-kind property. 

In Click, TP gave property to her kids. Test – did she have an investment motive to begin with.  The kids picked out the property and moved in right away so it didn’t look like TP’s investment property.  Other problem is that she only waited 7 months to exchange the property, that’s not “old & cold.”

Problems p. 397

5-22a. what did she realize? She got an apt. worth 200K + 50K cash

amt. realized = 250K

Basis in what she gave up = 100K  A/B

( gain realized = 150K   If she can’t find a non-recognition provision she has to realize and recognize it. 

b. what does she recognize?   There is a like-kind exchange held for investment ( qualifies for 1031.   Penalty for boot (1031b): recognize gain up to the 50K boot.  Income recognzied up to amount of boot = 50K

c. basis in apt. bldg.  1031(d) = the basis of what you gave up decreased by the amount of money received

basis in property given up = 100K  - cash received of 50K + inc. by gain of 50K ( her basis = 100K  These are not offsetting adjustments in all cases.  Basis in new property isn’t always = to basis in old property. 

d. Gain realized = 500K FMV vineyard + 100K cash = 600K A/R

Basis in what she gave up = 200K basis in land + 5K basis in stock . This is 1001 analysis just to get the basis she gave up ( gain = 395K

3. How much gain recognized?

Reg 1.1031(j) exchange of multiple properties (land + property). Need to form exchange groups.  Land & vineyards are like-kind – 500K for 500k ( no gain. 

Residual group an exchange of stock for money = 100K cash to her for 5000 basis property = 95K of gain. Can’t exchange stock for money that is a sale. 

p.1410 Exchange groups v. residual groups.  In exchange group don’t recognize gain.  In residual group, cash do recognize gain.

Basis of exchange groups 1031(d)
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1. Realization Amount

2. Recognition Amount

3. Basis

What did Dudley get?  

1.2 M FMV property + 300K debt relief

A/R = 1.5 

A/B = 500K

A/R 1 M     A recog = 300K net debt relief.  

1.1031(b)-1(c) – boot equal to debt relief.

Basis:  1031(d) start with carryover basis, then modify it:

500K – 300K debt relief + 300 gain = 500 A/B of new property

What did Little get?  Gives amt. realized

1.5 M bldg  

-1.5 A/B   -- 300K = -300K loss realized, can’t recognize loss so 0 loss recognized.

Basis = 1.5 M + 300K = 1.8 M A/B in new property  The 300K loss is buried in the new property, from a tax viewpoint should not have engaged in this transaction.

c. Dudley gets 1.5M FMV + 100K cash +  300K debt relief = 1.9M A/R

--500K a/b old – 400 mort. assumed = 1M realized  has to recognize not like-kind property, there is no net debt relief b/c assumed more than walked away from + did get 100K gain  1.1031(d) – 2 Treatment of assumption of liabilities (p. 1408)

Basis in new property  500K old basis  - 100K cash received – 300 debt relief + 400 mortgage assumed + 100 gain recognized = 600K A/B (new)

d. What did Green get?

1.5 FMV + 400K debt relief = 1.9M A/R

1001 basis(what she gave up)-- 600K basis -- 300 assumed debt -- 100 cash = 900K gain realized.

her net debt relief = 100K  but she paid 100K Can offset net debt relief with payment of cash 1.1031(d)-2, ex. 2 part c.  So no gain recognized 

1031 basis = 600K + 100K paid – 400K debt relief + 300K debt assumed = 600K

e. 1, What if he increased his mortgage, she would have had to assume 400K debt and would not have paid 100K cash.  This would eliminate his gain recognized.  

IRS is going to employ the step-transaction doctrine  and collapse the extra step as if he had gone forward in a more direct fashion. 

e. 2. Instead of transferring cash, transfers stock w/ FMV 100K, basis of 120K

Stock is not like—kind property, its boot.  So he is in the same position.

His basis, he receives no cash so his basis is higher.  It becomes 700K, 100K of that basis is allocated to non-qualifying property so 100k  of his basis goes to the stock and whatever is left over goes to new property.  

This does not change her gain, she is allowed to offset the boot against her net debt relief. 1.1031(d)-2, ex. 2 part c.  Now have a 20K loss in non-qualifying property.  This changes the basis, take out 100K cash and substitute 120K stock, and subtract 20K loss so basis stays the same overall. 

e. 3. What result if she gives note instead of cash.  Note can offset mortgage also.   So there will be no change to Green. 

What about to Dudley, instead of 100K cash, he gets a note.  Still have 100K gain recognized.  453b1 and 453f6c can use installment and deferral on same transaction.   He has to recognize the 100K gain but he can defer it under 453 until he receives payment on it.

e. 4. What if she had reduced her mortgage instead of paying cash. NO change to her. He would not have been getting boot, would have received full recognition of the debt he assumed. Better tax result as long as IRS doesn’t invoke 2-step rule. 

Basis of Acquired Property

§ 1031(d)-- in an exchange each TP carryovers the basis in their newly acquired property for the previous owner. 

If non-qualifying property (boot) is received in addition to qualifying like-kind property, the exchange results in partial gain recognition to the extent that boot is received. 

§1031(d) substituted  basis in the acquired property is decreased by the amt. of any money received by the TP & increased by the gain recognized in the exchange. 

If both like-kind and nonlike-kind property (other than money) are received in a tax-free exchange, the taxpayer must allocate the § 1031(d) aggregate basis between those properties.

Exchange of encumbered property – debt incurred in the exchange is treated as cash paid, debt relieved in the exchange is treated as cash received. 

the ability to reduce the amt. of boot received by mortgage netting is limited to cases in which boot may arise as a result of mortgage relief. Does not include “other property.” 

Sale of Principle Residence

In 1997 Congress repealed the rollover provision of 1034 for older people but now everyone can have an exclusion under 121.

Diff. between exclusion provisions & non-recogntion provisions – non-recognition is only a deferral of recognition. 

Code: §§ 121 (a), (b), (c)
(a) Exclusion – gross income does not include gain from sale or exchange of property if:

Own & reside for 2/5 previous years as principal residence. 

$250K exclusion (500K if joint return, under some circumstances). 

applies to only 1 sale every 2 years.

can exclude a fraction of gain if fail to meet requirements due to change in employment, health or unforeseen circumstances. 

If single TP marries someone who has used the exclusion w/i 2 years prior to marriage, allowed a max. exclusion of 250K.

Problems p. 408

5-26:  A/R = 500K – 200K AB = 300K gain

a. assume he used and owned as his principal residence for 3 years.

300K – 250K = 50K gain recognized. 

b. no change in gain, no rollover provision now.

c. 525 K basis

d. if he still owned & used for 2 years, no change. 

e. if he was a contractor.  Could possibly attack his basis by subtracting his labor from the 200K basis.  121 says nothing about being a contractor or builder ( no change. 

f. If he only resided in the house for 1 year?   Can’t exclude any of the gain.

What if he sold it solely to make a profit? 2 year rule is not iron clad.  Under 121(c)(2)(B) – change in employment, health, unforeseen circumstances. 

g. See above, if in poor health can prorate the exclusion under (c)(1) 

1 year / 2 years x 250K = 125K   300K – 125K = 175K gain recognized. 

the shorter of I(# of years he did own & occupy) v. II(sold a house in too close a succession, how much shorter was the period than 2 years?)

h. Files a joint return, gets 500K exclusion ( no gain.  This is not obvious.  Did wife use the exclusion w/i the last 2 years. 

i. Does the spouse have to be an owner in order to get 500K? No  Either spouse can meet the ownership requirement.  Both spouses must meet the use requirement. 

j. What if he was married for 1 year prior to sale.  She doesn’t meet the use requirement so he is stuck with 250K exclusion & has to recognize 50K gain. 

k. He lives in one half of duplex. Only has 150K qualified gain on the sale of his principal residence, has to report the other 150K gain. Of the 150K of principal residence gain, he gets 250K exclusion ( all of that is excluded but not the half that he didn’t live in. 

5-27 Installment sale. 

500K A/R – 200K A/B = 300K gain realized  -- 250K exclusion = 50K gain recog. 

payment x gross profit – nonrecog. amt./total contract price

50K x 300-250/ 500 = 50K x 10% = amt of payment that will be taxed in any year. Have to dummy up the profit ratio to prevent the loss of the exclusion each year.

DEDUCTIONS 

Income means net income – p. 39 Exam Question

Deductions are not allocated to parts of income. They are allocated against the entire income.  Add up all the gross income and subtract all the deductions.

Above the line deductions – can be taken by everyone whether or not the standard deduction is going to be taken § 62. These kind of deductions are the best. §62 doesn’t grant anyone a deduction.  It just discriminates among deductions.  Better to be an employer than an employee to qualify for these. 

Below the line deductions – standard or itemized. 

Adjusted Gross Income – gross income -- § 62 deductions(primarily business)

AGI -- § 63 std & itemized deductions = taxable income

standard deduction – deduction available to all taxpayers, amount dependent on filing status. 

If itemized deductions exceed standard deductions, get full value of itemized deductions. 

§ 62 deductions in contrast will reduce gross income by every dollar.

No item can be deducted twice. 

AGI equalizes tax treatment of employees & employers:

§ 62(a)(1) – nonemployees may deduct all business expenses other than those arising  under § 211 & § 219.

§ 62(a)(2) – restricts employees to business deductions that have been reimbursed  by their employer. 

Statutory Requirements for Business Deductions

§162 – highest volume dollar leak in the FIT system. 

§ 162 Requirements:

item must be ordinary & necessary

item must be incurred in a trade or business

item must be an expense rather than a capital expenditure

Ordinary & Necessary:

Does not include bribes or fines.§ 162 (c),  (f), (g)

ordinary -- normal, usual or customary [Deputy v. DuPont]

necessary – expense should be appropriate & helpful in the TP’s business

Ordinary – can be more difficult to define than necessary.

Trebilcock – ordinary = “frequent occurrence in the type of business involved.” 

This may stifle innovation.  Court could have focused on who benefited from minister’s services; if intended to improve employee productivity, expenses would be deductible regardless of frequency in industry. 

minister gave business advice, but no training to do this.

minister was a gopher also

Holding: Can’t deduct his salary b/c not an expense legitimately incurred in the cost of doing business.  § 262 no deduction for personal expenses – religious counseling – benefits were inherently personal in nature. 

Don’t want to sacrifice innovation to meet  ordinary requirement.  Ordinary = not screwball instead of who else is doing it. 

problems – p. 419

job-related injuries or stress expenses for M.D. are deductible. 

Trebilcock v. GM hypo with any and all religions available distinguish by not being boss’s personal preference in a preacher v. more generic choice. 

6-2: more organized activity for the benefit of employees, leg. bus. expense. 

6-4: the damages aren’t prohibited under 162.  Are the damages “ordinary & necessary.”  It’s a close call. Book says she can deduct. 

§ 162 requirement for “incurred in a trade or business” – compare to § 212, below the line deduction, doesn’t rise to the level of trade or business.    Lowest class of all is the consumer mode. 

trade or business § 162 > production of income, § 212  > consumer

Groetzinger Gambling Case, 1987 

Compulsive gambler loses more than he makes, wants to deduct expenses. 

Diff. between placing an occasional bet and doing it as a regular activity.  Can be taxed on gross income in either case.  Can you deduct expenses?  Are losses a cost of doing business?  § 165 (d) Losses from wagering are allowed only to the extent of gambling gains.  Can deduct losses to the extent of winnings.  If he wins 70K he can deduct 70K but nothing beyond that. 

gross income = 76K Adjusted gross income = 

§ 62 determines whether above the line or below the line. If he’s in the trade or business under § 62(a)(1) its an above the line deduction.  So have to decide if gambling expenses are legitimate trade or business expenses.  [in this case, whether he was subject to a min. tax depended on whether it was above the line or below the line.]

Court’s definition of trade or business (p. 427):

full-time

in good faith

with regularity

to the production of income for a livelihood, not a mere hobby.

Problems p. 428

a. Under 75-120 – Unless you have an existing trade or business, can’t deduct these expenses.

b. Don’t have to include reimbursements in gross income.  Gotchar case: doing it for benefit of future employer.

c. If already a lawyer, expenses are deductible.  If changing jobs within same profession expenses, other than clothes, they are deductible.  Only uniforms.

d. What if changing professions, those are not deductible. 

Current v. Capital Expenditure – Can only deduct non-capital expenses incurred in business. 

E.g. building a new plant, if deduct the cost of the plant in one year can’t match expenses to income over time

262(a) – Can’t deduct something with extended useful life.  Get a basis = cost of plant, depreciate it over the years as a cost of doing business in that year. 

Problems p. 446

6-6

a. New roof on residential property is never a current expense.  It is a capital expenditure. A repair is not deductible either b/c it is a personal expense. 

b. Contrast this to new roof on business property, i.e. warehouse. The tax counsel of co. will always be trying to make these business expenses b/c they will be deductible.  If have to capitalize them, will get less deduction per year. No advantage to co. 

6-7  Professor has contract to publish book, some support from university, some at his own expense. 

a. See § 263A(h) Exemption for free lance authors: Deductible expenses: useful life < 1 year: paper & pencils, photocopying, books, salaries.

Non-deductible, capitalized: word processor.

b. Are the deductions, if any, taken in arriving at AGI?  § 62 (4) royalties – deductions related to producing royalties are “above the line” § 62 deductions(this is the best kind). 

SPECIFIC CATEGORIES OF BUSINESS EXPENSES

Business-related Travel:  §§ 62(a)(1), (2); 162(a)(2);  262; 174(c), (m)(3), (n)

Regs: §§ 1.162-2, 1.262-1(b)(5)

§ 162(a)(2) –deductions for travel and travel-related expenses: 

travel or travel-related (including meals & lodging)

incurred in pursuit of the TP’s trade or business

incurred while away from home

§ 262  -- no personal deductions including travel

Commuting expenses are never deductible. The Court views the decision to commute as a personal choice.[Flowers, 1946]. 

The expense must be necessary to the pursuit of business.  If the job does not require the commute, it is not necessary. 

Even in cases where housing was not available within the proximity of the taxpayer’s job site, and the commute was not based on the TP’s choice, commuting expenses could not be deducted. [White, 1972, White Sands Missile Range case]. 

Trailer Rule: Exception to Flowers, if transporting job-required tools to and from workplace expenses are deductible. [Fausner 1973]

Two Job Rule:  When the TP incurs expenses traveling between two or more places of employment.  Dr. can deduct traveling from office to hospital but not from home to hospital. Must be between two places of employment. Intra-work travel.  

* Usual case is where the doctor goes from home to office (30mi) and then 1 mile from office to hospital.  Then wants to come directly home from the hospital.  That trip from home to office & from hospital directly home is not deductible.

Problems p. 450

6-8 Cannot deduct commuting expenses.  They are never travel expenses. 

6-9 Can deduct expenses to and from job.  

6-10 Trailer rule: amount attributable to carrying tools = $1/day drive + $5 /day for trailer.  $5 is definitely deductible. Don’t get any of the costs associated with the car  b/c lots of people drive cars to work. 

Travel Away from Home—162(a)(2)

Has to be ordinary & necessary

In pursuit of trade or business

While away from home – Correll, sleep or rest rule.

Look at the parenthetical:  amounts for meals while away are manna from heaven, have to eat anyway.

“other than amounts which are lavish or extravagant under the circumstances” – IRS does not generally police this very closely. The hotels and restaurants are almost always lavish. 

includes the full cost of transportation & lodging

55% of meals

Sleep or Rest Rule: U.S. v. Correll, 1967 – sleep or rest rule: although travel may be away from home if neither sleep nor rest is required, not deductible. Doesn’t matter how far one travels but how long. Sleep or rest need not be an entire 24-hour period – RR workers who were released to sleep b/f starting their return trips, deductions allowed b/c it was reasonable to sleep first.  This would apply to pilots, stewardesses, nurses who may be sleeping over though not in a 24-hour period.

Business/Pleasure Travel

Domestic Travel – All or nothing rule based on pain to pleasure ratio.  On trips in which TP engages in both, transportation costs deductible only if the primary purpose of the trip is business. Disallowed entirely if business is not primary purpose. 

If  business is primarily personal can deduct other travel expenses (50% of food, lodging) on days devoted to business – 1.162-2(b)(1).  274 (n) – limited to 50% of meal and entertainment expenses allowed as deductions.  Why is Congress disallowing 50%?  They figure there is so much pork in the meal ticket that they are going to  chop off half of it. Disregard 55% when come across this in book, should be 50%. 

Deciding primary purpose of trip: not always a time test, though time is an impt. factor. Based on analysis of all facts & circumstances – 1.162(b)(2)


Foreign Travel – 274(c) & 162(a)(2)

transportation costs incurred from foreign travel are to be allocated by reference to the number of days devoted to business v. personal travel. 

A day is devoted to business if the TP’s principal activity during business hours is business. 

Travel days are considered business days if the TP can establish that he or she was traveling in pursuit of trade or business. 1.274-4(d)(2)(i)

Before 274 limitations apply primary purpose of trip must be business.  If not none of the expenses are deductible. 

Even if 274(c) applies, TP may deduct meals, subject to 50% limitation of 274(n) and lodging allocable to business. 

Two exceptions to 274:

274(c) applies only if trip is > 1 week, not counting the first day of travel but does count last day of travel. 1.274-4(c)


only applies if non-business activity is >25% or more. 

Spousal Travel on Business Trips – 1.162-2(c) – must show that the spouse’s presence on the trip served a bona fide business purpose.  Performing incidental services does not suffice. 

274(m)(3)-- Three Part Test for Spouse’s Business Travel:

Spouse must be an employee of TP

Must be for a bona fide business purpose

Expenses must be otherwise deductible


If spouse’s travel is personal must deduct % increase in cost of hotel room.


Problems p. 457

6-11

a. Can he deduct any portion of airfare?  Yes, transportation expense is related to pursuit of trade or  business.  Do you back him out to coach fare? If consider 1st class lavish & extravagant, might argue for coach only but there are not regs or revenue rulings specifically addressing this. His lunch and dinner are not deductible b/c of sleep rule and Correll.

b. 10 days of domestic travel. 1st day & last day traveling.  6 days business/2 days sightseeing ( transportation costs all deductible. Meals & lodging 6 days worth are deductible. What about travel days?  If trip primarily business, travel day food & lodging are deductible. 

b. 2. What if 2 days of play were Sat & Sun when clients couldn’t do business. So these are down days that can count as business days if sandwich them in.  

b.3. 6 days sightseeing/2 days business ( no trans. costs. Can only deduct 50% meals and lodging on 2 business days.

4. Trip to Paris, with Sat. & Sun. sightseeing.  1,274-4(d)(iv)  Embedded travel days are counted as business days. 

5. Trip to Paris.  2/6 ratio.  If flunk primarily test get none of airfare. Can get 50% meals & lodging.  Can’t pro-rate personal trans. costs b/c primary purpose is not business.

c. 1. Spousal travel, not an employee ( no deduction.

c.2. If wife is paid a “fee.”  Depends on fee, was she an employee is the real test.

c.3. IF only entertain once, probably lose any spousal  deduction.

c.4. If she does not qualify for spousal travel, lose % of hotel room attributed to her. 

The Tax Home Doctrine

Temporary v. Indefinite Travel

temporary or indefinite rule – if the actual & anticipated duration of stay at a remote post is > 1 year, the presumption is that the employment is indefinite. (162a3)

Taxpayer’s Home under 162(a)(2) :

the TP’s regular or principal place of business

if no reg. place of business, then at the TP’s place or abode.

Travel expenses  incurred with a temporary work assignment are deductible.

If employment expected to last < 1 year its considered temporary.

If employment expected to last > 1 year, its considered indefinite even if it lasts < 1 year.

If expected to last < 1 year, and winds up lasting more than a year, employment treated as temporary until the date that the TP’s realistic expectation changes. 

Tax Home

Hantzis , 1981 

The recency of entry into a trade or business does not preclude deducting travel expenses.  Whether a second residence is deductible depends on the reason for maintaining two residences. 

If the trade or business requires maintaining two residences, the cost of the second will be deductible as travel away from home. ( when the TP has a business relationship to only one location, no traveling expenses are allowed.

A TP’s home is where the TP’s principal place of business is located. [Daly, 1981]

Problems p. 469

6-12. Is it temporary? Yes.  Actual & anticipated duration = 4 months. Is he away from his tax home?  Yes. MSU is his tax home.
 He is in travel status, temporary status. 

What can he deduct in travel status?

transportation expenses to UM

can deduct his lodging but not his family’s so some % of $600. Might be able to deduct the whole thing depending on how its presented.  Its not as simple as dividing by 3.
Meals --- if family accounted for some % have to figure this out. 
Gas – commuting in UM: these are probably deductible as costs of local transportation while on travel status.  Can make an argument for deducting.
Wine – depends on if its part of meals or not. 
b. No deductions if he is there for 3 semesters, > 1 year, indefinite.

c. Rev. ruling 93-86 if he thought it was going to be temporary and then things changed
he’s in travel status until Dec. 1 and then his tax home becomes UM after he returns. 

Seems like he got this one wrong. If he accepts the job and then returns to fulfill the obligation where is his tax home? If his tax home doesn’t change until he comes back for the fall semester then his home may remain MSU. 

d. Instead of returning  he stays.  Cut him off at least on Dec. 1 b/c his tax home has changed after that point and he is not returning. 

6-13a. no. Hantsis.  Not traveling in pursuit of trade or business. 

b. drives a cab for 1 shift when he returns.  No, just window dressing.

c. irrelevant. no deduction.

d. irrelevant.  no deduction.

e. Bringing work home doesn’t change anything. Attending weekend meetings in Houston –if required to do that might look like a deductible item travel away from Dallas, his tax home and on travel status. 

f. Sue’s consequences – travel status like a visiting professor. 


Entertainment Expenses

Code §§ 162(a); 274

274 doesn’t grant any deductions, it’s a disallowance provision.

Have to meet 162 first which does grant deductions (ordinary & necessary).  

274 requires: “Directly related” or “associated with” (looser standard).  If “associated with” must directly precede or follow a bona fide business discussion. 

1.274-2(c)(3) Directly Related Requirements:

(i) must have a reasonable expectation of deriving income or some other specific business benefit,  other than good will.  Can’t just be trolling for clients.  The TP is not require to show that the intended benefit actually resulted. 

(ii) Must be actively engaged in a business meeting, discussion, transaction. This excludes professional wrestling, concerts, activities where it is impossible to have a discussion.
(iii) – principal reason for the entertainment was the TP’s trade or business.


1.274-2(c)(4) – in general an entertainment expenditure may be deemed directly related to the active conduct of the TP’s business only if the entertainment occurred in a business setting. 1.274(c)(7) – if incurred in surroundings in which there is little or no possibility of engaging in business discussions(rock concerts, etc.), the expenses will not qualify as directly related.

1.274-2(d) – expenses associated with business are deductible if they precede or follow a substantial, bona fide business discussion.  

1.274-2(d)(3)(i) – this does not require that more time be spent on business than entertainment. 

1.274-2 (d)(3)(ii) – unlike the directly – related-to requirement, associated-with business entertainment can be for the purpose of maintaining customer good will.  
There is no requirement that any business discussion actually take place during the entertainment.   

Entertainment occurring on the same day will generally satisfy the directly preceding or following requirement but if the two do not occur on the same day, the facts & circumstances of the situation or examined (place, date, duration of business discussion). 
Entertainment Facilities
“any item of real or personal property owned, rented or used by a TP for or in connection with an activity normally considered to be of an entertainment nature.”

1.274-2(e)(2) examples include yachts, hunting lodges, fishing camps & homes in vacation resorts.  

After 1978 Amdt -- IRS wants to be careful that these are not disguised compensation.  No deduction permitted for expenses relating to most entertainment facilities.

Substantiation Requirements of 274(d) 1.274-5T

Have to meet these requirements b/f the rest of requirements are even considered.  Applies to travel expenses, entertainment, gift expense.

TP must now produce adequate records or evidence of corroboration:

the amount of the expense

the time & place of the event giving rise to the expense
the business purpose of the expense
the business relationship between the TP & the person benefited by the expense


The Cohan Rule -- the Cohan rule of approximation is gone with respect to travel & entertainment.  For other deductions it may still apply 

1.274-5T(c)(2)Credit card statements are not specific enough  b/c no business purpose or who was with you.   Account books, diaries, statement of expense, receipts which can establish:

amount

time

place

business purpose

business relationship between the TP and beneficiary of the expenditure

274 (n) 50% ceiling on otherwise allowable meal & entertainment expenses (recognizing personal consumption benefits). 

Problems p. 480

6-14. On personal vacations reviews restaurants & hotels. 1.274-2(b)(ii). Is this entertainment or not. What is the primary reason for the trip.  If its vacation, then she gets to deduct nothing.  But if the primary purpose was to gather information for the books she can probably deduct the costs of her hotel room and meals.  

6-15. personal injury lawyer looking for clients.

a. Can’t deduct trolling for clients in the indefinite future.

b. Money for dinners discussing cases with clients is deductible. $500 deductible.

c. “Associated with” can deduct 50%.

d. He is trying to procure her business. Are these dinner directly preceding a substantial business discussion.  1.274-2(d)(3)(b)(ii) – directly preceding or following. 

1.274-2(c)(3)(i) directly related  -- at the time of making the expenditure must have more than a gen. expectation of something indefinite in the future.  He has a specific aim in mind, not a general one so maybe he meets the “directly related” test.  

So there are arguments under both prongs.   

1.274-2(c)(7)(ii)(a) – cocktail lounges & bar aren’t conducive to business discussions so if that’s where they were, no dice.

6-16. Club membership is used exclusively for pandering to clients. 274(a)(3) both initiation & membership fees are no longer deductible.  In the old days the initiation fee was a capital expenditure and would not be deductible while dues would be. 

Business Meals

1. Meals not away from home:

The old rule said they were deductible if the meal is different from or in excess of the normal meal – Sutter quoted by Posner in Moss.  On its face this rule doesn’t make a lot of sense. 

Since Tax Act of 1986 have to meet 274 and substantiation requirements.

Cost of business meals must exceed the amount of personal meals. [Sutter, 1953]  This policy cause TPs to be treated differently based on their personal eating habits.

119 – Meals of lodging furnished for the convenience of the employer.  This is different b/c not seeking a deduction, this is an exclusion from gross income.

(a) furnished to employee, spouse & dependents:

for the convenience of the employer

meals furnished on the business premises

2. Meals away from home are generally deductible if meet these requirements:

162(a) traveling expenses

162(a)(2) no deductions for lavish or extravagant meals.

Problems p. 489

6-17 a. Requested to eat lunch with employees one day a week can she deduct if she generally doesn’t eat lunch.  Under Moss her argument is stronger b/c its not every day but it is every week.  Can argue either way but Ascher thinks not deductible.

b. If it costs more than what she usually eats might be deductible.

c.  if employer requires her to it makes her case stronger but it doesn’t appear to involve a substantial business discussion under “directly related to” test.  But under “associated with” test, she might meet the requirements. “ Associated” with test may not work here b/c you are always going to or coming from work with a business lunch. 

Education Expenses

§ 162 (a) controls the deduction of business-related educational expenses

1.162-5(a) Two additional requirements:

1) maintains or improves skills required by the TP’s employment or other trade or business.

2) meets requirements imposed by the employer, or applicable law or regulations, as a condition of retaining the TP’s established employment relationship, status or rate of compensation. 

1.162-5(b) -- Even if an expense meets one of these requirements, will be disallowed if expense incurred:  THESE ARE THE TWO DISQUALIFIERS:  BASED ON THESE NO J.D. OR M.D. DEDUCTIONS.

1) to meet the min. educ. requirements of the TP’s employment or other trade or business or

2) is part of a program of study qualifying the TP for a new trade or business.

Convention Deductions

Sufficient Relationship Test – is there a sufficient relationship between convention attended and TP’s trade or business. 1.162-2(d)

“referral standard” – activities that generate business

“agenda standard” – relationship between the agenda and the trade or business.  This one is favored by IRS b/c it is more objective.

Even if convention expenses qualify under these two tests, travel expenses should be tested separately under the primarily related test 1.162 –2(b)(2)

1.162-5  Only expenses for meals, lodging, registration & materials – expenses that can be characterized as educ. expenses can qualify as convention expenses.  Must run meals through 274 (k) & (n).  If international --274(h). 

McCann v. U.S – if the promotion of the trip emphasizes pleasure over education, and the amt of time in seminars is min. trip will not be deductible. 

Two methods of reporting reimbursement – no deduction if being reimbursed by employer. What if reimbursements and deductions not equal or if you’re reimbursed for more than is deductible, might have a problem. 

In theory you would include in gross income every penny you got reimbursed and then proceeded to deduct everything you can deduct. There is however an alternative path:

1.162-17 (b)– netting reimbursement & authorized expenses together. 

(1) Reimbursements = Expenses – if they are equal, have to put a statement on return that the reim. = deductions and that expenses are ordinary & necessay.

(2) Reimbursements > Expenses – then you have gross income.

(3) Expenses > Reimbursements – then you have deductions. 

Compare to § 62:  Tells which is above the line or below the line, doesn’t grant any.

62(a)(1) – salaries are above the line unless 

Employees & their 162 expenses are usually below the line.

Employers & their 162 expenses are usually above the line. 

But if you get reimbursed for your 162 expenses, they move above the line 62(a)(2)(A).

Problems p. 492

6-18.  Not directly related ( no deduction at Economics Teachers Conv. 

b. State bar Convention; what was primary purpose of travel. 1.162-5(e)(1) ratio – 3:4 ratio. ( he would have to develop a lot of other facts & circumstances to make the primary purpose business.  If not business he gets 3 days of lodging & meals only but no transportation expenses. 

c. ABA convention in London. 274(h) foreign conventions. Must be directly related & the purpose & activities, residences, etc.  It is just as reasonable for the meeting to be held outside the North American area as within the North American area.  It is virtually impossible to meet this test but the ABA obviously thinks they can meet them.  

Argument – returning to origins of Amer. law.  

Global economy. International implications of practicing law. 

So to answer problem its all deductible except 50% of meals. 

6-19 Iowa CPA 

definition – not outside the N.A. area so not in (h).  ( this is deductible.  To maximize her deductions should keep  the play days < business days. She should attend the lectures, submit her agenda.  Needs at least a mim. of one talk per day. 

6-20  Trip to Africa for Anthropology teacher. 272(m)(2) not generally deductible. This is going to be hard to justify. 

Travel as Education Expenses  [Hilt]

274(m)(2) – disallows any deduction for travel, for its own sake, being a form of education.

Minimum Education Requirements – 1.162-5(b) – are not deductible.

Wassenaar – if the TP is already firmly established in his profession & is taking courses to maintain or improve that is deductible (Coughlin). 

He had no employer so wasn’t required

Since he wasn’t a lawyer, not required to improve his skills.

The court combined the JD and LLM as one program of study b/c he had not practiced. 

1.162-5(b)(3) – if the education being pursued to qualify for new trade or business, no deduc.

Educational expenses must bear a direct & proximate relation to the TP’s trade or business.  Not sufficient that the petitioner’s education is helpful to him in the performance of his employment. [Carroll]

Ruehmann – claimant gets a job, works during summer after law school then goes to Harvard for an LLM.  He is allowed to deduct b/c he worked in the profession prior to getting LLM.  He probably wasn’t actually practicing law at that point b/c he had not passed the bar. 

New Trade or Business Limitation – 1.162-5(b)(3)(i) – court tends to read this very narrowly and finds new trade or business very readily.  See Sharon holding that private law practice & Service tax practice were not the same trade.  See Vetrick  where obtaining a law degree was disallowed. 

However Toner, allowed a teacher with H.S. diploma to deduct costs of degree even though none was required. Policy decision to encourage further education by teachers. 

Problems p. 498

6-21. Paralegal goes to law school.  Gross income not deductible .  

What if she’s an accountant who goes to law school. No deduction

6-22. Practiced law in between degrees. This is pretty clean even though he was not admitted to bar. Would have been stronger if admitted to bar first.  Deduct all but 50% of meals.

6-23.  Like Wassennar b/c he didn’t work ( not deductible. If he did claim them as deductible, how to maximize tax savings, if can shift tuition expense into year with higher income can max. tax savings. 

E. DEPRECIATION & COST RECOVERY

To stimulate economic growth, TPs can recover capital invested in certain assets that have a finite physical or technological life. 

capital expenditures – expenditures for tangible or intangible property that will be used for more than one year and incurred in producing income or in trade or business.

§ 167 – old stand by, does govern property placed into service b/f 1981

§ 168 –  Post – 1981 Act: inducements to the business community, ACRS allows deduction more quickly. 

These rules don’t have to relate to economic reality, e.g. Simon.

Can never depreciate land.  Can depreciate buildings even though their value tends to go up. 

1. Depreciation – need to match expenses with income they generate. To match a capital expenditure properly to annual income it generates need to captialize & amortize the cost of the asset over its useful life.  The useful life of the asset must be finite or ascertainable.  Assets such as land, which have an infinite life, are not depreciable. 

Depreciation also helps reduce taxable income and tax liability and retains more income that can be used to purchase a new asset to replace the old one.  If the asset is depreciated totally, its basis will be zero even though it still has a market value.  This occurs b/c depreciation allocations do not track fluctuations in value of an asset.  

Differences in methods of cost allocation  b/w accountants & legislators for two reasons: 1) legislators want to provide TP a deduction for the reasonable business – related costs denied by 263 capital expenditure limitation and 2) to implement a national economic policy that encourages capital investment.

 § 167 Straight—line depreciation  = (adjusted basis of asset – salvage value)/ useful life

e.g for 20K asset w/ salvage value of 5K and useful life of 4 years:

(20 – 5)/4 = $3750   straight line rate = 25% per year

§ 167(b) accelerated methods of depreciation:

declining balance method

sum of the years digits method

These methods allow TP to deduct more of the cost in the year of purchase. 

declining balance method for asset with useful life > 3 years:

used property limited to rate of 150%

new property rate of 200% (also called double declining method) ( take 2x the straight line rate. e.g . (2 x 25% ) =  50% 

The declining balance method did not deduct the salvage value from the adjusted basis of the asset. So from our example above:

Year of purchase: 20K x 50% = 10K deduction. Declining balance thereafter = 10K

Year 2: 50% x 10K = 5K

Year 3 only 5K left which was salvage value ( no further deductions.

ACRS

1981 Congress enacted the Accelerated Cost Recovery System (ACRS): § 168 disregards salvage value in computing cost recovery removing it as a potential issue for litigation.  ACRS sets statutory periods (useful life) over which allowable deductions may be taken in order to eliminate this controversy as well. 

1986 Tax Reform Act – 168(c) modifications – 10 classes of years.

Now for property in 3, 5, 7 & 10 year classes use the double declining method switching to the straight line method at a time to maximize the depreciation allowance.

Classes of property:

3 –year class – ADR midpoints of 4 years of less (except cars, light trucks) includes horses

5 – year class – ADR midpoints of > 4 years and < 10 years. Includes cars, light trucks, tech equip. research & experimental equipment, energy, computer-based telephone

7—year class  -- ADR midpoints of 10 years and < 16 years – Includes single purpose ag or horticultural structures & property

10—year class – ADR midpoints of 16 years and < 20 years

For property in 15 & 20—year class, 150% declining balance method, etc.

15—year class – ADR midpoints of 20 years and < 25 years, adds municipal wastewater treatment plants, telephone distribution plant, etcl

20—year class – ADR midpoints of 25 years and more, adds municipal sewers

The cost of section 125o real property is recovered over 27.5 years for residential rental property and 39 years for nonresidential property using the straight—line method. 

Accounting Conventions – all property placed in service or disposed of during a taxable year is treated as placed in service or disposed of at the midpoint of such year.   If the taxable year is < 12 months, property is treated as being in service for half the number of months. 

Ceiling for expensing:

< 200K: 20K for the year 2000; 25K for the year 2003

If investment > 200K, ceiling is reduced by one dollar for every dollar over 200K

The amount eligible to be expensed is limited to the taxable income derived from the active trade or business in which the property is used. 

Once a TP determines that property is subject to § 168, provisions are mandatory unless straight—line depreciation is elected under § 168(b)(5). 

To work a problem determine 1) applicable depreciation method i.e. class of property 2) applicable convention – midpoint, etc. 3) applicable recovery period i.e. from class. 

e.g. 3—year property (168(e)(1)) worth 20K

Under 168(b)(1) use the 200% declining balance method

Under 168(d)(1) use the half—year convention ( half-year depreciation allowed in first year regardless of when property is placed in service.

Year 1:  (66 2/3 % x 1/2 x 20K) = $6667

Year 2: (66 2/3 % x 13334) = 8889

Year 3 (66  2/3 % x 4444) = 2963

Year 4 can deduct the greater of (66 2/3 x 1/2 x 1482) = 494  or  the straight—line amount of 1482 subject to the ceiling of the amount of the asset’s cost which has not been depreciated. 

If 100 percent of the cost of the asset is depreciated, at the end of the recovery period, 

 basis = 0.  (§1016(a)(2))

Simon, 1995 – Test for Depreciable Property = whether property will suffer exhaustion, wear & tear, or obsolescence in its use by a business.  

Mixed Use Assets -- § 280(f) – an asset purchased for both business & personal use. 

Generally applies to cars, other modes of transportation (airplanes), computers, property used for entertainment, whatever regs specify.

Must be predominantly used in a qualified business to be entitled to accelerated depreciation, > 50%. 

If the business use the first year is not > 50% must use straight—line method (168g). 

If the business use falls to < 50% depreciation taken in earlier years under accelerated method is to be recaptured.

Limitation on Depreciation for Luxury Automobiles – there is a maximum dollar amount per year if for 100% business use. If use only 75% for business can only take 75% of maximum.

Personal Use of Automobiles & Other Property

Cannot use ACRS recovery if use for personal purposes > 50% of property’s use. 

This applies to autos and “listed property” (means of transp., entertainment property, computers). 

Use by 5% owners – qualified business use does not include leasing property to any 5% owner or to provide compensation for the services.

The personal use by other employees does not qualify unless the FMV of use is included in the person’s income. 

50% test – if qualified business use does not > 50% , must compute depreciation on a straight—line basis using a half-year convention and w/o regard to salvage value. 

A reduction in qualified business use portion from above 50% to below 50% in any year triggers recapture of the excess depreciation. 

Allowable Portion of Depreciation Deductions – Qualified business use % only determines method.   Still have to base amount of depreciation, and add & used in a trade or business + % used to produce income to get allowable depreciation. 

Amortization of Intangible Assets

§ 197 permits the amortization of many intangible assets including goodwill over 15 years.

§ 1060 determines the portion of the purchase price allocable to the amortizable intangible. 

Applies to things like patents, a covenant not to compete.

The intangible cannot be created by the TP. It must be created in connection with a transaction that involves the acquisition of a trade or business. 

Section 197 Eligible:

Goodwill & going concern

Related to workforce, i.e. information base, know-how, customers, supplies

License, permit or other right

any covenant not to compete

franchise, trademark or trade name

Excluded property

Any interest in a corporation. 

Problems p. 528

6-27 $12,500 asset with salvage = $2500

a. Straight line method:  (12,500 – 2500)/ 4 = 2500

Year 
Basis
Current deduction

1
12500
2500

2
10000
2500

3
7500
2500

4
5000
2500

5
2500 = salvage value  Under § 167, once you hit salvage value, no more depreciation

Under § 168, however, salvage value is no longer considered, can deduct even though there is a huge salvage value.

b. Double declining balance method – still not ACRS:

if divide over 4 years, depreciation rate = 25% x 2 = 50%

Year
Basis


Current deduction

1
12,500 (50% x 12,500)
6250 – bigger deduction in year 1

2
6250
(50% x 6250)

3125

3
3125    (50% x 3125)

  625 – can’t do whole value b/c salvage = 2500

4
2500     ( still limited to 2500 salvage & 10,000 total deductions.

c. 3 year property ( ( 1/3 rate but double that = 66.7%), 12500, ACRS

First year convention = 1/2 
§ 168(d)

Year
Basis

Current deduction

1
12,500

4167
(1/2 x 2/3 x 12,500)

2
8333

5555
(2/3 x 8333)  ( bigger deduction in year 2 than year 1.

3
2778

1778
[4,167   (12,500 / 3) but can’t do that either b/c now below basis], have to go to 2778 and stop there.
 [1852, under DD but not going to go there]

168(b)(3)(b) can go slower e.g. a 3 year straight line method:

Can elect out of ACRS and go straight line but have to take 1/2 year convention. 

1
12,500

2083

(1/3 x 1/2 x 12500)

2
10417

4167

3
6250

4167

4
2083

2083
running up against basis, can’t deduct more than total basis.

168(b)(1)(b)  after a while double declining balance gets small, so there’s a switchover point to straight—line depreciation. So when get to < 2500 which would be straight line

§ 179 can deduct in the year of acquisition the entire cost of a capital asset by “expensing it.”

Only available for a limited amount of property, tangible personal property like machines. 

Amounts limited: 179(b)(1)

IN year 2000: can only expense up to 20,000 in year 1

e. If he applies 179,deduction = 12,500  basis at end = 0

Elect 179 amount to the max if you qualify (unless anticipating huge losses). 

280F Mixed Use Assets  -- Tax Reform Act of 1984 – attacked luxury cars. 

No matter how much you paid for a car only have certain deductions. 

Listed property for mixed-use property 280F(d)4(a) = cars, computers  

Listed property must be used at least 50% otherwise have to use alternative ACRS 169(g) = straight line, tortoise-like deductions.

6-28 airplane, 96K

a. used for business purposes 70% of time, 5 year class

1/5 x 2 x 1/2 x 96K x 70% business use = 13,440

Year
Basis

Current Deduction

1
96000

13,440

b. < 50% business use  1/5 x 1/2 x 96000 x .35% = 3360. ( if use airplane to play get a lower deduction

Home Offices -- § 280A(a) to (c)(1)

In general, these are very difficult to deduct.

Must be exclusively used on a regular basis as

principal place of business

as a place of business used by patients, clients or customers

if a separate structure, not attached to dwelling, if used in connection with trade or business – this is the easiest way to get a deduction. Looser standard. 

if an employee, use of home office must be for the convenience of the employer – this is very difficult to meet especially if have office at employer. 

§280A (c)(1)-(4)

storage

renting out a room

day care

In general the 200s are disallowance provisions, no good news for deductions.

Possible items of deduction: depreciation, utilities, phone bill.  These extras are what we are talking about being able to deduct a fragment of if expenses incurred in trade or business. 

Soliman Case – Anesthesiologist has no hospital office but a home office. Wants to deduct home office. Sup. Ct. says no. 

1) no non-attached building

2) never met clients at home

3) not his principal place of business – OR was. 

Congress overruled Soliman in 280A(c)(1)(C) – “principal place of business for administrative or management activities” Almost never applies to employees only to self-employed or independent contractors. 

Problems p. 533

6-29 Mary works at home in basement knitting sweaters. Basement must be used exclusively for her business. This problem doesn’t tell us that. If assume that it is, is it her principal place of business? If so, she can deduct. 

6-30 CPA working at home.  Don’t know if this is exclusive use. If it is exclusive, is it regular? No ( no deduction.  Her principal place of business is her office.  

b. If planning for her, needs to meet some clients at home.  IF she meets clients, it doesn’t have to be her principal place of business.

6-31.  How much can a TP deduct if they meet 280A.  1.280A-2(i)(3) – can use whatever is reasonable under the circumstances.  Per room basis if all the rooms are the same size. Square footage basis – total floor space.  Its hard to know square footage.  

CAPITAL GAINS & LOSSES

In general, all gains realized are recognized, included in gross income.  Losses are often deductible under §165.  Limitation on losses of individuals ( trade or business, loss after transaction for profit, losses of profit from fire, storm, shipwreck, casualty or theft). 

Capital gains & losses include mutual funds.  These losses are deductible b/c incurred in the production of income. 165(c)(2). If you sell your house or car at a loss, no deduction.

Long –term capital gains -- > 1 year.  When long term appreciation is realized, TP is being inconvenienced in two ways:

bunching – gain accrued over several years must be realized in year of disposition. Can cause increased taxes.

lock-in effect – investors are locked into profitable investments b/c of tax liability of divesting. 

Therefore to make up for these 2 effects, Congress gives favorable treatment to long term capital gains. 

The old §1202 deduction excluded 60% of captial gains from taxation. So taxed on only 40% at a 50% rate = 20% overall rate. 

Now the rate is 28% for LTCG.  Now that the max. tax rate is 39.6% there is a preference for LTCG. 

Predecessor of 1(h): If ever repeal rate structure, 1(h) was activated (holds capital gains to 28% if other tax rate increases). 

1) What is a Capital Asset

Capital Asset – if something that you’re buying has a useful life> 1 year, capital expenditure on that.

Captial asset for Capital Gains purposes -- § 1221

Does not include stock in trade, inventory and depreciable property.  Would include your car, house, anything that is not depreciable. 

2) What is long term v. short term – 1222,(1-4)

If held longer than a year = long term. 

3) Net long or short term capital loss or gain 1222 5-8

4) Net capital gain 1222 (11) – net capital gain will endure though preference given to LTCG may vary.

Mechanics of Capital Gain & Loss

In general all recognized gains, capital or otherwise, are included in gross income. 

Netting (1222)– comparing amount of capital gains and losses. 

3 Possible Results from Netting:

1) a net capital gain

2) a net capital loss that is deductible subject to limitations of 1211(b)

3) a net capital loss that is not currently deductible as a result of 1211(b) but may be carried forward by 1212 to later years. 

61(a)(3) – includes in gross income all gains recognized from dealings in property. 

Gains – require realization & recognition b/f characterization

Losses – same applies + must be allowable under 165(c).

§ 165(c) Allowable Losses for Individuals:

arise in a trade or business

from a production in income activity

from a casualty loss

After qualifying under 165 (c), then go to 165(f) which applies 1211 & 1212. which govern the amount & method of capital loss deduction.

Capital Loss Deduction – 1211(b)

All capital losses can be deducted to the extent of all capital gains.

losses in excess of gains -- 1211(b) second part applies:   amount deductible is the smaller of 3000K or the excess of capital losses over capital gains. 

When capital losses exceed 1211(b) amount, 1212(b) applies to carry forward the excess net capital loss to the subsequent taxable years where it retains its character as a short-term or long-term loss. 

Carryover of Capital Losses – 1212(b)

Losses carried forward retain their original character & are treated as though they were sustained in the year to which they are carried. This means you apply the loss against losses of a similar character, if they exist, in the carryover year, i.e. short-term to short-term, long-term to long-term.  

In the carryover year, a short-term loss carried forward from a prior year is applied against the 3K ordinary income limit first.  If 3K limit not reached, then apply long-term to it. 

Capital Gain Exclusion

1202 provides for the exclusion of 50% of gain from the disposition of certain qualified small business stock(C  corporation). The remaining 50% is not taken into account in computing long-term capital gain or loss but may qualify under 1(h) for a max. tax rate of 20%. 

Problems p. 545

7—1:  LTCG = 10K + 15K = 25K  LTCL = 1K + 2K = -3K   

STCG = 5K  STCL = -7K 

a. Net STCL = -2  NSTCL§1222(6)

b. NLCG = 22
§1222(7)

c. Net Capital Gain (1222,(11))= excess of net long-term capital gain (22) over the net short-term capital loss for such year (-2) = 20

d. 1222(9) capital gain net income = 30 

Total gains of any variety for the year = gross income 25K(LT) +5K(ST)= 30

e. Yes he is entitled to a capital loss deduction under 165(f) b/c had capital losses in year that he had capital gains.  Even w/o capital gains in a year, capital losses might be deductible in a year. 165 – loss granting provision. 165(c)(2) and 165(f). 

According to 1211 if corporation could deduct it. If an individual(b), can only deduct if there are gains.  Capital losses are deductible to the extent of taxable gains + 3K for people, not corps. 

Captial Gains = 30, Capital losses = 10 ( all of his losses are deductible. 

f.  adjusted gross income – capital losses = 20K  (30-10)

§ 62 determines whether above the line or below the line 62(a)(3), capital losses are favored losses.

g. If no short-term loss, (§ 1222, 11) net capital gain = 22

1212(b)(1)(A): STCL  C—F = NSTCL – NLTCG

(STCL-STCG*) – (LTCG – LTCL)

[16 – (12 +3)] – (20-28)

1K – 0   This is 0 because there is no excess of gain over loss. 

1K = STCL   ( 8K = LTCL

adjustment for 3K deduction

1212(b)(1)(B): LTCL  C—F = NLTCL – NSTCG

(LTCL – LTCG) – (STCG * --STCL)

(28—20) – (12 +3 –16)

8 – 0 = 8K LTCL CF

7-2. LTCG = 5K + 15  = 20
LTCL = 3K + 25 = -28  Net LTCL = -8

       STCG = 12
            STCL = 2 + 14 = -16     NET STCL = -4

a. –4

b. –8

c. capital loss deduction(165(c)(2), 165(f), 1211-1212: 

first up to amount of total capital gain, 20 + 12 = 32, Total loss = -44

Deduct 32 + 3 from income = 35 total loss deduction. 

d. net capital loss  (1222, (10)) = Losses -- loss deductions 44 -- 35 = -9K, carry forward

e. 1212(b)(1):  Carry forward –4 of STCL + -8 LTCL, apply 3 of 4 STCL to income = 1 STCL

( 1K short-term capital gains , -8 K long-term losses.

f. adjusted gross income = 40 + 32 gains – 35 capital loss deductions = 37K 

or 40—37.  

Definition of a Capital Asset – 1221, 1235, 1.1221-1

1221 – Capital Asset =  any property held by the TP(whether or not connected with his trade or business) except for (1) – (5)

(1) stock in trade, inventory, property held primarily for sale to customers

(2) real or depreciable property used in a trade or business

(3) certain property created by the holder’s personal efforts – copyrights, music, paintings

(4) notes & accounts receivable received for services rendered or for sale of property, prevents conversion of ordinary income into capital gains

(5) federal publications acquired for < market value

Property Held Primarily for Sale

1221 includes inventory, stock in trade and “property held primarily for sale to customers in the ordinary course of business” – this last one has ill-defined boundaries.

Malat definition – primarily = principally. Differentiates between the profits & losses arising from everyday operation of business and the realization of appreciation in value accrued over a substantial period of time. 

More extensive court analysis

held primarily for sale v. investment – this is the hard one

initially courts applied a one-step dealer v. investor test.

“to customers” – added to distinguish stock investors from professional securities dealers & broker – those who sell to customers are comparable to a merchant dealing in stock of trade.

“trade or business” – turns on whether the sale or exchange was a routine transaction in the course of the TP’s everyday affairs of business. 

U.S. v. Winthrop, 1969 – developing land and selling it is excludable from capital gains. 

Winthrop argues his profits from sale of lots should not be excluded from capital gains b/c he had no office, used no brokers and no advertising was used.

Govt. response is that “the flexing of commercial muscles with frequency & continuity, design & effect does result in disqualification.” Winthrop had a singleness of purpose – to sell the lots and that was the prime purpose of the holding. He devoted a substantial amount of time, skill and resources to developing and selling the property and the sales were made in the ordinary course of business.

See tests for whether land was held for sale:  on page 552-3:  See also § 1237

nature & purpose of the acquisition of the property & the duration of the ownership

extent and nature of TP’s efforts to sell the property

number, extent of sales, continuity & substantiality 

extent of subdividing, developing and advertising

use of a business office for sale of property

character & degree of supervision or control exercised by the TP over any one selling the property.

time & effort TP habitually devoted to sales.

Suburban – both of these cases are highly fact specific. 

Even though property was acquired as an investment, the primary holding purpose changed. Court looked at Winthrop factors: frequency & substantiality of sales is the most important factor but the extent of development activity & improvements is also relevant. 

Liquidation of Investment Doctrine – capital treatment may result even if property is being held primarily for sale, if the sales are not in the ordinary course of business but in liquidation of a former investment. 

In liquidation , the investor’s primary motive for selling is a desire to terminate the business or investment for non-profit related reasons. 

Capital is preserved as long as the evidence indicates that disposing of the property, not making money from a new type of business was the primary purpose of the sales. 

Corn Products, Sup. Ct., 1955

Facts: Raw products are hard to get sometime so co. buys futures – right to purchase what they need in the future. Dispose of some of these contract rights

Were the K’s stock in trade – no

Were they inventory – not obviously so, maybe substitute inventory

Not property used in trade  or business, not held primarily for sale.

Court said that profits & losses arising from the everyday operation of a business should be considered as ordinary income.  Definition of capital asset must be narrowly applied and its exclusions interpreted broadly. 

Arkansas Best, Sup. Ct. 1988 – modifies Corn holding, narrows it to apply to that fact pattern – hedging transactions that are an integral part of a business inventory-purchase system fall within the inventory exclusion of § 1221.

Co. bought stock of another co. to make profit.  Is the disposition of the stock ordinary income?  

Holding is that regardless of the TP’s motivation in purchasing an asset, the asset is capital if not excluded and falls within the broad definition of the term “capital asset”, so stock is capital asset.

1221 (6) –(8) More Exceptions to Capital Asset, Get Ordinary Treatment:

(6) any commodities derivative financial instrument held by a commodities derivatives dealer. 

(7) Any hedging transaction which is clearly identified as such b/f the close of the day on which it was acquired.  It appears to be overruling Corn since in Corn Products, they did not identify the transaction as a hedging transaction & it was excluded as capital.


Hedging Transaction defined in 1221(b)(1)(B)(2)(i) – a transaction entered into to manage risk of price changes or currency fluctuations with respect to ordinary property which is held or to be held by the TP. 

(8) Supplies of a type ordinarily used or consumed by the TP in the course of a trade or business.

Problems p. 575

7-4 Why did she acquire the wines – b/c she liked them. She stopped drinking them and started investing in wine, advertising.

a. Were the wines held primarily for sale. Yes & No (she held them for 4 years, she got them b/c she liked them initially, not as an investment). 

Purpose of the disposition? 

Govt. would argue they were held primarily for sale, there were many sales, hired a wine broker and started advertising.  Was this a trade or business? She’ll say no b/c she had such a long holding period. Business people like a shorter holding period. IRS will say she bought many of these bottles of wine, etc. 

Are the sales in the ordinary course of her business? Is she a start-up then maybe or is she in liquidation mode.  Liquidation can be manipulated quite a bit.  But if she sold a 1/4 in one year and 55% in another year, resembles liquidation. 

b. Is sells the whole collection to one person = liquidation ( capital asset.

c. What if she has to sell, involuntary liquidation insures capital gain treatment. 

d. Yes. 

7-5. Copyrights to stories = writer’s income(ordinary) § 1221(a)(3). 

Patented dry-fly for 2K, 1235 Sale or exchange or patents = capital asset.

7-6 Price of down varies so Co. buys a Goose Ranch and buys a consumer of the product as well. Then they sale everything.

a. Character of the loss on the sale of the goose ranch?  Addresses differences between Corn PRoducts and Arkansas Best. Corn Products would suggest ordinary treatment.  Arkansas best  suggest this would be capital loss.

b. Character of gain on sale of futures = Corn Products ( ordinary income.  v. 1222(a)(7)

c. Character of gain on sale of the consumer = capital gain [Arkansas Best].

§ 1235 Sale of Exchange of Patents – patents are capital assets. 

§ 1237 Real Property Divided for Sale

Considered as not held primarily for sale if:

1. Was not previously held for sale to customers in the ordinary course, etc.

2. No substantial improvements were made. 

D. SALE OR EXCHANGE REQUIREMENT 1001, 1222

1001(a) –  determines those circumstances in which gain or loss whether ordinary or capital must be computed on“sale or other disposition.”

1222 – “sale or exchange”establishes a requirement that must be satisfied b/f a realized gains or loss may be entitled to capital asset treatment, narrower standard b/c not all sales or other dispositions = sales or exchanges. [Helvering v. William Flaccus Oak Leather Co., 1941]

Foreclosures and Abandonments and granting or lapsing of options do not qualify as sale or exchange for capital treatment.

Depending on how you dispose of the asset may lose capital gain treatment.  E.g. insurance compensation for loss of destroyed building was not capital gain. Abandonment not capital loss. 

E. HOLDING PERIODS

Holding Periods – Determines whether the gain or loss is short or long term. 

Day of acquisition excluded, day of disposition included. 

If exchange a deed, that is obvious but if you use an escrow account, not so clear when the holding period ended. 

IRS Rev. Ruling 69-93 – Realization occurs on the delivery of a deed or on the transfer of the benefits and burdens of ownership to the buyer, not by virtue of the execution of a sales contract. 

Merrill – Court concluded that remaining escrow conditions were insignificant in light of the benefits & burdens of ownership previously transferred and thus the escrow did not postpone the sale date or prolong the seller’s holding period.

Sale or exchange of multiple assets – when more than one asset is sold or exchanged in one transaction the holding period of each asset must be determined. E.g. the holding period of land and the bldgs constructed on it may be different. 

Sales of securities – Regs 1.1223-1(i) & 1.1012-1(c)(1) – apply a first in first out (FIFO) rule to determine the holding period and basis where the stock sold cannot be specifically identified. 

Citizen’s Natl Bank of Waco, 1969 – Is the TP-trustee entitled to tack the settlor’s holding periods to those of the trust? 

Tacking – either the TP’s holding period in a prior asset or the prior owner’s holding period is tacked on to the TP’s actual holding period of the newly acquired asset.

Tacking Statute, 1223(2) – If the transferee’s basis is determined in whole or in part by reference to the basis of the prior holder, the holding period of the prior holder may be added to the holding period of the transferee. 

1223(1) – if property is received in an exchange, include in holding period the period that he held the property he exchanged for it, if the basis is the same in part or in whole. 

§ 1015 – determination of basis for property acquired by gift =  donor’s basis unless the donor’s basis is > than FMV of property.

Under both subsections(1223 & 1015) the basis of the transfer in trust is in part determined by reference to the basis in the hands of the prior holder and would meet the requirement of §1223 permitting tacking of holding periods. 

Comm. said the transaction was in part a sale & in part a gift ( basis would be greater. 

Holding – trustee was entitled to tack the settlors’ holding periods to that of the trusts since both the gift and the sale subsections of 1015 employed words that would permit tacking. 

1223(11) Tacking from a decedent  – If property is sold or disposed within 1 year after the decedent’s death, then such person shall be considered to have held such property for > 1 year.  ( TP who inherits has an automatic long-term status.  This is better than tacking. 

Problems p. 593

7-11. a.  Aug. 28-Aug. 28 is short, remainder are long enough.

b. 25K a/R – 8k A/B – 17K

7-12, Sold 2 days short of capital gains status.  

Used escrow ( title doesn’t pass until well after the long-term period. In this case, contrast to Merrill, the buyers had not paid a significant part of the purchase price.(p. 588). 

Ascher would report as LTCG but under Merrill,  govt might have some arguments against you.   If all the money had been put into escrow would it look like the buyer had taken over from the seller on the earlier date?  Also the buyer took possession on June 2, early date and was fully responsible for maintenance, insurance, & risk of loss. 

Addendum: The photo studio may not be a capital asset under 1221(a)(2) b/c it is a building which is subject to depreciation.  He never used it in a trade or business even though he bought it for that purpose therefore if it was for personal use could have been a capital asset like his house.   

7-14A/R = 5, basis = 1500 = 3500 gain.  What is his holding period. He can tack parents holding onto his (1223(2)) and therefore he has long-term capital gain.

7-15. April 1 – June 1 next year = holding period for land. Sept. 1-June 1 = house holding period. 

Buy land for 50K and build house for 50K = 100K basis. Sell land and house after long-term period for land but prior to long-term period for house.  Land can have a diff. holding period than the house.

Problem: who assigns allocation values to land v. house. This is subject to debate b/c the buyer doesn’t care and will agree to any allocation. 

Land: 100K A/R  -- 50 A/B = 50K LTCG

House: Half within LTCG period and half not. 

L-T House: 37.5K – 25K = 12.5 K

S-T House: 37.5K – 25K = 12.5K

This is a stretch.  How can you prove that you spent 25K during one part of the construction v. the second part of the construction.  There are cases that give the TP a break in allocating these costs. 

7-16. Friend dies on April 14 and leaves a stamp collection worth 3K. How do you get basis – buy them one at a time.  Stamp collection assured viability of 1014 loophole. 

3700A/R –  3000A/B (at death doesn’t carryover, get step-up in basis based on FMV) = $700

Get automatic long-term holding period (  all isLTCG. 

F. SECTION 1231 – PROPERTY USED IN A TRADE OR BUSINESS

165(c), 1221(2), 1231

1221(2) disqualification (property used in trade or business subject to allowance for depreciation) is not complete until the effect of 1231 has been assessed.

1231(b) modifies 1221(2)  by permitting capital treatment on the disposition of certain 1221(2) property. 

1231 3 basic concepts:

1231 property

1231 events

the two-tier netting process

Categories of Gains & Losses Subject to 1231 Netting: 1231(a)(3) gives definition of 1231 gain 
(i) any recognized gain or loss from the sale or exchange of property used in trade or business –1231 (b) property.

1231(b) property – real property and depreciable property used in a trade or business may receive the benefits of long-term capital treatment even though they are not capital assets(this does not include property held in inventory or primarily for sale to customers). 

If gains exceed losses, all gains & losses are long term.

If losses exceed gains, all gains & losses are ordinary income. 

Either way the TP comes out ahead using 1231

(ii) any recognized gain or loss from the compulsory or involuntary conversion(i.e. theft, fire, storm, shipwreck, or other casualty, seizure, condemnation) of property used in trade or business or of a capital asset that is held for more than one year & held in connection with a trade or business or a transaction entered into for profit (1231(a)(3)). 

Includes:

I. property used in the trade or business, or

II. any capital asset which is held for more than 1 year & is held in connection with a trade or business or a transaction entered into for profit. 

1231(b)(1) Defines property used in trade or business. 

Two-Tier 1231 Netting

Has nothing to do with what is included in gross income. This just characterizes the income or the loss.  They will be includable or deductible under other provisions of the code. 

1231(a)(4)(C) – Tier One – involuntary conversions of 1231(b) assets & long-term capital assets held in connection with a trade or business or for profit– fire, storm, shipwreck, casualty or theft but does not include condemnations.  There shouldn’t be many of these in any given year. 

If the gains exceed the losses, combine these with Second Tier assets.

If losses exceed gains, 1231 doesn’t apply, go back into ordinary gains or losses.  This is good b/c the losses can be counted against income and b/c deductible in full, no limitations. Tier 1 gains & losses are characterized elsewhere if tier 1 losses exceed gains.

Second Tier – treatment as LTCG or LTCL

Tier 1 gains & losses if Tier 1 gains equal or exceed losses.  Want lower CG tax on these assets. 

Sales or exchanges of 1231(b) assets

Condemnations of 1231(b) assets or long-term capital assets held in connection with a trade or business or for profit. 

If tier 2 losses equal or exceed gains, all tier 2 assets will receive ordinary gain or loss treatment. 

1231(c) – recapture of ordinary losses – if in any of the preceding 5 years 1231 losses exceeded gains resulting in ordinary characterization, and if for the current year 1231 gains exceed losses then 1231(c) requires characterization of all or part of the gain as ordinary.  If the net gain for the year exceeds the non-recaptured losses , the excess will receive capital characterization. 

E & E Supplement  on § 1231 and depreciation capture

§ 1221(2) real or depreciable property used in a trade or business is excluded from the category of capital assets. Instead such property is § 1231 property if held for > 1 year.

Each year gain & loss on any item of § 1231 property is netted against gain or loss on other items of § 1231 property

If in a given year TP has a net gain on 1231 sales or exchanges, 1231 gains & losses are capital – though under depreciation capture rules, some 1231 capital gain may be recharacterized. 

If in a year a TP has a net loss on 1231 property the gains and losses are ordinary

If , in a given year, TP recognizes a net 1231 gain, but has taken an ordinary deduction of a net 1231 loss within the last 5 years, the prior ordinary loss deduction is recaptured by recharacterizing that portion of the net 1231 gain in the current year as ordinary. 1231(c). This section prevents TPs from timing sales to recognize 1231 (ordinary) loss in one year followed by 1231 (capital) gain in any of the 5 succeeding years. 

Section 1231 is an important provision for corporations b/c it applies to virtually all non-inventory property. Includes any depreciable assets such as machinery used to produce goods, delivery cars & trucks, buildings & land and any proceed from the involuntary conversion of property used in the business. 

Supplement on Depreciation Capture Rules -- § 1245

Section 1245 recharacterizes capital gain from the sale of a depreciable asset (other than real property) as ordinary income, to the extent of prior depreciation on the asset sold. 

On the sale of section 1245 property, TP includes ordinary income equal to the lesser of:

the gain recognized on the sale of the asset of

prior depreciation taken on the asset sold.    1245(a) (1) & (2)

1245 Property:

depreciation is allowed on the property under 167

the property is one of the types of property specified in 1245(a)(3), including personal & real property. 

1250 Real Property 

Imposes a limited form of recapture. 

* Generally requires recapture of gain only to the extent of depreciation in excess of straightline depreciation.  But can only use straight line method after 1986 ( there is usually on depreciation in excess of straightline & hence no portion of gain on the sale is subject to recapture. 

P. 601 Problems.

7-17 Equipment sold at loss is not Tier 1(involuntary conversions).

500 loss from theft = Tier 1.

Torando destroyed property, paid 2K gain  = Tier 1

( Tier 1 gain > Tier 1 loss and these go to Tier 2. 

Tier 2 has:

1K loss from sale

500 loss (from 1)

2K gain (from 1)   Under 1231 netting,  these are all capital gains & losses

7-18  

Step One: Tier one netting

Car flood 

-6K

Typewriter theft
5K
[business tape recorder stolen but held less than 1 yr]

More losses than gains so kick them out of tier 1.  Treat them as ordinary loss & gain. Under 165(c)(1) loss is deducted.

Tier Two Netting:

Machine A  sale
13K

Machine B sale
- 1K

Land Condem. 
 -3K  Can the land qualify if it is held for profit – 1231(a)(3)(A)ii(II)

Gains > Losses ( each of these assets is long term under 1231. 

Ordinary  Treatment: 

business tape recorder, deduct as an ordinary business loss (-500)

Machine C held for < yr. and sold for 4K

IBM stock held for > yr., not connected with trade or business, long term capital asset sold at a loss: 165(c)(2)  v. 165(f)  v. 1211. Can deduct 2K loss against long-term capital gains and then extra up to 3K from income (last week’s info). 

Yacht – loss on the sale of a capital asset, held for > 1 year. But under 165(c)(3) bars the deduction of personal losses unless they are casualty losses. 

§ 165 Losses: 

165(c) Limitation on losses of individuals. Losses are limited to:

(1) losses incurred in a trade or business.

(2) losses incurred in any transaction entered into for profit, though not connected with a trade or business.

(3) losses of property, not connected with a trade or business, are not deductible unless they arise from fire, storm, shipwreck or other casualty or theft (does not include condemnation).

Machine D – abandoned after using for 3 years, 10K loss.

1231 seems applicable b/c business machine but not applicable b/c not a sale or exchange or involuntary conversion.  

1221 does not apply b/c not a sale or exchange ( this is an ordinary loss under 165(c)(1) can deduct bona fide loss in a trade or business. 

7-19  Bakery delivery truck sold at a loss

Does 1221 apply? 1221(a)(2) excludes property subject to depreciation

1231 could apply: property used in trade or business held for > 1 year. Loss is an ordinary loss(b/c losses > gains), deducted in full under 165(c)(1). 

Year 2 Gain from sale of delivery truck, 1221 does not apply b/c depreciable.

1231, gains predominate but under 1231(c) recapture provision if TP has taken deduction for loss  in previous 5 years, have to give up the first 40K, ( first 40K of gain = ordinary income, not capital gain.  The extra 10K = capital gain. 

c. What if 30? All is ordinary income.

D. What if gain of 30K in year 2 + year 3 gain of 25K= 55 Total, Subtract previous 40K as ordinary income and 15K as long term capital gain in year 3. 

H. RECAPTURE OF DEPRECIATION --§ 1245

We’ve seen these provisions before:

Divorce Recapture

1231(c) Recapture

1245—personal property
1250—real property

1221, 1222 usual path for long term capital gain treatment but not all qualifies.

1231 gives a second bite at the apple for LTCG treatment for certain kind of assets. 

But now, 1245 & 1250 diminish that as override provisions that convert some LTCG into ordinary income.

Problem here is depreciation and ACRS, deducting salvage value of depreciated value, and deducting it so quickly.  Assets that are depreciable but don’t really decrease in value. 

If basis drops under 1016, Congress should be made whole but that doesn’t happen. B/c TP gets the time value of money (an interest free loan) and in addition can convert ordinary income into LTCG.  This is why we need recapture provisions. 

Recapture re-characterizes the gain so that it is no longer LTCG but ordinary income. 

1245- recaptures the lesser of 1) the recomputed basis of the property, or,

2) in the case of a sale, exchange or involuntary conversion the amount realized or

in the case of any other disposition, the FMV of the property.

recomputed basis = adjusted basis + all deductions that affected adjusted basis.

If you have depreciated property and lowered your basis and then sell the property for a capital gain, you must recapture that gain(and treat it as ordinary income) to the extent of the depreciation deduction.  The excess of the capital gain over the deductions = capital gain.

If someone gives you an item that they have depreciated (and ( decreased the basis), The receiver of the gift has a substituted basis and a recapture taint attached to the asset.  They must recapture any capital gain they have as above.

Where there is a disposition of an asset w/o a sale or exchange, gain is determined by reference to FMV of the asset.

1250- Gain from Disposition of Certain Depreciable Property

Problems

7-21

Buys a station wagon for 10K, depreciates down to 0, sells for 7

a. adjusted basis – 0

b. recomputed basis – 1245(a)(2)

adjusted basis + depreciation = 0 + 10 = 10K

c. amt. realized = 7K  this doesn’t change with recapture.

d. depreciation recapture

1245(a), the lower of 2 things exceeds basis which = 0

10 v. 7. 7 > 0 ( 7K = ordinary income. There is nothing left under 1231 to be treated under 1231, have lost all 1231 gains under 1245.

e. depreciated down to 12K

recomputed basis = 10 v. amount realized = 12  ( ordinary income = 10, with 2K left over for 1231 treatment. This is 1231 b/c it is a depreciable asset.

f. Dad bought 15K van, depreciated by 1500.  Son didn’t depreciate but should have depreciated by 9K.    Father’s basis = 15K – 1500 = 13500

g. Dad does not recognize 1245(b)(1) – no recapture event when give property.   Van has recapture potential b/c didn’t recapture from dad.

h. Kid’s basis = Dad’s basis (carryover) = 13500

i. Kid’s adjusted basis after using it for 3 years and not deducting.  1016(a)(2) dumps basis whether deducted or not. 13500 – 9 = 4500 basis.

j. Recomputed basis = adjusted basis (4500) + adjustments from deductions (1500 (depreciation that dad took) = 6K

1245(a)(2)(b) tells us for purposes of (a) so don’t force them to take recpature on gain that did not have from forced depreciation

k. 11K A/R – 4500 A/B = 6500 gain.  Under 1245 (11K v. 6K) 6 is the lesser and exceeds basis by  1500 so that is recapture and other 5K is characterized as something used in trade or business, depreciable under 1231 = LTCG. 

7-22 Typewriter for business 900 cost –567 depreciation = 333 A/B

A/R = 725 – 333A/B = 392 gain.

Sell on installment method ( 453(i) recapture override provision. If recapture income

Recomputed basis = basis + depreciation = 900

Then go to 1245(a):  Take lesser of recomputed basis v. amount realized (725)

725 – 333 = 392 which is all ordinary income

IN subsequent years when you get installment payments, you have already paid tax on all of gain in first year.

payment x gross profit/total contract price

payment x total selling price – A/B/ TCP = 725 – 333/725  but add back into basis by income you have recognized.  Think of basis as the tax stakes between you and the govt.  ( Basis upon recognition of 392 gain in year 1 gives you a 725 basis to offset selling price = 0 in numerator. 

Installment Sales – in any installment sale of personal property, all depreciation recapture income under 1245 is recognized in the taxable year of the disposition, even if no principal payments are received in that year. 

Summary:

Buy car for 5K and sell for 5600, 4 years later ( 600 gain. (1001) This will be the gain unless there is a deferral or nonrecgnition provision

But there are 3 types of gains – ordinary, LT, ST  

1001 doesn’t tell you what kind of gain it was ( go to 1221 to see if it applies. 

1221 applies if owned car in personal capacity, held for > 1year = 600 LTCG

What if you used the car as a pizza delivery car. STill have 600 gain, 1221(a)(2) blocks capital asset treatment so now what.  Go to 1231 which applies.  IF only gain for the year, 600 is a LTCG.  

What if already appreciated car?  1245. ONly gain to extent of deprecitaion = ordinary income.

CHAPTER 8: INVESTMENT & PERSONAL DEDUCTIONS

p. 37 – The Taxing Formula.  Now on itemized deductions. 

§ 62 determines whether it is above the line deduction.  

Expenses incurred in a trade or business frequently are deductible in arriving at AGI while personal expenses generally are not. 

Above the line business expenses: employment – related expenses incurred by employees. Under 62(a)(2) can deduct only reimbursed trade or business expenses of an employee. 

Below the line business expenses – legal, educational, travel, etc are itemized deductions.

Floor amount = 2% AGI under §67 or 3% AGI under § 68

Profit—related expenses (production or collection of income and mgmt of property).

Personal expenses deductible are most controversial & reflect govt. policy decisions – e.g. charitable contributions, medical expenses, taxes, interest on mortgages. 

Gross income – AGI deductions = AGI

AGI – the greater of std. deduction or itemized = taxable income

BUSINESS TO PERSONAL CONITUUM OF DEDUCTIONS

Category
Code Section
Deductible v. Non
Utility in Reducing Tax Liability

Business
§ 162
most items deductible
AGI above line—employers, few AGI –employees

Profit Oriented
§ 212
most items deductible
rental & royalty –AGI

others are below line

Hobby activities
§ 183
deductible only to extent of income from activity
generally below the line deductions

Personal
§ 262
Only as provided in Code
Usually below the line deductions

B. INVESTMENT ACTIVITY

1. Production of Income Expenses -- § 212, 1.212-1

§ 212 Expenses for Production of Income –  deduction allowed for all ordinary & necessary expenses:

(1) for the production or collection of income – investment adviser fees (brokerage fees are additions to basis). Collection of rent e.g. suing a tenant.

(2) for the mgmt., conservation,  maintenance of property held for production of income. 

(3) in connection with the determination, collection or refund of any tax. 

RENTS & ROYALITIES ARE STILL ABOVE THE LINE

274(h)(7) slammed the door on deductions for conventions, meetings related to stock broker activities. 

Rev. Ruling 86-113

Can’t deduct investment seminars. 

Look at fact pattern: Wants to deduct 7 days b/c of 2 2 hour meetings. Other examples: if traveling for a 212 expense, need to attend one meeting per day. 

Problems p. 670

8-1.  5 x 75 = $375 nest egg.

a. Flies to Hawaii to vote her 5 shares. Can she deduct travel.  Hopefully not.  Doesn’t meet “ordinary & necessary” & doesn’t make sense to spend 1000 to guard 375 investment.

b. makes it a stronger case but not certain.

c. if she owned more shares make case stronger. 

If she is Bill Gates attending a microsoft convention makes more sense. 

This is not 274(h) b/c not a seminar, it’s a shareholder’s meeting.

8-2.  Are lawyer divorce fees deductible? Generally not but if extracting income might be.

a. part will be for production of income. Is lawyer willing to claim a certain amount of expenses for taxable income produced?

b. if she lost claim, prob. not.

c. prop settlement, no income

d. not deductible.

C. HOBBY LOSSES

183, 1.183

If you want to shelter income from another job under hobby, and you now can’t deduct personal expenses,  what sections could you use:

§ 162 ordinary & necessary business expenses

§ 212 quasi trade or business, doing with the objective (not expectation) of making a profit.

If you flunk under 162 & 212 then 183 is the last resort. 

183 limits deductions for activities that are not engaged in for profit. 

183(b) --If not engaged in for profit, can only deduct expenses as: 

deductions that would be allowable regardless of whether the activity is engaged in for profit (typically taxes and interest). E.g. if you borrow money to start the hobby or deduct tax on the garage.

deductions that would be allowable were the activity engaged in for profit but only to the extent that gross income from the activity exceeds the deductions allowed above.

( never allows you to generate a loss to soak up other income.

1. Mechanics

183 grants deductions b/c expenses that do not qualify under 162 & 212 may be deducted to the extent of income from the activity. It limits deductions to the gross income attributable to the activity. 

Three Categories of Expenses

1. 1.183-1(b)(1)(i) – items that are deductible w/o regard to whether the activity was engaged in for profit, mainly interest & taxes.  Even if the expenses exceed the income they are fully deductible.

2. 1.183-1(b)(ii) – expenses that do not fall into the first category and that do not result in the adjustment to basis of property.  Includes maintenance, utilities, travel expenses, etc.  These expenses are allowed to the extent that gross income from the activity exceeds the deductions allowed in the first category.

3. 1.183-1(b)(1)(iii) -- items that require an adjustment to basis such as depreciation & amortization.  Allowed only if the expenses in categories one & two are less than the total income produced. 

If the category 3 expenses relating to basis adjustments are limited, TP’s basis is reduced only by the amounts actually allowed  [1016 (a)(2)]

If there is more than one asset in cat. 3 deduction allowed should be allocated among the assets on a proportionate basis to determine the adjusted basis of each item. 

2. Profit Motive Defined – the test to determine profit motive is an all facts & circumstances inquiry, by 9 objective factors of 1.183-2(b):

1. Businesslike manner – records, segregation of business funds & records, efficient operation of business, selling for profit.

2. Expertise of the TP and/or TP’s advisors.

3. Time & effort expended by the TP in carrying on the activity.

4. Appreciation -- Expectation that assets will appreciate and that there will be an overall profit in future. 

5. Past Success -- Success in similar activities.

6. Losses -- TP’s history of profit or loss

7. Amount of occasional profits.

8. Financial status of TP, whether he needs this profit. Does he get money from other sources. 

9. Personal pleasure/recreation coupled with recurring losses indicates the lack of a profit motive. 

In many cases the factors are virtually inconclusive.  How can you get deductions.  1.183-1(c) –presumption that you are in it for profit (183d).

Other factors considered:

Honest and good faith objective to make a profit.

183(d) – a showing of gross income in excess of deductions for 3/5 consecutive years of operation or 2/7 for horse racing creates a presumption of profit motive. 

Start-ups – Can elect to keep the govt. off your back for the first 5-7 years.  183(e)(2)

Drecier I

By hinging its decision on profit expectations rather than profit objectives, Tax Court utilized wrong test.  Even if there is a slim chance for profit, if still has profit as an objective then has the proper motive. 

Drecier II, 1982

A TP’s declaration of intent is not controlling. Actions speak louder than words.  Must look at 9 motive factors. If actions don’t appear to be profit driven [sustained large losses in this case] and no realistic possibility of income no profit motive. 

Problems p. 679

8-3 Quits a job to become a potter. 

Does she have an objective to make a profit?  Go through the 9 factors.  She did quit her job, if this is pre-retirement, and she needs to make money then she is a good candidate for having a profit objective.  She may even be in the trade or business of making bowls.  Start up costs, if > 1 year useful life, are going to be capital expenses, amoritize these.  

Is she in a trade of business: can she deduct house addition? No.  Can she deduct the kiln. No. They could be depreciated but not deducted.  She can deduct supplies.  Doesn’t matter that she has no income, above the line deductions. 

What if she’s in a 212 activity, rather than 62/162 would have below the line deductions. She should be arguing 162 rather than 212. 

What if she is an heiress just dabbling in pots, no 162, no 212 goes to 183.  Can deduct taxes, interest, supplies, etc. to the extent of income but no income so no deductions.

Starving artist who only paints is clearly in a trade or business of being an artist. 

We don’t know what she is going to do with the bowls or even if she is has produced anything yet. 

8-4a. 9 factor analysis: He’s retired & he plans to live on his retirement savings and “whatever” profits – this is bad and probably loses the case on profit objective. Other problems, farming w/o water, “life-long dream,” – pleasure factor..

( independent resources and in it for the pleasure.  If the 9 factor analysis is dubious can always make the election in 183(e) to pretend to be qualified under 3/5 rule. 

b. If 183 applies what expenses are allowable? 

1. Cat. 1: interest and taxes – 5000 + 1500 = 6500.   Income = 11800 – 6500 = 5300.

2. Cat. 2: non-depreciation business expenses:  900 seed, 600 machine repair, 350 misc = 1850

5300 – 1850 = 3450.

3. Cat. 3  Depreciation Expenses: only 3450 left for depreciation, does that mean basis drops by 8K?  NO. Basis only drops by 3450 b/c 8K was not allowable depreciation. 

c. What if 183 does not apply.  IF in it for trade or business can deduct everything. 

d. If interest expense is 12000, loses Cat. 2 & 3 deductions. 

Business Use of Home & Rental of Vacation Homes

A. In general – no deduction is allowed with respect to the use of a dwelling unit which is used as a residence by a TP during the taxable year subject to exceptions.[280A(a)].

Dwelling Unit – includes a house, apartment, condo, mobile home, boat or similar property, but does not include any portion of a unit which is used exclusively as hotel, motel or inn. 280A(f)(1).  If the owner of an apt. building occupies one of the units, the restrictions of 280A do not apply to the other units which he does not use. 1.280A-1(c).

Use as a Residence – used for personal purposes more than the greater of 14 days or a number of days in excess of 10% of the number days during the year the unit is rented at a fair rental. A TP is deemed to have used a dwelling unit for personal purposes on any day:

he or any member of the family uses it.

someone uses it and theTP thereby becomes entitled to use some other dwelling.

any individual uses it and pays less than fair rental value. 

B. Business Use –the general rule does not apply to the extent a deductible item is allocable to a portion of the dwelling unit which is used for 1)certain business purposes 2) storing inventory or 3) in providing day care.  280A(c).

The amount which may be deducted in a taxable year is limited to the excess of the gross income derived from the business use over the sum of the deductions such as mortgage interest & real property taxes allocable to that portion of the unit plus business deductions.  The amount of deductions in excess of this limitation maybe carried over & treated as deductions in the next taxable year. 280A(c)(5). 

Certain Business use includes the allocable portion of a dwelling unit which is exclusively used on a regular basis as either

1) the principal place of business for any trade or business of the TP.

2) the place of business which is used by patients, clients or customers in meeting or dealing with the TP in the normal course of his trade or business.

3) in connection with the TP’s trade or business if the property is a separate structure. 

principal place of business – a portion of a dwelling used for adminstrative or mgmt. activities of a TP’s trade or business provided there is no other fixed location where such activities are conducted. 280A(c)(1). 

Storage Use – if a dwelling unit is the sole fixed location of a TP’s trade or business and it involves selling products at wholesale or retail, deductions are allowed to the extent they are allocable to space w/i the dwelling unit which is used on a regular basis to store the TP’s inventory or product samples. 

Day Care – if providing day care for children, individuals > 65, individuals who are physically or mentally incapable of caring for themselves. 

Rental of Dwelling Unit

If a dwelling unit is rented or held our for rental the deductibility of items attributable to the dwelling unit depends on how many days the dwelling unit is rented and on how much personal use the TP makes of the dwelling unit.

De Minimis Rule – if rented from less than 15 days during the year and used as a residence, the rental income is excluded from gross income and no rental deductions are allowed.

Dwelling Unit Rented for > 14 days, but Not Used as a Residence – if rented out for > 14 days and not used for personal purposes on any day during the taxable year, limitations of 280A do not apply but the provisions of 183 might apply if the rental activity is determined to be an activity no engaged in for profit.

If rented our for > 14 days and used for personal purposes on one or more days but not as a residence (see above), limitations of 280A(c)(5) do not apply but 280(e) does apply as well as potential applications of 183.

280(e) allocation applies when a TP uses the property for personal use and is an allocation of rental-related expenses.

Category 1 – expenses that are deductible regardless of profit motive or rental activity such as taxes & interest. Multiply by rental days/ 365 days

Category 2 – rental expenses that do not require basis adjustments (non-depreciable expenses). Multiply by rental days/total days used

Category 3 – expenses that do require basis adjustments (depreciable assets). Multiply by rental days/ total days used.

Dwelling Unit Rented Our for More Than 14 Days & Used as a Residence

Subject to restrictions of 280A(c)(5), 280A(e) but not 183. 

280A(c)(5) –  expenses cannot exceed gross income.

280A(e) – allocation of rental expenses

Vacation Home Rentals 280A, 1.165-9

280A limits the deductibility of expenses related to the rental of a dwelling unit that is also used for personal purposes during the taxable year.  If you never use rental unit for personal purposes 280A does not apply. Three possible scenarios:

1. Trivial Personal Use Scenario:  Rental used for personal use but not considered a residence under 280A(d)(1), apply 280A(e) allocation of rental expenses.

2. Residence + Rental Use Scenario: Used for personal purposes as a residence then apply both   280A(e) allocation and the 280A(c)(5) limitation (similar to 183 which limits deductions to amount of income derived from the activity). 

3. Trivial Renter Scenario: Use is as a residence, but number of actual rental days < 15, no deductions are allowed and any income received is excluded from gross income. 280A(g). 

Three categories of deductions under 183 are used for rental expense allocation of 280A (see above). 

Cat 1 Expense (local taxes, mortgage interest)

Cat 2 Expense (only if in trade or business, production of income i.e. maintenance expenses)

Cat 3 Expense (depreciation)

Cat 1 formula: # days rented/# days in tax year (this is good for TP b/c want Cat. 1 to be as small as possible b/c will be deductible no matter what and saves more room for Cat. 2&3).

Cat 2 & 3 formula: # days rented/(# days rented + # days personal use)

Problems p. 692

8-5 Uses it for 10 days, rents it for 150 days ( not a residence b/c 10 days is less than the greater of 14 v. 15 days ( 280A(c)(5) does not apply.

280A(e) Allocation Rules apply whether a residence or not.

Cat 1: 4K x 150/365 = 1644

Cat 2: 3000 x 150/160 = 2813

Cat 3: 10K x 150/160 = 9375

Total


13,832

Under 62(a)(4) these are all above the line deductions, whereas remainder of interest expense will be below the line. 

What else is deductible? Interest and Taxes 4K-1644 = 2356 below the line. (163,164). 

3K gross income, not a lot of money but provides a good tax shelter to soak up other sources of income. This is also a subsidy for the builders of vacation homes. 


c. Use condo 20 days v. 10 days.  Seems to be a trivial diff. but the tax consequences change drastically because it is now a residence.  Now both of 280 components apply, 280A(e) and 280A(c)(5)

Cat. 1 = 1644

Cat. 2 = 3K x 150/170 = 2647

Cat. 3 = 10K x 150/170 = 8824

But now have to limit deductions to gross income of 3K, Have to take Cat 1 first 

3K – 1644 = 1356 left for Cat 2, nothing left over for Cat 3. 

THIS IS GOING TO BE ON THE EXAM

8-6 Condo in L.A., now renting to daughter – 280A(d)(2) – daughter is a family member, could this be 4 months of personal use? 280A(d)(3) – can rent to a family member if at a fair rental value. 

If parents regularly visit, doesn’t increase their personal use as long as she is paying fair rental. Potential for abuse if Dad actually lives there. 

8-7 a. basis for depreciation

Her real basis is 55K.  165(c)(3) can’t deduct personal losses.  Instead of selling for a loss, converts it to rental property. 

1.167G-1. Stuck with fair market value at conversion of property to rental property, ( her basis for depreciation = 50K 

b. If the rule is can’t deduct personal losses, shouldn’t be allowing her to deduct that amount of loss. 1.165-9b2 – basis for loss purposes can’t exceed the FMV on the date of the conversion, reduced by subsequent depreciation. 

FMV – 50K  -- 4500 depreciation = 45500 special basis for rental loss.  This isn’t her real basis, but her basis for claiming rental loss. 

If you own a personal asset which goes down in value, can’t deduct the loss unless it’s a casualty loss. So she converts it to a rental property.

1..167G-1 – her basis of 55 doesn’t count any more for depreciation. On the day she converts from personal to business use, basis cannot exceed FMV on date of conversion ( 50K

b. same for loss: 50K special basis – 4500 deprec. = 45500 special adjusted basis – 42000 A/R = -3500 loss. 

c. 55000 real basis – 4500 depreciation = 50500 real adjusted basis

52000 A/R – 50500A/B = 1500

go back to one basis for loss purposes and one basis for gain purposes (split basis). See regs 

D. Investment-Personal Deductions

1. Bad Debt Deduction – 166(a)(1):

must be a bona fide debt

the debt has become worthless

TP must establish date debt rendered worthless

1.66-2(a) the date depends on the facts & circumstances of each case.  An identifiable event indicating inability to pay will help to establish worthlessness.

Definition of bona fide debt – 1.166-1(c)

“a debt which arises from a debtor-creditor relationship based upon a valid and enforceable obligation to pay a fixed or determinable sum of money.”

Neither gifts nor contributions to capital give rise to debts. 

Frequent Controversy Over Two Areas:

1) Did a TP make a loan to a corp. or purchase equity as stock?

2) Intra-family loans – gift v. debt.

the TP must overcome the presumption against debtor-creditor relationships among family members. 

TP must establish an intent at time of transaction and time of deduction to enforce collection of debt.

Business v. Non--business Bad Debts – in general, business bad debt losses create ordinary deductions whereas non-business bad debts create short-term capital losses(all they can do is soak up capital gains + 3000K; ordinary losses can be counted against income – much better).

166(a)(2) permits deduction of even partially worthless business debts. 

Non-business debt losses may not be carried back to earlier years as a net operating loss. 172(d)(4). 

Definition of Business Debt – 166(d)(2):

(A) A debt created or acquired in connection w/ a trade or business.

(B) a debt the loss from the worthlessness of which is incurred in the TP’s trade or business.

Worthless securities are not included. 

Transactions Between Shareholders, Employees, Corporations:

If the TP makes a loan to the corp. to protect his or her employment, the loan may be classified as one arising from the TP’s trade or business.

U.S. v. Generes – was the TP’s status as a shareholder business or non-business?

gift or purchase of equity is not a debt. 

Court adopts the dominant-motivation standard –  Is the loan necessary to keep TP’s job or proximately related to maintaining trade or business as an employee.

Whipple v. Comm –“devoting one’s time & energies to the affairs of a corp. is not of itself a trade or business of the person.”

Problems p. 700

8-8. lawyer’s client goes bankrupt. Clearly incurred in business. 1.166-1(c). If the lawyer is an accrual method TP, will allow him to deduct as a bad debt. If he is cash method TP, hasn’t included anything in gross income yet.  Accounts receivable or run on either the accrual method or cash method, not installment. 

166(b) – basis shall be the adjusted basis. What would that be for the cash-method lawyer? 0. 

8-9. Employee loaned 25K, she is not a shareholder. She has a single dominant motivation—to keep her job ( deductible.

Always need to discuss 1) is it a debt 2) is it worthless 3) if so, when?  Bankruptcy is a distinct event w/ concrete date. 

8-10. non-business loan to friend. Is it a bona fide debt? govt might say there never was a debt. v. gift. Is it worthless now, possibly but she hasn’t sued. Something needs to document worthlessness. Even if she could prove the 3 prongs, can only get a short-term capital loss. 

8-11. INvested 10K in small start-up, stock drops to 0. 

165(g) Worthless security, is it a capital asset? yes, > 1year ( long term capital loss. 

If lost value over 3 months would have a short-term loss.

Interest Expense – 163

Interest expenses which are business-related or attributable to “qualified residence interest”  are deductible. 

163(d) limits investment interest to net investment income. Excess interest is carried over to the next year. 163(b)(2). 

163(d)(3)(a) – very complicated can of worms what is investment interest. 

265(a)(2) disallows interest incurred or purchased to carry tax-exempt bonds.

Need real indebtedness to generate an interest deduction. Some types of legally-binding obligations do not generate real interest [Knetsch]. Only reason to incur the debt is to incur a tax deduction. Sham transaction doctrine. 

163(h(2) – denies personal interest except for:

(A) trade or business indebtedness

(B) any investment interest – if borrowing in order to invest can deduct interest up to income.

(D)Qualified resident interest -- Limited to $1M for acquisition indebtedness and $100K for home equity indebtedness. 163(h)(3)(A) – (C). 

acquisition indebtedness – debt incurred in acquiring, constructing, improving any qualified residence whether first or 2nd mortgage, Can’t deduct > $1M.

home equity debt – other indebtedness secured by a qualified residence. debt cannot exceed FMV of home – amt. of acquisition indebtedness.  and can only deduct interest up to 100K. 

Loan Fees – some are interest and some are not.

Noninterest fee services – e.g. escrow services fee & credit reports.

Interest services – Points paid to negotiate a lower interest rate.  Charges which are based on the amount & life of the loan. 

461(g) – prepaid interest must be allocated over the life of the debt unless the prepaid interest represents points incurred in relation to the purchase or improvement of one’s principal residence. 

Rev. Act of 1987

Debt secured by a security interest valid against a subsequent purchaser under local law. 

Acquisition indebtedness – debt that is incurred in acquiring, constructing, or substantially improving the principal or a second residence of the TP.  It is reduced as payments of principal are paid and cannot be increased by refinancing.  Limit = $1M or $500k for married persons filing a separate return. 

Home equity indebtedness up to 100K (or 50K for married persons filing separately). 

Qualified Educational Loan Interest – 221

Limited to $1500 for 1999, $2000 for 2000, $2500 for 2001 and years thereafter. 

Phased out for higher income TPs

Not available to a TP that is claimed by another TP. 

60-month limitation 

Taken under 62(a)(17) so above the line.

Interest on Tax-Exempt Obligations – 265(a)(2)

No interest expense deduction to avoid “double-dipping.” 

Can borrow money to buy bonds but can’t deduct interest. 

If you own 50K  bonds and need to put a kid through college. 

If you borrow money to put kid through college, not to purchase tax exempt bonds but you borrowed money to avoid selling the bonds. This will be a troublesome area. 

p. 709: notes on § 265(a)(2) IRS refers to 2 items of direct evidence of borrowing to purchase bond:

1. Use loan proceeds(or proceeds of proceeds, e.g. if purchase stock, sell and use those proceeds to purchase bonds) to purchase muni. bonds.  Don’t let them be able to trace any loan proceeds directly to muni. bonds.

2. If use pre-existing muni. bonds as collateral to get a loan.

265(a)(1) – no deduction allowed for pursuing tax-exempt interest:

if you own a muni. bond and seller goes bankrupt. If hire a lawyer to get the money back, do not get to deduct lawyer’s fee because going after tax-exempt interest.  IF were going after back rent, this would be a 212 expense.

Another example, normally rental fee for safety deposit box is deductible but not if keeping tax-exempt bonds in there, have to subtract out % of expense related to that. 

Interest not defined by code by Sup. Ct. defined it as “compensation for the use or forbearance of money.” Deputy v. DuPont, 1940. 
* Excludes charges for the use of property such as rent. 

Problems

8-12. This flunks the smell test.  Only engaged in transaction to create interest deductions. 

8-13. a. yes, 1st mortgage interest is almost always deductible.

b. credit card interest not deductible(personal interest)

c. educational loans – yes with limits. 163(h)(2)(f)

§ 221 – not allowed for high income TP. Can’t be claimed as a dependent. 2K limitation in 2000, 60 month time limit(5 years). 

d. interest on medical bills – personal interest.

e. 2nd mortgage, uses proceeds to pay off things that are not deductible. If that interest was not deductible its still not deductible. 

Interest payments on the 2nd mortgage – is that deductible? 

If her new loan does not exceed FMV of home – acquisition indebtedness or 100K then these payments are deductible. 1st mortgage also deductible. 

f. 130K FMV  -- 80K AI – 10K HEI = 40K could have borrowed, she only borrowed 20 so the interest on the 3rd loan is deductible. 

8-14. Uses municipal bonds as collateral, can’t deduct interest. 265(a)(2). This is direct evidence of using municipal bonds to carry debt. Idaho Power is inconsistent with what is going on in the world.  Under 163 the house/land must secure a qualified residence interest loan. 

Taxes 164

Mostly state & local

164(a)

state & local real property taxes

state & local personal property taxes

state & local income taxes – not in TX

NOT SALES TAXES

§ 275 NO DEDUCTION FOR FEDERAL INCOME TAXES, SS, MEDICARE

8-15 – Can’t deduct sales tax or car registration (in some states deductible). 

8-16 – IF in the trade or business of copying sales tax on paper & paper & can ACRS copier. Above the line if in trade or business. If not in trade or business but just to make a profit 212, below the line. 

E. Personal Deductions

1. Casualty Losses – 165(a)(3), (h)

Any loss that is incurred in one’s trade or business  or other profit-seeking activity andnot compensated by insurance  can be deducted. 165(c)(1) & (2).

Losses of a personal nature are limited by 165(c)(3) to:  “those that result from casualty or theft.

Casualty – fire, storm, shipwreck or “other casualty.” 

Casualty Loss – must be “sudden,” “unexpected,” & “unusual,” to qualify for a deduction.

Maher – tree disease was not sudden enough.  

termite cases – casualty losses were permitted notwithstanding the passage of substantial periods of time b/f damages were detected. 

Allen – accidental misplacement of jewelry doesn’t generally work. TP wearing diamond broach, lost it.  Didn’t know if it was lost or stolen. 

Rev. Ruling 72-592

Previous position – complete or partial destruction of property resulting from an identifiable event of a sudden, unexpected & unusual nature. 

White – loss of diamond ring was deductible b/c there was an actual accident – an event that was sudden, unexpected and unusual. 

Accidental and irretrievable loss of property can now qualify as a casualty. Must still meet other three conditions:

sudden – swift & precipitous

unexpected – ordinarily unanticipated

unusual – extraordinary & nonrecurring, does not commonly occur during the activity in which the TP was engaged when the damage occurred or in course of day-to-day living. 

Rev. Rul. 79-174 – loss from death of trees by insect attack

Court distinguishes between damage or loss from progressive deterioration v. loss of a swift, precipitous nature (sudden) and unexpected.

Popa v. Comm, 1979

Issue – whether loss of property in Vietnam was a casualty.  Ct. finds that it was w/i the ejusdem generis to casualty losses b/c it was sudden, cataclysmic, & devastating. 

Events leading to loss were sudden, violent and not due to willful actions of TP.  Impossible to get proof of exact cause of loss.

Dissent says not a loss if:

property confiscated by Communist govt. 

if TP cannot prove source of loss, failed to meet burden of proof. 

165(c)(3) => (h)

amount is computed separately for each casualty event.  

lose first $100 with respect to each casualty event + 10% of AGI. ( if you have a big AGI will have to have a huge loss b/f can deduct anything.  Gives more insurance protection to poor people. 

General rule: Deduction is the lesser of two things:

Decline in value of item as result of casualty.

Adjusted basis in item.

Problems p. 725

8-17 a. Not a fire, theft, shipwreck, or “other casualty” ( have to define it. 

1.165-7(a)(3) – car wreck can count as a casualty. 

Does the driver have insurance?  165(a) – “not compensated by insurance or otherwise.” 

What if you’re insured but for strategic reasons decide not to file a claim – 165(h)(4)(e) – Only going to cover you if you file a timely claim.  Questions p. 716B – policy considerations.  

If entitled to deduction, the lesser = 5K.

b. Same rules apply but what if TP is negligent in running into pole.  “willful act, willful negligence.” 1.165-7(a)(3)(i).   Losses = lesser of  2K v. 4K adjusted basis ( 2K is limit. 

c. This is not even close to a casualty definition (sudden, unexpected, unusual).  This is an example of why there is a $100 floor on damages.

d. Have to argue 3 provisions of “other casualty.” Sudden, unusual, unexpected.  The court denied this deduction b/c no suddeness or unexpected.

e. Car swept into ravine qualifies as a storm. May not be unexpected in CA. Deduction = 6K b/c this is loss in value. 

8-18. Saws tree down and it falls on truck. This is clear stupidity but get deduction anyway.

Personal use of truck: Does this event qualify as “other casualty.”  If so, decline in value = $7200 - $100 – 10% AGI.  If e.g. his AGI was 100K he couldn’t deduct anything.  Most affluent people will never be deducting casualty losses. 

b. Truck used for business purposes.  This is a complete loss where the basis exceeds FMV and where  property is used for business purposes. 1.165-7(b)(1)

The $100 dollar rule only applies to (c) (3) personal losses.  10% AGI (h)(3) personal casualty gain or loss applies only to personal loss not business loss.  

If this is a (c)(1) loss (trade or business) $100 + 10% AGI do not apply. 

8-19.  

a. 165(h)(2)(B) – if gains > losses, treat both as capital. If meet the holding period (> 1 year) then it will be a long term capital gain or loss.  Casualty is not a sale or exchange so normally captial gain treatment would be barred. 

b. losses > gains.  10% of AGI = 10,000  70 – 10 = 60K loss. ordinary. 

8-20

Hail damage to an imaginary farm yield – does that qualify as a casualty loss?  No basis in own labor , so basis is normally seed, gas, etc – very small ticket items. So the rule seems to be won’t get anything for crop losses.  Most could ask for is return of basis which isn’t very much. Can’t get expected yield b/c it will be more. 

Vegetable garden losses from “exceptionally” hot and dry summer.  Is this unexpected or unusual. Can argue either way. Expect summers to be hot and dry.  Cannot use his labor so again, basis is very small. Garden is unrealistic for a deduction. 

Charitable Contributions - § 170
Policy encourages charitable giving. 

A “gift” to or for the use of any of 5 types of orgs in 170(c).

Itemized Deduction – below the line.

How Much? 

Amount = Cash or FMV or property

Why FMV v. basis b/c want to encourage charitable giving. 

What you Lose when you donate:

170(e)(1)(a) –lose any part of value that would not have been LTCG if you had sold it at FMV

Lose any amount that would have been O/I + STCG appreciation on any property to any charity. So can only deduct basis in inventory that you dump.

e.g. Stock held for 6 months get basis only, lose STCG and O/I. ONly get basis for STCG property.   Should give LTCG property to charities.

170(e)(1)(B)(1); can lose LTCG if what you’re giving away is tangible personal property, use unrelated to charity’s mission.

LTCG appreciation of TPP to any charity if unrelated use.

170(e)(1)(B)(11): also lose LTCG appreciation on any property to private foundations.  Family charities are probably private foundations. 

Exceptions – except some publicly traded stock (170(e)(5)). 

Ceilings on Deductions – quantitative limitations on what can be given in any one year (cut down rules). 

Contribution Base = AGI. 170(b)(1)(f)

With respect to capital gain property only get 30% of AGI. 170(b)(1)(c)

Need to know if donation is to a “good witch”(public charity) or bad witch(private foundation) and what kind of property you’re giving.

170(b)(1)(A)
public charities





50% of contribution base

(UT, recog.churches, not new ones, boy scouts, YMCA, Heart Assoc.)

170(b)(1)(B)
most private foundations




30%

170(b)(1)(C)
limits gifts to public charity if capital gain property
30%

170(v)(1)(d) 
capital gain to any private foundation 


20%

There is a 5 year carry forward period for any excess contribution.  There can be obstacles to doing so (e.g. more giving, income drops, other deductions increases, rules change). ( most philanthropists consider these limitations a stop for that year. 

Factors to consider – p. 734

8-21. Donation to Red Cross in gratitude – deductible

8-22. Partner contributes hoping to insure that daughter will be admitted. There is a possible quid pro quo, there’s no agreement in writing but there is an implication. This happens all the time, there aren’t a lot of audits. 

Why should IRS ignore this? Can’t really determine intent. There are always mixed motives. Litigation costs per recovery are too high.

8-23. Donation for building being named after him. Its deductible. What if he donates property with debt? 

Rev. Ruling p. 737 for part sale/ part gift. Walking away from debt is A/R ( sale. Part of basis gets wasted in charitable contribution like this. 

amt. realized/FMV  = % A/B

2M/5M = 40% A/B     40% x 1 M = 400K A/B

2M A/R – 400K S/B = 1.6M gain

Deduction = 5M – 2 M = 3M if the property was of a long term capital gain character and you had a big enough charitable base AGI – needs to be 6 M.  If it was STCG or O/I amount of deduction would be only 600K (limited to our basis). 

8-24 Student gets tuition and has to repay. 

Can this be deducted as a charitable contribution? Could risk a deduction, very close call. 

8-25. Pledges stock to YWCA, transfers stock with value 5K, basis 2.3K

YWCA = public charity.

What kind of property is it? LTCG? STCG? 

Is her contribution base high enough

IF LTCG property to public charity limited to 30% CB

IF STCG property or O/I gets deduction of 2300, up to 50% AGI(A)

b. No deduction for her labor on Y’s behalf1.170(A)-1G.  Out of pocket expenses that you donate to charity to provide your services are deductible.  No basis in “effort.”

c. Contributes to school, but charged no tuition. 

Could look at timing of check, route of donation. This looks like church-like things and will probably get through. 

Medical Expenses – 213/ 1.213-1(e)

must be un-reimbursed medical expenses

limited to the amount by which the expenses exceed 7 1/2% of AGI (focuses on TP’s ability to pay). 

Definition of Medical Care:

reasonable amounts paid for  

diagnosis, cure, mitigation, treatment or prevention of disease. 213(d)(1).

related transportation

medical insurance premiums

prescription drugs

Lodging – Medical Care

lodging away from home to obtain medical care 213(d)(1)(A) which is provided by a licensed hospital or Dr. 213(d)(2). 

Not allowed if there is a significant element of personal pleasure, recreation, or vacation in the travel away from home. 

Limited to the lower of actual lodging expense or $50 per night per eligible person.

Deductions for Capital Medical Expenditures – elevators, swimming pools. 1.213-1(e)(iii). 

deduction is limited to the extent that the cost exceeds the increase in value of the related property. 

Revenue Rulings

treatment by psychiatrists for sexual dysfunction was deductible

counseling fees to minister not deductible

medicinal use of marijuana not deductible.

Cosmetic Surgery 

medically necessary

to treat a deformity  -- congenital or personal injury

Problems p. 743

8-26.  Abortion expense is deductible as long as its legal.  1.213-1(e)(1).

BCPs are deductible if prescription. 

c. vacuum cleaner for allergies.  This is a capital expenditure b/c useful life > year. 1.213-2(e)(1)(ii) sometimes you can deduct captial expenses but vacuum cleaner is not exactly an unusual item.  If you could make the argument that you would never have a vacuum cleaner otherwise.  

What is deductible for a pool – diff. in cost over increased value to home.  Could do the same with vacuum cleaner. If ave. person has a $67 dollar v.c., and you have to spend $200, can deduct the difference. 

d. cosmetic procedure, not deductible. 

e. only psychiatric treatment would be deductible. 1.213-1(e)(ii) – expenditure which is merely beneficial to gen. health is not an expenditure for medical acre.

f. Healthy TP w/o disease, injury or deformity wants to deduct a health cruise. Not deductible.  If could attribute part of the cruise fee to medical treatment that would be deductible.

Clothing Expenses – 1.262-1(a)(8)

There is no section of the code that specifically grants a deduction for clothes.  Operating under 162, trade or business expense. 

Only above the line if reimbursed employee expenses under 62(a)(2)(A)

Gen Rule – clothing is deductible as a business expense only if:

clothing is of a type specifically required as a condition of employment

it is not adaptable to general usage as ordinary clothing, e.g. a chicken suit. 

it is not worn as ordinary clothing.

If some normal person would wear the clothes in public, not just your personal preference, then you can deduct it. 

Problems

8-27. Uniforms –1.262-1(b)(8) – uniforms are gen. not deductible.

Reservist can deduct his uniforms though there is no rationale for this, except that he has extra work wardrobe duty. 

8-28. Farmer doesn’t like his clothes. Tough shit. 

Floor on Misc. Deductions & Overall Limitation on Itemized Deductions – 67, 68

Itemized deductions are inferior b/c below-the-line and b/c conflict w/ std. deduction.

§ 67 Rule – only the amount of misc. deductions that exceed 2% of TP’s AGI are allowable as itemized deductions.  “2% haircut” going to lose 2% of AGI

What does misc. deduction exclude? (we only covered 1-- 5).

Interest

State & local taxes

certain losses , esp. casualty

charity

medical expenses

What is going to be cut by § 67? These are the big ones!

as an individual for the production of income expenses – 212 (most of these)

162 (trade or business to an employee)which are below the line – employees

§ 68 – covers more deductions than 67, almost all itemized deductions but only for high end TPs, > 100K adjusted gross income.  See Rev. Proc at 1751 for inflation adjustment.

Certain deductions are reduced by the lesser of:

3% of the excess of the TP’s AGI > 100K (changes with inflation adjustment)

80% of the amount of those deductions

applies to all except:

medical expense

investment interest

casualty losses

applies after 2% haircut, so can get hit by both.

Problems 8-29

§ 68 doesn’t apply b/c income too low (50K < 100K)

§ 67 – interest, taxes, casualty loss are excluded

Now have trade or business expense of 2500(162) + 1500(212)  = 4K

2% of AGI = 1000

4000 – 1000 = 3K AMD

8-30.  §162 -- $2500 – if incurred as an employer and it is above the line, won’t be affected. If he’s an employee its below the line, will be affected. Same w/ §212, $1500 prob. below the line unless it is a rent or royalty.  We are making an assumption, that § 67 will be operating, so these are below the line.  [it appears that § 67 & 68 do not affect above the line deductions]

150K AGI x .02 = 3K

4000 (162) + 2000 (212) = 6K misc. deductions  -- 3K = 3K AMD

Look at AGI to determine if § 68 applies also.

Now apply § 68, threshold is 100K + inflation adjustments (p. 1751 for table)

p. 1753 – (.06): amount =$128,950, have 150 AGI ( §68 applies.

P. 1751-3 inflation adjustments for year 2000.

Rate tables are on p. 1752. READ THESE

Which deductions get caught in § 68:  4500 (§ 163) + 500 (§164) + 3K(AMD) = 8K  So you add in also the AMD from § 67 which already covered § 162 & 212 deductions.

§ 68 says will lose part of itemized deductions, the lesser of two amounts.

The worst that § 68 can do is to lose 80% of itemized deductions, no matter how much you make

8K x .8 = $6400 (is the most)

150K – 128950 = 21,050 x .03 = 631.50, this is the lesser, so reduce deductions by this amount. 

Then take 8K – 631.50 = 7368.50.

b. What if AGI is 250K?  Still trapped in § 68

250K x .02 = 5000 (§67 amount)

Misc deductions = 6K(misc deductions) - 5K = 1K AMD(allowable misc. item. deductions)

§68: 4500 + 500+ 1AMD = 6K AMD x .8 = 4800 max loss of deductions. 

250AGI – 128,950  (Rev. Proc 99-42) = 121050 x .03 = 3, 631.50  this is lower than 4800

6K – 363.50 = 2368.50 allowable deductions, so whittled down considerably. 

Congress undid 162 & 212 by 67 & 68. 

This floor which repeals the msic. itemized deductions and limits deductions for certain employee expenses is part of an effort to broaden the tax base. 

These new regs are saying most employees can’t deduct trade or business expenses(162)

Under 212,  expenses incurred in production, property, expenses incurred in tax return preparation. Under 67, 68 regs are saying have to have a lot of these expenses.

§ 68 says that the wealthy are not going to be able to deduct a lot of these, 67 & 68 have a soak the rich the component.  In addition they make record-keeping less necessary. Limit controversies between TP and govt. This is good.  If lack of compliance is on the rise, it is good to have these changes. (751, Surrey piece) Argues that govt should use tax code to encourage spending in diff. ways. 

In the future we will see fewer and fewer allowable deductions.

Standard Deduction

§ 63 – can reduce AGI by the greater of either itemized deductions or the standard deduction. Congress is offering you a bribe to decline your right to take itemized deductions.  Offers administrative convenience (avoids record-keeping) & economic security.

Should compute both to see which is larger, unless you have no records to prove itemized. 

How much – 63(c)(1): sum of basic + additional
62(c)(2)(a) – (d) deduction depends on who you are. 

joint returns -- $5K

Head of Household – 4400

single – 3K

married/ filing separately – 2500

63(f) – adjustment for aged and blind – 600 if married/ 750 neither married nor a surviving spouse.

Blind + aged, 1200.

ADJUST YEARLY ACCORDING TO RATE OF INFLATION – P. 1753 (Revenue Proceeding)

These numbers are adjusted for inflation if dealing with year 2000

63(c)(3) additional deductions if aged, blind – (f) these are adjusted also, go to p. 1753 (.03)

63(c)(5) Limitation on the basic standard deduction in the case of certain dependents – if being claimed by someone else, your std. deduction is smaller. 

63(c)(6)(a) – other people aren’t  eligible for a std. deduction, e.g. if married & spouse itemized. 

Ineligible for deductions – dependent TPs with passive income & married TPs who file separately if either spouse itemizes.

8-31. 15K cash dividends from parents, no itemized deductions

a. her std deduction – 63(c)(5) limited dependent deductions – assume she can be claimed as a dependent(151c). 

Std deduction can’t > $500 or the sum of $250 + earned income(something you work for)

250 + 0 is < $500 (with inflation adjustment the real number is $700)

So she has a $700 deduction.

b. summer earnings of $1000: 250 + 1000 = 1250 > 700 ( std deduction =$1250

c. earns $5000 = 250 = 5250 > $700 but can’t exceed the normal std. deductions – 4400 under rev proc. can’t exceed that. 

rev proc doesn’t appear to include $250 number

8-32. Should she itemize? 

Usually medical expenses are not deductible 7.5% x 40K = 3K ( she can deduct only 4-3 = 1K

1K + 1700 + 600 + 500 = 3800  after 67, has no 212 or 162

does 68 apply, not high bracket ( 3800 total itemized deductions, under rev proc 4400. 

CHAPTER 10:  COMPUTING TAX LIABILITY

As a final step in computing taxable income, the TP, pursuant to §63(b)(1)(B) may subtract any personal exemptions for himself, his spouse, & any qualified dependents.

Doesn’t matter if itemize or take std. deduction.

Personal Exemptions – 63, 151, 152, 7703, 1.151-1(b), 1.152-1, 1.152-3, 1.152-4T

§ 151 grants a deduction for each personal exemption:

TP exemption

spousal exemption – may or may not be able to claim

dependents

Fixed amount. 151(d)(4) basic amount is $2000 but is inflation adjusted to $2800 in year 2000. 

Exemption is phased out for hi income TPs – reduced by 2% for each $2500 by which the TP’s ADGI > threshold amount (75K – 100K). 

1. TP Exemption – an entitlement based solely on one’s status as a TP.

TP is entitled to one exemption . 151(b). 

A TP is any person subject to tax under the code. 7701(a)(14). 

Married couple filing a joint return is entitled to 2. 

If TP claimed as a dependent, can’t get a personal exemption. 151(d)(2).

2. Spousal Exemption

Must be the spouse. See 7703 for marital status.

If legally separated, not married even if no divorce

Once spousal status has been established 3 add. require:

spouse must not file a joint return with the TP.

the spouse must not have any gross income during the calendar year in which the taxable year of the TP begins.

spouse must not be a dependent of another. 

* If a spousal exemption is claimed, the spouse is not entitled to a TP exempt.

3. Dependency Exemptions – 151(c)

Three Criteria:

relationship test – family members . 152(a)(1)-(9).

earnings test – party claimed has gross income < exemption amount, if not:

can still be met if party is a child of TP and 

either has not attained age 19, or is a full-time student < 24.

Support test – more difficult than other two. In general must supply > 1/2 of dependent’s support. 

frequently litigated – meaning of support and whether it is limited to the necessities of food, clothing & shelter.

Shapiro – cost of summer camp was part of support.  1.1201(a)(2)(i) – the term support includes food, shelter, clothing, medical & dental care, education and the like.

Support of Govt. Agencies – does not alter an otherwise established economic relationship.

Multiple Support Agreements – 152(c) permits a group of related TPs to rotate the exemption among themselves if together they totally support the dependent even if no single one contributes > 1/2. 

Divorced parents – 152(e).  Generally treats the custodial parent as the TP entitled to dependency exemption.

Dependency disqualifications – 151(c)(2) denies an exemption to a TP for a dependent who has filed a joint return with his or her spouse for the year.

Problems p. 880

10-1a. If filing jointly get no spousal exemption but if they are both TPs, each gets a TP deduction. If file separately if spouse has income can’t claim her. 150(b)(2). Each can claim self under separate.

b. Year 2 Harry died – someone will have to file the return for his stub year and he can claim himself. IF wife & new husband file jointly get 2 TP exemption, if file separately, each get 1 TP exemption. New husband cannot claim wife b/c she has a job. 

10-2. Single, divorced for 4 years. 

a. > 1/2 support for ex-husband’s brother. His income is 875.

151(c) – for each dependent. 152 defines dependent.  former brother-in-law is not included. 1.152-2d.  If he had died during the year, TP would not be deprived of a deduction if the dependent lived in the household for part of the year preceding death.

b. foster daughter dies suddenly. 152(a)(9). any individual who has as his principal place of abode home of the TP. 

152(b)(2). Foster child counts as a child if meet requirements of 152(a)(9). 

151(c) exemption amount for each dependent if gross income is < exemption amount ($2800). Foster child earned $3600. Even if income test is flunked still have (c)(1)(B) if she has not attained the age of 19 . . .

151(c)(1)(c) child defined

1.152-1(b) – death of exemption target during year doesn’t preclude exemption, can still claim them.  Didn’t attain age of 19 b/f close of the year b/c she died but if she had lived she would have been > 19 and not passed (c)(1)B).  “or is a student who has not attained the age of 24 b/f the close of the year.”  ( if she is still a student, she might qualify. 

principle place of abode

age

student

relationship or living in abode

c. child age 20, college student & married who together earn $700. 

She is a dependent w/ gross income < exemption amount. She is a student < age 24 but she is married. 151(c)(2) No exemption for any dependent who has file a joint return.

d. no, not for the gigilo. Fails the relationship test.  If she is providing only room and board, he is providing his own support (152, you have to provide more than 1/2 the support). Can’t count “employees” who happen to live in your home.  see Martino, gets to deduct. 

10-3a. daughter passes relationship test.

support test – GM provided more than 1/2 of support.  Could you argue [Shapiro] that GM was supporting something else. No deduction.

b. On the surface, dad will have trouble with these numbers. 152 (d) amount received as scholarships don’t count if son or daughter or step but Nimrod is not a son. 

What kind of receipts that don’t come from family are considered in these amounts. Its different for scholarships, SS, etc.

c. Reynold’s father. Nothing out of pocket by TP but free rent to dad. Dad has spent $3500 of his own money. What was support worth?  1.152-1(a)(2)(i) go by rental value = 6K divided by 2 people = 3K < $3500 ( no deduction.

d. mother-in-law – multiple support agreement(152(c)) = $17,000.  6K is not half so no clear claim. If you have a group of people contributing and all together contribute > 50%, if somebody contributed 10% that person can deduct with other consent.  No unless they get together and agree that one can claim. 

10-4. Whoever has custody has the exemption regardless of whether they contribute a dime, unless they agree otherwise.  152(e)(1). 

151(d)(3) Phase out – if you’ve got high income either get a reduced exemption or none at all. p. 1753 gives phase-out amounts.       AGI > 300K no exemptions at all. 

Filing Status -- § 1(a)-(d), 2, 3(a)

1(a) joint return (married as defined by §7703) or surviving spouse (for a 2-year period, §2a). 

§2(b) – head of household – maintains a household for a dependent. Must maintain for at least 1/2 the year an in-house dependent. (includes foster child).

Married filing separately have the least favorable tax status.

Marriage Penalty

Unearned Income of a Minor 

Under 1(g) the net unearned income of a child < 14 is taxed at parents’ rate. 

Net Capital Gain Rate Differential – 1(h)

If a noncorporate TP has a net capital gain, the TP’s LTCGs and losses are separated into 3 tax rate groups:

28% group

25% group

20% group

